Time	F/P/S	3	Event		Place	Points	Improv
Don Alexandre Ab	endano	(10) M					
3:40.37S DQ	F	# 101B	Male 10-10 200 IM	CWSL-LD			
50.76S	F	# 204B	Male 10-10 50 Fly	CWSL-LD	2		1.08
1:30.68\$	F	# 206B	Male 10-10 100 Free	CWSL-LD	1		0.95
3:24.21S	F	# 302B	Male 10-10 200 Free	CWSL-LD	2		
46.22S	F	# 304B	Male 10-10 50 Back	CWSL-LD	2		-0.58
1:40.54S	F	# 306B	Male 10-10 100 IM	CWSL-LD	1		-15.17
53.60S	F	# 403B	Male 10-10 50 Breast	CWSL-LD	4		-4.47
1:56.73\$	F	# 405B	Male 10-10 100 Fly	CWSL-LD	1		3.47
3:21.59\$	F	# 501B	Male 10-10 200 Back	CWSL-LD	1		
39.928	F	# 503B	Male 10-10 50 Free	CWSL-LD	2		-0.71
1:57.77\$	F	# 505B	Male 10-10 100 Breast	CWSL-LD	3		-13.27
1:36.39\$	F	# 603B	Male 10-10 100 Back	CWSL-LD	2		-4.49
Peter Aby (9) M							
49.28S	F	# 304A	Male 9 & Under 50 Back	CWSL-LD	4		
1:01.298	F	# 403A	Male 9 & Under 50 Breast	CWSL-LD	6		
41.90S	F	# 503A	Male 9 & Under 50 Free	CWSL-LD	6		
		11 50511	Maie y & olider 50 Free	GW6E ED	O .		
Josef Adams (16) 2:15.71S		# 101G	Male 15 & Over 200 IM	CMCLID	4		6.72
28.02S	r F	# 101G # 204G		CWSL-LD	4		-6.72 0.11
55.30S			Male 15 & Over 50 Fly	CWSL-LD	7		
	F	# 206G	Male 15 & Over 100 Free	CWSL-LD	4		2.03
2:01.29S 27.77S	F	# 302G	Male 15 & Over 200 Free	CWSL-LD	3		1.68
	F	# 304G	Male 15 & Over 50 Back	CWSL-LD	4		1.19
1:02.80\$	F	# 405G	Male 15 & Over 100 Fly	CWSL-LD	4		0.58
2:07.51\$	F	# 501G	Male 15 & Over 200 Back	CWSL-LD	3		1.39
25.27\$	F	# 503G	Male 15 & Over 50 Free	CWSL-LD	3		1.35
1:01.52S		# 603G	Male 15 & Over 100 Back	CWSL-LD	5		3.71
Hazel Agustin (11							
2:50.19S	F	# 102C	Female 11-11 200 IM	CWSL-LD	2		-12.62
36.87S	F	# 203C	Female 11-11 50 Fly	CWSL-LD	2		-4.00
1:12.97S	F	# 205C	Female 11-11 100 Free	CWSL-LD	3		-2.51
2:38.56\$		# 301C	Female 11-11 200 Free	CWSL-LD	2		-8.71
38.75S	F	# 303C	Female 11-11 50 Back	CWSL-LD	3		-0.75
1:22.59\$	F	# 305C	Female 11-11 100 IM	CWSL-LD	2		-7.63
5:37.40S	F	# 402C	Female 11-11 400 Free	CWSL-LD	1		
42.46S	F	# 404C	Female 11-11 50 Breast	CWSL-LD	2		-1.93
NS	F	# 406C	Female 11-11 100 Fly	CWSL-LD			
3:01.95\$	F	# 502C	Female 11-11 200 Back	CWSL-LD	5		1.39
33.26S	F	# 504C	Female 11-11 50 Free	CWSL-LD	6		-0.98
1:31.56S	F	# 506C	Female 11-11 100 Breast	CWSL-LD	2		-3.86
3:15.06S	F	# 602C	Female 11-11 200 Breast	CWSL-LD	1		-16.09
1:24.53S	F	# 604C	Female 11-11 100 Back	CWSL-LD	4		-1.80

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	3	Event		Place	Points	Improv
Milena Ahuja	a (10) F						
NS	F	# 303B	Female 10-10 50 Back	CWSL-LD			
NS	F	# 305B	Female 10-10 100 IM	CWSL-LD			
1:02.46S	DQ F	# 404B	Female 10-10 50 Breast	CWSL-LD			
45.54S	F	# 504B	Female 10-10 50 Free	CWSL-LD	19		
Shaheen Alg	hofari (23) M	1					
2:16.86\$		# 101G	Male 15 & Over 200 IM	CWSL-LD	6		
26.94\$	F	# 204G	Male 15 & Over 50 Fly	CWSL-LD	5		0.85
1:01.928	F	# 306G	Male 15 & Over 100 IM	CWSL-LD	4		2.58
1:02.00S	F	# 603G	Male 15 & Over 100 Back	CWSL-LD	7		
Omar Aljaba	ry (11) M						
3:25.73\$	F	# 101C	Male 11-11 200 IM	CWSL-LD	4		-2.29
3:55.18\$	F	# 103C	Male 11-11 200 Fly	CWSL-LD	2		14.73
7:05.138	F	# 202C	Male 11-11 400 IM	CWSL-LD	1		
42.57S	F	# 204C	Male 11-11 50 Fly	CWSL-LD	1		-5.10
1:19.06S	F	# 206C	Male 11-11 100 Free	CWSL-LD	1		-6.14
2:54.95\$	F	# 302C	Male 11-11 200 Free	CWSL-LD	2		-6.87
41.998	F	# 304C	Male 11-11 50 Back	CWSL-LD	1		-0.04
1:32.698	F	# 306C	Male 11-11 100 IM	CWSL-LD	2		-3.26
6:05.39\$	F	# 401C	Male 11-11 400 Free	CWSL-LD	1		-26.06
48.55\$	F	# 403C	Male 11-11 50 Breast	CWSL-LD	2		-4.88
1:45.38\$	F	# 405C	Male 11-11 100 Fly	CWSL-LD	2		3.34
3:10.07S	F	# 501C	Male 11-11 200 Back	CWSL-LD	2		-7.22
35.68S	F	# 503C	Male 11-11 50 Free	CWSL-LD	1		-0.96
1:52.71S	F	# 505C	Male 11-11 100 Breast	CWSL-LD	5		-5.21
3:50.77S	F	# 601C	Male 11-11 200 Breast	CWSL-LD	3		-18.65
1:31.10S	F	# 603C	Male 11-11 100 Back	CWSL-LD	2		2.42
Anastasia Ar	nderson (10)	F					
3:50.81S	F	# 102B	Female 10-10 200 IM	CWSL-LD	6		
49.05S	F	# 203B	Female 10-10 50 Fly	CWSL-LD	8		-11.67
1:34.51S	F	# 205B	Female 10-10 100 Free	CWSL-LD	7		-4.32
3:28.06S	F	# 301B	Female 10-10 200 Free	CWSL-LD	7		
46.40S	F	# 303B	Female 10-10 50 Back	CWSL-LD	7		
1:42.23\$	F	# 305B	Female 10-10 100 IM	CWSL-LD	4		-20.90
53.39\$	F	# 404B	Female 10-10 50 Breast	CWSL-LD	7		
2:06.13S	F	# 406B	Female 10-10 100 Fly	CWSL-LD	6		
3:44.46S	F	# 502B	Female 10-10 200 Back	CWSL-LD	6		
40.97S	F	# 504B	Female 10-10 50 Free	CWSL-LD	9		-4.13
1:58.67\$	F	# 506B	Female 10-10 100 Breast	CWSL-LD	8		
4:15.498	F	# 602B	Female 10-10 200 Breast	CWSL-LD	4		
1:44.66S	F	# 604B	Female 10-10 100 Back	CWSL-LD	7		2.05

Time	F/P	/S		Event		Place	Points	Improv
Michael Are	s (12) M							
34.25\$		F	# 304D	Male 12-12 50 Back	CWSL-LD	1		-0.89
1:19.49\$		F	# 306D	Male 12-12 100 IM	CWSL-LD	2		-1.05
2:43.00S		F	# 501D	Male 12-12 200 Back	CWSL-LD	2		-4.28
31.34\$		F	# 503D	Male 12-12 50 Free	CWSL-LD	2		-0.66
1:30.32S		F	# 505D	Male 12-12 100 Breast	CWSL-LD	2		-0.89
NS		F	# 601D	Male 12-12 200 Breast	CWSL-LD			
1:14.23\$		F	# 603D	Male 12-12 100 Back	CWSL-LD	1		-4.07
Myla Ares (10) F							
3:09.03S		F	# 102B	Female 10-10 200 IM	CWSL-LD	2		-19.06
39.26S		F	# 203B	Female 10-10 50 Fly	CWSL-LD	1		-2.84
1:19.31\$		F	# 205B	Female 10-10 100 Free	CWSL-LD	3		-4.93
2:57.32\$		F	# 301B	Female 10-10 200 Free	CWSL-LD	3		-9.64
39.62S		F	# 303B	Female 10-10 50 Back	CWSL-LD	1		-1.82
1:27.698		F	# 305B	Female 10-10 100 IM	CWSL-LD	1		-4.83
NS		F	# 402B	Female 10-10 400 Free	CWSL-LD			
44.72S		F	# 404B	Female 10-10 50 Breast	CWSL-LD	1		-2.89
1:37.80S		F	# 406B	Female 10-10 100 Fly	CWSL-LD	2		
3:00.90S		F	# 502B	Female 10-10 200 Back	CWSL-LD	1		-12.21
35.75S		F	# 504B	Female 10-10 50 Free	CWSL-LD	2		-0.19
1:39.50S		F	# 506B	Female 10-10 100 Breast	CWSL-LD	1		-9.26
1:26.22S		F	# 604B	Female 10-10 100 Back	CWSL-LD	1		-2.55
Nikola Ashu	rkov (9) M							
1:00.71S		F	# 204A	Male 9 & Under 50 Fly	CWSL-LD	6		
2:02.37\$		F	# 206A	Male 9 & Under 100 Free	CWSL-LD	9		
53.04\$		F	# 304A	Male 9 & Under 50 Back	CWSL-LD	7		
2:01.52S	DQ	F	# 306A	Male 9 & Under 100 IM	CWSL-LD			
1:06.298	DQ	F	# 403A	Male 9 & Under 50 Breast	CWSL-LD			
DQ		F	# 503A	Male 9 & Under 50 Free	CWSL-LD			
2:22.16S		F	# 505A	Male 9 & Under 100 Breast	CWSL-LD	5		
2:02.11S		F	# 603A	Male 9 & Under 100 Back	CWSL-LD	6		
Eliana Asme	erom (10) F	•						
4:15.72S		F	# 102B	Female 10-10 200 IM	CWSL-LD	8		
NS		F	# 104B	Female 10-10 200 Fly	CWSL-LD			
54.35S		F	# 203B	Female 10-10 50 Fly	CWSL-LD	14		
1:42.81S		F	# 205B	Female 10-10 100 Free	CWSL-LD	15		
3:50.97\$		F	# 301B	Female 10-10 200 Free	CWSL-LD	10		
54.75S		F	# 303B	Female 10-10 50 Back	CWSL-LD	20		
1:59.03S		F	# 305B	Female 10-10 100 IM	CWSL-LD	18		
58.44S		F	# 404B	Female 10-10 50 Breast	CWSL-LD			
2:10.37S	DQ	F	# 406B	Female 10-10 100 Fly	CWSL-LD			
4:10.24S		F	# 502B	Female 10-10 200 Back	CWSL-LD	7		
46.62S		F	# 504B	Female 10-10 50 Free	CWSL-LD	21		
2:12.36S			# 506B	Female 10-10 100 Breast	CWSL-LD	18		
4:36.72S			# 602B	Female 10-10 200 Breast	CWSL-LD	5		
1:54.63\$		F	# 604B	Female 10-10 100 Back	CWSL-LD	13		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S		Event		Place	Points	Improv
Elilta Asmerom	(12) F						
3:14.51S	F	# 102D	Female 12-12 200 IM	CWSL-LD	8		-6.17
3:45.38S	F	# 104D	Female 12-12 200 Fly	CWSL-LD	5		
6:51.39S	F	# 201D	Female 12-12 400 IM	CWSL-LD	6		
39.99S	F	# 203D	Female 12-12 50 Fly	CWSL-LD	7		-1.30
1:17.72S	F	# 205D	Female 12-12 100 Free	CWSL-LD	7		-2.93
2:46.15S	F	# 301D	Female 12-12 200 Free	CWSL-LD	6		-8.90
41.38S	F	# 303D	Female 12-12 50 Back	CWSL-LD	7		-3.09
1:29.60S	F	# 305D	Female 12-12 100 IM	CWSL-LD	6		-13.88
5:57.08S	F	# 402D	Female 12-12 400 Free	CWSL-LD	5		-23.97
45.22S	F	# 404D	Female 12-12 50 Breast	CWSL-LD	5		-3.26
1:39.62S	F	# 406D	Female 12-12 100 Fly	CWSL-LD	7		
34.55S	F	# 504D	Female 12-12 50 Free	CWSL-LD	6		-2.62
1:39.82S	F	# 506D	Female 12-12 100 Breast	CWSL-LD	4		-4.70
3:30.43S	F	# 602D	Female 12-12 200 Breast	CWSL-LD	2		-7.83
1:29.16S	F	# 604D	Female 12-12 100 Back	CWSL-LD	5		-4.91
George Aso (13) M						
2:44.41S	-	# 101E	Male 13-13 200 IM	CWSL-LD	3		-5.47
2:51.67\$	F	# 103E	Male 13-13 200 Fly	CWSL-LD	3		-8.78
5:48.94\$	F	# 202E	Male 13-13 400 IM	CWSL-LD	3		-11.26
33.91S	F	# 204E	Male 13-13 50 Fly	CWSL-LD	3		-2.80
1:07.64S	F	# 206E	Male 13-13 100 Free	CWSL-LD	5		-4.28
2:27.198	F	# 302E	Male 13-13 200 Free	CWSL-LD	6		-8.41
37.33S	F	# 304E	Male 13-13 50 Back	CWSL-LD	6		-1.08
1:17.06S	F	# 306E	Male 13-13 100 IM	CWSL-LD	4		-7.70
5:13.75S	F	# 401E	Male 13-13 400 Free	CWSL-LD	6		-12.46
40.16S	F	# 403E	Male 13-13 50 Breast	CWSL-LD	5		-2.25
1:15.23S	F	# 405E	Male 13-13 100 Fly	CWSL-LD	4		-4.37
2:50.91S	F	# 501E	Male 13-13 200 Back	CWSL-LD	5		-2.22
31.41S	F	# 503E	Male 13-13 50 Free	CWSL-LD	5		-2.06
1:29.47S	F	# 505E	Male 13-13 100 Breast	CWSL-LD	5		-2.14
3:12.54S	F	# 601E	Male 13-13 200 Breast	CWSL-LD	5		-4.02
1:20.03S	F	# 603E	Male 13-13 100 Back	CWSL-LD	4		-4.37
Sofia Astakhova	(10) F						
51.11S	F	# 303B	Female 10-10 50 Back	CWSL-LD	15		
55.14S	F	# 404B	Female 10-10 50 Breast	CWSL-LD	8		-9.50
44.81S	F	# 504B	Female 10-10 50 Free	CWSL-LD	18		-9.54
2:00.83S	F	# 506B	Female 10-10 100 Breast	CWSL-LD	10		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	Event		Place	Points	Improv
Daniel Augustin	ne (13) M					
2:36.65\$	F #101E	Male 13-13 200 IM	CWSL-LD	2		-19.12
2:48.62S	F # 103E	Male 13-13 200 Fly	CWSL-LD	2		-30.43
5:32.80S	F # 202F	Male 13-13 400 IM	CWSL-LD	2		-54.33
31.79S	F # 204E	Male 13-13 50 Fly	CWSL-LD	2		-2.20
1:03.06S	F # 206E	Male 13-13 100 Free	CWSL-LD	2		-5.03
2:19.04S	F #302E	Male 13-13 200 Free	CWSL-LD	3		-9.55
33.31S	F #304E	Male 13-13 50 Back	CWSL-LD	2		-1.68
1:13.27\$	F #306E	Male 13-13 100 IM	CWSL-LD	2		-11.03
4:49.83S	F # 401E	Male 13-13 400 Free	CWSL-LD	3		-25.82
38.16S	F # 403E	Male 13-13 50 Breast	CWSL-LD	2		-5.09
1:13.96S	F #405E	Male 13-13 100 Fly	CWSL-LD	3		-8.46
2:32.78S	F #501E	Male 13-13 200 Back	CWSL-LD	2		-18.96
29.00S	F #503E	Male 13-13 50 Free	CWSL-LD	2		-1.03
1:25.39S	F # 505E	Male 13-13 100 Breast	CWSL-LD	2		-9.31
3:00.67\$	F #601E	Male 13-13 200 Breast	CWSL-LD	2		-33.08
1:12.64S	F # 603E	Male 13-13 100 Back	CWSL-LD	1		-5.77
Joseph Augustin	ne (14) M					
2:35.65S	F #101F	Male 14-14 200 IM	CWSL-LD	2		-0.59
30.79S	F # 204F	Male 14-14 50 Fly	CWSL-LD	2		-0.23
59.00S	F # 206F	Male 14-14 100 Free	CWSL-LD	1		-1.70
2:07.40S	F #302F	Male 14-14 200 Free	CWSL-LD	1		-9.75
31.94S	F #304F	Male 14-14 50 Back	CWSL-LD	3		-1.38
1:09.50S	F #306F	Male 14-14 100 IM	CWSL-LD	2		-1.40
4:37.89\$	F #401F	Male 14-14 400 Free	CWSL-LD	1		-13.73
36.54S	F #403F	Male 14-14 50 Breast	CWSL-LD	4		-0.98
27.07S	F #503F	Male 14-14 50 Free	CWSL-LD	2		-0.86
1:09.44S	F # 603F	Male 14-14 100 Back	CWSL-LD	3		-2.46
Olufemi Badeji	(11) M					
54.23S	F # 2040	Male 11-11 50 Fly	CWSL-LD	9		
1:32.35S	F # 2060	Male 11-11 100 Free	CWSL-LD	8		
3:34.49S	F #3020	Male 11-11 200 Free	CWSL-LD	7		
53.18S	F #3040	Male 11-11 50 Back	CWSL-LD	9		
1:49.03S	F #3060	Male 11-11 100 IM	CWSL-LD	9		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	Event		Place	Points	Improv
Alexander Barc	henkov (13) M					
NS	F #10		CWSL-LD			
49.35S	F # 20	4E Male 13-13 50 Fly	CWSL-LD	7		-1.48
1:29.84S	F # 20	6E Male 13-13 100 Free	CWSL-LD	8		-2.19
NS	F #30	2E Male 13-13 200 Free	CWSL-LD			
NS	F #30	4E Male 13-13 50 Back	CWSL-LD			
NS	F #30	6E Male 13-13 100 IM	CWSL-LD			
NS	F # 40	3E Male 13-13 50 Breast	CWSL-LD			
NS	F # 40	5E Male 13-13 100 Fly	CWSL-LD			
3:33.76S	F #50	1E Male 13-13 200 Back	CWSL-LD	6		
35.61S	F #50	3E Male 13-13 50 Free	CWSL-LD	8		-1.63
1:44.22S	F #50	5E Male 13-13 100 Breast	CWSL-LD	7		1.01
3:48.73S	F # 60	1E Male 13-13 200 Breast	CWSL-LD	7		
1:42.08S	F #60	3E Male 13-13 100 Back	CWSL-LD	6		
Nicholas Barch	enkov (10) M					
1:04.49S	F # 20	4B Male 10-10 50 Fly	CWSL-LD	12		
1:56.12S	F # 20	6B Male 10-10 100 Free	CWSL-LD	10		
NS	F #30	4B Male 10-10 50 Back	CWSL-LD			
NS	F #30	6B Male 10-10 100 IM	CWSL-LD			
Frida Maria Bai	riletti (11) F					
43.47S	F # 20	3C Female 11-11 50 Fly	CWSL-LD	12		-15.97
1:19.18S	F # 20	5C Female 11-11 100 Free	CWSL-LD	10		-18.10
42.75S	F #30	3C Female 11-11 50 Back	CWSL-LD	9		-10.10
1:32.98S	F #30	5C Female 11-11 100 IM	CWSL-LD	10		
49.90S	F # 40	4C Female 11-11 50 Breast	CWSL-LD	10		
36.89S	F # 50	4C Female 11-11 50 Free	CWSL-LD	10		
NS	F #60	4C Female 11-11 100 Back	CWSL-LD			
Helen Basi (15) F					
2:55.298	F # 10	2G Female 15 & Over 200 IM	CWSL-LD	9		-3.32
NS	F # 50	2G Female 15 & Over 200 Back	CWSL-LD			
NS	F # 50	4G Female 15 & Over 50 Free	CWSL-LD			
NS	F # 50	6G Female 15 & Over 100 Breast	CWSL-LD			
3:08.77S	F # 60	2G Female 15 & Over 200 Breast	CWSL-LD	3		-6.03
1:24.72S	F # 60	4G Female 15 & Over 100 Back	CWSL-LD	5		-3.37

Time	F/P/	S	Event		Place	Points	Improv
Elisabetta Ba	asile (11) F						
NS	F	# 102C	Female 11-11 200 IM	CWSL-LD			
NS	F	# 203C	Female 11-11 50 Fly	CWSL-LD			
NS	F	# 205C	Female 11-11 100 Free	CWSL-LD			
3:19.76S	F	# 301C	Female 11-11 200 Free	CWSL-LD	13		-4.82
48.89S	F	# 303C	Female 11-11 50 Back	CWSL-LD	17		-1.85
1:41.45S	F	# 305C	Female 11-11 100 IM	CWSL-LD	13		-4.84
54.96S	F	# 404C	Female 11-11 50 Breast	CWSL-LD	15		-2.38
1:52.88S	F	# 406C	Female 11-11 100 Fly	CWSL-LD	8		-0.20
3:47.03S	F	# 502C	Female 11-11 200 Back	CWSL-LD	10		-7.39
37.12S	F	# 504C	Female 11-11 50 Free	CWSL-LD	11		-1.28
1:59.31S	F	# 506C	Female 11-11 100 Breast	CWSL-LD	13		-2.11
4:16.93S	F	# 602C	Female 11-11 200 Breast	CWSL-LD	12		
1:44.77S	F	# 604C	Female 11-11 100 Back	CWSL-LD	14		-3.66
Walter Benia	ans (9) M						
1:34.32S	F	# 206A	Male 9 & Under 100 Free	CWSL-LD	4		
53.17S	DQ F	# 304A	Male 9 & Under 50 Back	CWSL-LD			
NS	F	# 306A	Male 9 & Under 100 IM	CWSL-LD			
1:02.66S	DQ F	# 403A	Male 9 & Under 50 Breast	CWSL-LD			
40.62S	F	# 503A	Male 9 & Under 50 Free	CWSL-LD	2		
Martina Biar	nco (11) F						
NS	F	# 203C	Female 11-11 50 Fly	CWSL-LD			
NS	F	# 205C	Female 11-11 100 Free	CWSL-LD			
2:53.518	F	# 301C	Female 11-11 200 Free	CWSL-LD	10		-1.40
42.97S	F	# 303C	Female 11-11 50 Back	CWSL-LD	10		1.11
1:32.10S	F	# 305C	Female 11-11 100 IM	CWSL-LD	9		-3.75
NS	F	# 502C	Female 11-11 200 Back	CWSL-LD			
3:45.98\$	F	# 602C	Female 11-11 200 Breast	CWSL-LD	9		-0.60
1:30.05S	F	# 604C	Female 11-11 100 Back	CWSL-LD	9		-3.68
Stella Biffis	(9) F						
50.39S	F	# 203A	Female 9 & Under 50 Fly	CWSL-LD	1		
1:39.52S	F	# 205A	Female 9 & Under 100 Free	CWSL-LD	2		
48.65S	F	# 303A	Female 9 & Under 50 Back	CWSL-LD	1		
1:44.38\$	F	# 305A	Female 9 & Under 100 IM	CWSL-LD	1		
54.43S	F	# 404A	Female 9 & Under 50 Breast	CWSL-LD	1		
44.68S	F	# 504A	Female 9 & Under 50 Free	CWSL-LD	2		
1:58.96S	F	# 506A	Female 9 & Under 100 Breast	CWSL-LD	1		
Oliver Blatt	(10) M						
43.26\$	F	# 503B	Male 10-10 50 Free	CWSL-LD	7		
2:05.80S	F	# 505B	Male 10-10 100 Breast	CWSL-LD	8		
4:26.18\$	F	# 601B	Male 10-10 200 Breast	CWSL-LD	4		
1:48.28\$	F	# 603B	Male 10-10 100 Back	CWSL-LD	3		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	<u> </u>	Event		Place	Points	Improv
Philip Bond ((10) M						
3:41.89S	F	# 101B	Male 10-10 200 IM	CWSL-LD	1		
53.20S	F	# 204B	Male 10-10 50 Fly	CWSL-LD	6		
1:35.44\$	F	# 206B	Male 10-10 100 Free	CWSL-LD	3		-9.48
3:35.43\$	F	# 302B	Male 10-10 200 Free	CWSL-LD	4		-9.12
50.40S	F	# 304B	Male 10-10 50 Back	CWSL-LD	6		
1:47.75S	F	# 306B	Male 10-10 100 IM	CWSL-LD	3		-8.61
7:19.63S	F	# 401B	Male 10-10 400 Free	CWSL-LD	1		
54.42S	F	# 403B	Male 10-10 50 Breast	CWSL-LD	5		
4:05.09S	DQ F	# 501B	Male 10-10 200 Back	CWSL-LD			
42.83S	F	# 503B	Male 10-10 50 Free	CWSL-LD	4		
1:58.91S	F	# 505B	Male 10-10 100 Breast	CWSL-LD	4		0.75
4:14.74S	F	# 601B	Male 10-10 200 Breast	CWSL-LD	3		3.08
1:51.40S	F	# 603B	Male 10-10 100 Back	CWSL-LD	6		-7.02
Olivia Bunimo	ovich (13) F						
2:51.19S	F	# 102E	Female 13-13 200 IM	CWSL-LD	2		-6.41
34.08S	F	# 203E	Female 13-13 50 Fly	CWSL-LD	2		-1.16
1:06.23S	F	# 205E	Female 13-13 100 Free	CWSL-LD	2		-6.06
2:30.66S	F	# 301E	Female 13-13 200 Free	CWSL-LD	2		-2.90
36.85S	F	# 303E	Female 13-13 50 Back	CWSL-LD	2		-1.63
1:18.99S	F	# 305E	Female 13-13 100 IM	CWSL-LD	2		-1.44
39.61S	F	# 404E	Female 13-13 50 Breast	CWSL-LD	1		-4.20
1:19.34\$	F	# 406E	Female 13-13 100 Fly	CWSL-LD	2		-3.12
29.92S	F	# 504E	Female 13-13 50 Free	CWSL-LD	1		-0.39
1:29.67\$	F	# 506E	Female 13-13 100 Breast	CWSL-LD	1		-4.25
1:22.87\$	F	# 604E	Female 13-13 100 Back	CWSL-LD	2		0.65
Victoria Buni	movich (16)	F					
2:26.31S	F	# 102G	Female 15 & Over 200 IM	CWSL-LD	3		-1.33
5:08.21\$	F	# 201G	Female 15 & Over 400 IM	CWSL-LD	2		-4.53
1:02.91S	F	# 205G	Female 15 & Over 100 Free	CWSL-LD	7		1.39
34.32S	F	# 303G	Female 15 & Over 50 Back	CWSL-LD	5		4.35
1:10.50S	F	# 305G	Female 15 & Over 100 IM	CWSL-LD	3		0.58
36.86S	F	# 404G	Female 15 & Over 50 Breast	CWSL-LD	1		-2.70
1:06.33S	F	# 406G	Female 15 & Over 100 Fly	CWSL-LD	3		1.09
2:29.78\$	F	# 502G	Female 15 & Over 200 Back	CWSL-LD	3		-1.72
1:19.68\$	F	# 506G	Female 15 & Over 100 Breast	CWSL-LD	2		-0.62
2:50.918	F	# 602G	Female 15 & Over 200 Breast	CWSL-LD	2		-3.45

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	3	Event		Place	Points	Improv
Elodie Burgoyn	e (10) F						
3:09.91\$	F	# 102B	Female 10-10 200 IM	CWSL-LD	3		-8.52
3:53.70S	F	# 104B	Female 10-10 200 Fly	CWSL-LD	1		
6:55.59S	F	# 201B	Female 10-10 400 IM	CWSL-LD	1		
43.89\$	F	# 203B	Female 10-10 50 Fly	CWSL-LD	3		0.86
1:19.218	F	# 205B	Female 10-10 100 Free	CWSL-LD	2		-4.34
2:48.39\$	F	# 301B	Female 10-10 200 Free	CWSL-LD	1		-5.48
42.15S	F	# 303B	Female 10-10 50 Back	CWSL-LD	3		-0.50
1:31.41S	F	# 305B	Female 10-10 100 IM	CWSL-LD	2		-2.02
5:56.548	F	# 402B	Female 10-10 400 Free	CWSL-LD	1		-9.75
47.59S	F	# 404B	Female 10-10 50 Breast	CWSL-LD	2		-2.88
1:46.698	F	# 406B	Female 10-10 100 Fly	CWSL-LD	3		3.79
3:04.49S	F	# 502B	Female 10-10 200 Back	CWSL-LD	2		-8.67
36.32S	F	# 504B	Female 10-10 50 Free	CWSL-LD	3		0.21
1:45.75S	F	# 506B	Female 10-10 100 Breast	CWSL-LD	2		-1.55
3:36.28\$	F	# 602B	Female 10-10 200 Breast	CWSL-LD	1		-0.62
1:30.09S	F	# 604B	Female 10-10 100 Back	CWSL-LD	2		0.02
Olivia Burt (10) F						
56.108		# 404B	Female 10-10 50 Breast	CWSL-LD	9		
Melissa Cetin (12) F						
3:19.24\$	F	# 102D	Female 12-12 200 IM	CWSL-LD	9		-10.13
43.71S	F	# 203D	Female 12-12 50 Fly	CWSL-LD	9		-2.84
1:22.72S	F	# 205D	Female 12-12 100 Free	CWSL-LD	9		-1.43
3:01.87S	F	# 301D	Female 12-12 200 Free	CWSL-LD	8		-6.67
NS	F	# 305D	Female 12-12 100 IM	CWSL-LD			
6:36.55S	F	# 402D	Female 12-12 400 Free	CWSL-LD	6		
49.25S	F	# 404D	Female 12-12 50 Breast	CWSL-LD	7		0.90
35.97S	F	# 504D	Female 12-12 50 Free	CWSL-LD	8		-1.90
1:45.00S	F	# 506D	Female 12-12 100 Breast	CWSL-LD	6		-3.81
3:45.20S	F	# 602D	Female 12-12 200 Breast	CWSL-LD	3		
1:40.01S	F	# 604D	Female 12-12 100 Back	CWSL-LD	7		-0.59
Luca Chakardjia	an (9) M						
1:43.67S	F	# 206A	Male 9 & Under 100 Free	CWSL-LD	6		
49.67S	F	# 304A	Male 9 & Under 50 Back	CWSL-LD	5		
1:00.83S	F	# 403A	Male 9 & Under 50 Breast	CWSL-LD	5		
47.23S	F	# 503A	Male 9 & Under 50 Free	CWSL-LD	8		
1:55.78S	F	# 603A	Male 9 & Under 100 Back	CWSL-LD	4		
Tristan Chan (1	14) M						
37.13S	F	# 204F	Male 14-14 50 Fly	CWSL-LD	5		-1.45
1:13.37S	F	# 206F	Male 14-14 100 Free	CWSL-LD	5		-4.63
37.26S	F	# 304F	Male 14-14 50 Back	CWSL-LD	4		-2.56
NS	F	# 306F	Male 14-14 100 IM	CWSL-LD			

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	Event		Place	Points	Improv
Isla Charlton-Me	eyrick (10) F	7				
3:45.14S	F #3	301B Female 10-10 200 Free	CWSL-LD	8		-22.37
52.82S	F #3	303B Female 10-10 50 Back	CWSL-LD	17		
1:51.64S	F #3	305B Female 10-10 100 IM	CWSL-LD	14		
Chun Lok Cheng	(12) M					
45.85S		204D Male 12-12 50 Fly	CWSL-LD	6		
1:38.06\$	F #2	206D Male 12-12 100 Free	CWSL-LD	6		
54.78S DQ	F #3	304D Male 12-12 50 Back	CWSL-LD			
1:49.86\$	F #3	306D Male 12-12 100 IM	CWSL-LD	6		
53.45S DQ	F #4	403D Male 12-12 50 Breast	CWSL-LD			
41.198	F #5	503D Male 12-12 50 Free	CWSL-LD	7		
1:57.03S	F # 5	505D Male 12-12 100 Breast	CWSL-LD	7		
NS	F #6	603D Male 12-12 100 Back	CWSL-LD			
Tsz Kin Cheung	(14) M					
34.63S		204F Male 14-14 50 Fly	CWSL-LD	4		
1:09.96S	F #2	206F Male 14-14 100 Free	CWSL-LD	4		
38.63S	F #3	304F Male 14-14 50 Back	CWSL-LD	5		
1:20.76S	F #3	306F Male 14-14 100 IM	CWSL-LD	4		
41.63S	F #4	403F Male 14-14 50 Breast	CWSL-LD	5		
1:26.25S	F #4	405F Male 14-14 100 Fly	CWSL-LD	2		
31.68S	F # 5	503F Male 14-14 50 Free	CWSL-LD	5		
1:32.69S	F # 5	505F Male 14-14 100 Breast	CWSL-LD	2		
Elisa Chiarparin	(11) F					
42.86S		203C Female 11-11 50 Fly	CWSL-LD	11		-4.87
1:33.41S	F #2	205C Female 11-11 100 Free	CWSL-LD	15		0.07
3:38.36S	F #3	301C Female 11-11 200 Free	CWSL-LD	17		
48.88S	F #3	303C Female 11-11 50 Back	CWSL-LD	16		
1:45.40S DQ		305C Female 11-11 100 IM	CWSL-LD			
53.11S		404C Female 11-11 50 Breast	CWSL-LD	11		-5.63
40.58S	F # 5	504C Female 11-11 50 Free	CWSL-LD	15		-3.07
Marta Assiel Chi	isari (11) F					
NS	F #1	102C Female 11-11 200 IM	CWSL-LD			
NS		104C Female 11-11 200 Fly	CWSL-LD			
NS		203C Female 11-11 50 Fly	CWSL-LD			
NS		205C Female 11-11 100 Free	CWSL-LD			
NS		301C Female 11-11 200 Free	CWSL-LD			
NS		303C Female 11-11 50 Back	CWSL-LD			
NS		305C Female 11-11 100 IM	CWSL-LD			
NS		404C Female 11-11 50 Breast	CWSL-LD			
NS		406C Female 11-11 100 Fly	CWSL-LD			
NS		502C Female 11-11 200 Back	CWSL-LD			
NS		504C Female 11-11 50 Free	CWSL-LD			
NS		506C Female 11-11 100 Breast	CWSL-LD			
NS	F #6		CWSL-LD			
110	1 #1	Jobb Temale II II 200 Diedst	CM 2T-TD			

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	5	Event		Place	Points	Improv
Edoardo Cirulli	(13) M						
38.22S	F	# 304E	Male 13-13 50 Back	CWSL-LD	7		-0.99
1:23.60S	F	# 306E	Male 13-13 100 IM	CWSL-LD	5		-6.04
Rose Cobby (8)	F						
1:01.12S DQ		# 203A	Female 9 & Under 50 Fly	CWSL-LD			
1:55.28S	F	# 205A	Female 9 & Under 100 Free	CWSL-LD	10		
3:57.32S	F	# 301A	Female 9 & Under 200 Free	CWSL-LD	4		
57.09S	F	# 303A	Female 9 & Under 50 Back	CWSL-LD	10		
2:07.59S DQ) F	# 305A	Female 9 & Under 100 IM	CWSL-LD			
1:06.458	F	# 404A	Female 9 & Under 50 Breast	CWSL-LD	7		
47.99S	F	# 504A	Female 9 & Under 50 Free	CWSL-LD	5		
Ruby Cobby (11	1) F						
3:07.248	-	# 102C	Female 11-11 200 IM	CWSL-LD	5		-22.52
3:28.02S	F	# 104C	Female 11-11 200 Fly	CWSL-LD	3		-22.75
6:40.48S	F	# 201C	Female 11-11 400 IM	CWSL-LD	4		
37.08S	F	# 203C	Female 11-11 50 Fly	CWSL-LD	5		-8.66
1:12.73S	F	# 205C	Female 11-11 100 Free	CWSL-LD	2		-9.16
2:42.41S	F	# 301C	Female 11-11 200 Free	CWSL-LD	3		-14.22
40.30S	F	# 303C	Female 11-11 50 Back	CWSL-LD	6		-2.79
5:42.51S	F	# 402C	Female 11-11 400 Free	CWSL-LD	5		-26.85
44.36S	F	# 404C	Female 11-11 50 Breast	CWSL-LD	3		-5.92
1:36.25S	F	# 406C	Female 11-11 100 Fly	CWSL-LD	5		-6.15
3:01.23S	F	# 502C	Female 11-11 200 Back	CWSL-LD	3		-13.56
33.12S	F	# 504C	Female 11-11 50 Free	CWSL-LD	5		-3.07
1:37.96S	F	# 506C	Female 11-11 100 Breast	CWSL-LD	4		-7.31
3:31.23\$	F	# 602C	Female 11-11 200 Breast	CWSL-LD	4		-10.48
1:26.90\$	F	# 604C	Female 11-11 100 Back	CWSL-LD	7		-3.76
	n (12) E						
Maia Colquhour 2:46.05S		# 102D	Female 12-12 200 IM	CWSL-LD	1		-16.84
3:11.72S	F	# 102D	Female 12-12 200 Fly	CWSL-LD	3		-10.04
6:00.15S	F	# 201D	Female 12-12 400 IM	CWSL-LD	2		-38.71
33.728	F	# 201D	Female 12-12 50 Fly	CWSL-LD	2		-2.08
1:08.63\$	F	# 205D	Female 12-12 100 Free	CWSL-LD	2		-3.70
2:28.46S	F	# 301D	Female 12-12 200 Free	CWSL-LD	1		-6.44
35.60S	F	# 301D	Female 12-12 50 Back	CWSL-LD	2		-1.54
1:18.528	F	# 305D	Female 12-12 100 IM	CWSL-LD	1		-6.52
5:23.26S	F	# 402D	Female 12-12 400 Free	CWSL-LD	1		-20.37
44.27S	F	# 404D	Female 12-12 50 Breast	CWSL-LD	4		-1.01
1:23.04\$	F	# 406D	Female 12-12 100 Fly	CWSL-LD	3		-2.03
2:39.98\$	F	# 502D	Female 12-12 200 Back	CWSL-LD	1		-12.07
30.74\$	F	# 504D	Female 12-12 50 Free	CWSL-LD	2		-1.52
30.743 NS	F	# 504D	Female 12-12 100 Breast	CWSL-LD			-1.32
1:14.73\$		# 604D	Female 12-12 100 Breast	CWSL-LD	1		-6.56
1.17./33	Г	# 0040	Temate 12-12 100 Datk	CAN OF-FIN	1		-0.30

Time	F/P/	S	Event		Place	Points	Improv
Zoe Colquho	oun (10) F						
45.918	F	# 203B	Female 10-10 50 Fly	CWSL-LD	4		-12.16
47.24S	F	# 303B	Female 10-10 50 Back	CWSL-LD	9		-6.96
1:45.86S	F	# 305B	Female 10-10 100 IM	CWSL-LD	8		-15.08
51.45S	F	# 404B	Female 10-10 50 Breast	CWSL-LD	4		-4.66
40.64S	F	# 504B	Female 10-10 50 Free	CWSL-LD	8		-8.57
1:56.89\$	F	# 506B	Female 10-10 100 Breast	CWSL-LD	7		-7.98
Analise Com	er (13) F						
2:50.20\$	F	# 102E	Female 13-13 200 IM	CWSL-LD	1		-2.60
6:07.13S	F	# 201E	Female 13-13 400 IM	CWSL-LD	1		-51.78
34.19\$	F	# 203E	Female 13-13 50 Fly	CWSL-LD	3		-1.27
1:07.45\$	F	# 205E	Female 13-13 100 Free	CWSL-LD	3		-0.65
2:41.13\$	F	# 301E	Female 13-13 200 Free	CWSL-LD	3		7.19
37.18S	F	# 303E	Female 13-13 50 Back	CWSL-LD	3		-4.12
NS	F	# 305E	Female 13-13 100 IM	CWSL-LD			
5:23.93\$	F	# 402E	Female 13-13 400 Free	CWSL-LD	1		-2.45
40.88S	F	# 404E	Female 13-13 50 Breast	CWSL-LD	2		-0.27
2:57.90S	F	# 502E	Female 13-13 200 Back	CWSL-LD	2		-17.60
31.34\$	F	# 504E	Female 13-13 50 Free	CWSL-LD	3		0.36
1:30.628	F	# 506E	Female 13-13 100 Breast	CWSL-LD	2		-1.43
1:21.77S	F	# 604E	Female 13-13 100 Back	CWSL-LD	1		-11.44
Jeremiah Co	pliting (16)	M					
28.81S	F	# 204G	Male 15 & Over 50 Fly	CWSL-LD	9		-1.44
1:00.89\$	F	# 206G	Male 15 & Over 100 Free	CWSL-LD	13		-2.58
32.698	F	# 304G	Male 15 & Over 50 Back	CWSL-LD	15		-2.28
37.38\$	F	# 403G	Male 15 & Over 50 Breast	CWSL-LD	8		-1.61
1:09.25\$	F	# 405G	Male 15 & Over 100 Fly	CWSL-LD	8		1.15
27.32S	F	# 503G	Male 15 & Over 50 Free	CWSL-LD	13		-0.13
Sophie Cote	(11) F						
NS	F	# 203C	Female 11-11 50 Fly	CWSL-LD			
NS	F	# 205C	Female 11-11 100 Free	CWSL-LD			
NS	F	# 303C	Female 11-11 50 Back	CWSL-LD			
NS	F	# 305C	Female 11-11 100 IM	CWSL-LD			
NS	F		Female 11-11 50 Breast	CWSL-LD			
NS	F	# 504C	Female 11-11 50 Free	CWSL-LD			
NS	F	# 604C	Female 11-11 100 Back	CWSL-LD			
Auriel Coyne	e (9) F						
57.28S		# 303A	Female 9 & Under 50 Back	CWSL-LD			
2:19.49\$		# 305A	Female 9 & Under 100 IM	CWSL-LD			
1:13.89\$		# 404A	Female 9 & Under 50 Breast	CWSL-LD			
52.02S	F	# 504A	Female 9 & Under 50 Free	CWSL-LD	11		
2:06.53\$		# 604A	Female 9 & Under 100 Back	CWSL-LD			
	-						

Time	F/P/S		Event		Place	Points	Improv
Faraj Dadashev (9) M						
50.798	F	# 204A	Male 9 & Under 50 Fly	CWSL-LD	3		
1:33.01S	F	# 206A	Male 9 & Under 100 Free	CWSL-LD	3		
47.55S	F	# 304A	Male 9 & Under 50 Back	CWSL-LD	2		
1:50.79S DQ	F	# 306A	Male 9 & Under 100 IM	CWSL-LD			
NS	F	# 403A	Male 9 & Under 50 Breast	CWSL-LD			
NS	F	# 405A	Male 9 & Under 100 Fly	CWSL-LD			
NS	F	# 503A	Male 9 & Under 50 Free	CWSL-LD			
NS	F	# 505A	Male 9 & Under 100 Breast	CWSL-LD			
1:43.22S	F	# 603A	Male 9 & Under 100 Back	CWSL-LD	2		
Dmytro Danylenk	ko (15) N	1					
2:25.78\$	F	# 101G	Male 15 & Over 200 IM	CWSL-LD	10		-7.13
29.58\$	F	# 204G	Male 15 & Over 50 Fly	CWSL-LD	13		-1.32
58.68S	F	# 206G	Male 15 & Over 100 Free	CWSL-LD	11		-0.63
2:07.45\$	F	# 302G	Male 15 & Over 200 Free	CWSL-LD	7		-9.11
31.57S	F	# 304G	Male 15 & Over 50 Back	CWSL-LD	13		-1.31
1:06.638	F	# 306G	Male 15 & Over 100 IM	CWSL-LD	8		-5.85
32.92S	F	# 403G	Male 15 & Over 50 Breast	CWSL-LD	5		-2.63
1:05.78S	F	# 405G	Male 15 & Over 100 Fly	CWSL-LD	6		-4.94
Sofia Di Ciero (10) F						
56.21S	F	# 404B	Female 10-10 50 Breast	CWSL-LD	10		
49.60S	F	# 504B	Female 10-10 50 Free	CWSL-LD	25		
2:05.09S	F	# 506B	Female 10-10 100 Breast	CWSL-LD	13		
Pauline Didenko	(10) F						
1:23.90S	F	# 205B	Female 10-10 100 Free	CWSL-LD	4		
3:00.27\$	F	# 301B	Female 10-10 200 Free	CWSL-LD	4		
43.79S	F	# 303B	Female 10-10 50 Back	CWSL-LD	4		
1:33.57\$	F	# 305B	Female 10-10 100 IM	CWSL-LD	3		
37.98S	F	# 504B	Female 10-10 50 Free	CWSL-LD	4		-11.73
1:48.51S	F	# 506B	Female 10-10 100 Breast	CWSL-LD	4		-29.63
3:40.62S	F	# 602B	Female 10-10 200 Breast	CWSL-LD	2		
1:37.97\$	F	# 604B	Female 10-10 100 Back	CWSL-LD	4		-27.89
Diana Dohova (8) F						
57.74S	F	# 203A	Female 9 & Under 50 Fly	CWSL-LD	6		
1:53.71S	F	# 205A	Female 9 & Under 100 Free	CWSL-LD	9		
54.54S	F	# 303A	Female 9 & Under 50 Back	CWSL-LD	8		
2:04.38S DQ	F	# 305A	Female 9 & Under 100 IM	CWSL-LD			
1:06.42S	F	# 404A	Female 9 & Under 50 Breast	CWSL-LD	6		
51.83S	F	# 504A	Female 9 & Under 50 Free	CWSL-LD	10		
2:26.17S	F	# 506A	Female 9 & Under 100 Breast	CWSL-LD	6		
1:57.29S	F	# 604A	Female 9 & Under 100 Back	CWSL-LD	5		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S		Event		Place	Points	Improv
Erika Dolgopolo	ova (10) F						
3:17.97\$	F	# 102B	Female 10-10 200 IM	CWSL-LD	4		
39.96S	F	# 203B	Female 10-10 50 Fly	CWSL-LD	2		-3.86
1:18.60\$	F	# 205B	Female 10-10 100 Free	CWSL-LD	1		-10.34
2:55.07\$	F	# 301B	Female 10-10 200 Free	CWSL-LD	2		-9.75
41.82S	F	# 303B	Female 10-10 50 Back	CWSL-LD	2		-1.21
1:29.84S DQ) F	# 305B	Female 10-10 100 IM	CWSL-LD			
49.21S	F	# 404B	Female 10-10 50 Breast	CWSL-LD	3		-1.56
1:37.73\$	F	# 406B	Female 10-10 100 Fly	CWSL-LD	1		-2.69
35.10S	F	# 504B	Female 10-10 50 Free	CWSL-LD	1		-3.59
1:48.115	F	# 506B	Female 10-10 100 Breast	CWSL-LD	3		-1.44
3:48.42S	F	# 602B	Female 10-10 200 Breast	CWSL-LD	3		
1:31.28S	F	# 604B	Female 10-10 100 Back	CWSL-LD	3		-9.89
Oskar Dolgopol	ov (12) M						
55.00S		# 304D	Male 12-12 50 Back	CWSL-LD	7		
51.80S DQ) F	# 403D	Male 12-12 50 Breast	CWSL-LD			
44.78\$	•	# 503D	Male 12-12 50 Free	CWSL-LD	8		
Charlie Domi (1	12) M						
1:24.48\$	-	# 206E	Male 13-13 100 Free	CWSL-LD	7		
34.78\$		# 503E	Male 13-13 50 Free	CWSL-LD	6		
		# 303E	Male 13-13 30 Free	CW3L-LD	O		
Dimitar Dragan					_		
2:23.46\$		# 101G	Male 15 & Over 200 IM	CWSL-LD	9		-0.70
29.11S		# 204G	Male 15 & Over 50 Fly	CWSL-LD	12		-0.56
57.01S		# 206G	Male 15 & Over 100 Free	CWSL-LD	8		-0.48
2:03.52S	F	# 302G	Male 15 & Over 200 Free	CWSL-LD	5		-1.56
31.13S	F	# 304G	Male 15 & Over 50 Back	CWSL-LD	12		0.92
4:30.57S	F	# 401G	Male 15 & Over 400 Free	CWSL-LD	2		1.25
35.38S	F	# 403G	Male 15 & Over 50 Breast	CWSL-LD	6		0.69
2:22.94\$	F	# 501G	Male 15 & Over 200 Back	CWSL-LD	6		2.22
26.40S	F	# 503G	Male 15 & Over 50 Free	CWSL-LD	9		0.20
1:07.618	F	# 603G	Male 15 & Over 100 Back	CWSL-LD	11		1.57
Alexander Dran	nitinos (11)) M					
58.19S DQ) F	# 204C	Male 11-11 50 Fly	CWSL-LD			
2:02.32S	F	# 206C	Male 11-11 100 Free	CWSL-LD	12		-16.41
2:02.16S DQ) F	# 306C	Male 11-11 100 IM	CWSL-LD			
59.05S	F	# 403C	Male 11-11 50 Breast	CWSL-LD	7		-2.08
53.16S	F	# 503C	Male 11-11 50 Free	CWSL-LD	11		
2:07.78S	F	# 505C	Male 11-11 100 Breast	CWSL-LD	7		
4:37.32S		# 601C	Male 11-11 200 Breast	CWSL-LD	5		
Eva Dramitinos	(14) F						
NS		# 203F	Female 14-14 50 Fly	CWSL-LD			
1:05.60S		# 205F	Female 14-14 100 Free	CWSL-LD	1		-0.71
2:31.45S		# 301F	Female 14-14 200 Free	CWSL-LD	1		3.80
1:24.15S		# 305F	Female 14-14 100 IM	CWSL-LD	1		7.82
				-			

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S		Event		Place	Points	Improv
Nel Dybczak (1	(O) F						
DQ	F	# 102B	Female 10-10 200 IM	CWSL-LD			
52.27S	F	# 203B	Female 10-10 50 Fly	CWSL-LD	13		-7.71
1:42.15S	F	# 205B	Female 10-10 100 Free	CWSL-LD	13		-2.42
48.01S	F	# 303B	Female 10-10 50 Back	CWSL-LD	11		
1:49.41\$	F	# 305B	Female 10-10 100 IM	CWSL-LD	11		
42.51S	F	# 504B	Female 10-10 50 Free	CWSL-LD	12		-4.45
2:08.00S	F	# 506B	Female 10-10 100 Breast	CWSL-LD	14		
1:40.10S	F	# 604B	Female 10-10 100 Back	CWSL-LD	5		
Yahya El Gohar	y (9) M						
3:49.47S	F	# 101A	Male 9 & Under 200 IM	CWSL-LD	3		
53.25S	F	# 204A	Male 9 & Under 50 Fly	CWSL-LD	5		
1:37.98\$	F	# 206A	Male 9 & Under 100 Free	CWSL-LD	5		-9.52
3:35.08S	F	# 302A	Male 9 & Under 200 Free	CWSL-LD	2		
50.97\$	F	# 304A	Male 9 & Under 50 Back	CWSL-LD	6		-4.70
1:47.12S	F	# 306A	Male 9 & Under 100 IM	CWSL-LD	3		
51.28S	F	# 403A	Male 9 & Under 50 Breast	CWSL-LD	3		-6.13
2:06.30\$	F	# 405A	Male 9 & Under 100 Fly	CWSL-LD	3		
41.00S	F	# 503A	Male 9 & Under 50 Free	CWSL-LD	4		-7.40
1:52.698	F	# 505A	Male 9 & Under 100 Breast	CWSL-LD	2		-13.24
4:09.57S	F	# 601A	Male 9 & Under 200 Breast	CWSL-LD	3		
Aslan Eler (14)) M						
2:27.218	F	# 101F	Male 14-14 200 IM	CWSL	11		-7.88
28.72S	F	# 204F	Male 14-14 50 Fly	CWSL	8		-1.01
56.848	F	# 206F	Male 14-14 100 Free	CWSL	7		-1.35
NS	F	# 302F	Male 14-14 200 Free	CWSL			
31.10S	F	# 304F	Male 14-14 50 Back	CWSL	11		-0.43
1:05.928	F	# 405F	Male 14-14 100 Fly	CWSL	7		-2.40
26.03S	F	# 503F	Male 14-14 50 Free	CWSL	7		-0.34
1:07.06S	F	# 603F	Male 14-14 100 Back	CWSL	9		-1.20

Region Eler (12) Region Region	Time	F/P/S	Event		Place	Points	Improv
NS	Kaplan Eler (12	2) M					
NS	2:48.02S	F # 101D	Male 12-12 200 IM	CWSL-LD	1		-9.31
32.14S	NS	F # 103D	Male 12-12 200 Fly	CWSL-LD			
1:06.72S	NS	F # 2021	Male 12-12 400 IM	CWSL-LD			
2.24.64\$	32.14S	F # 2040	Male 12-12 50 Fly	CWSL-LD	1		-1.52
35.28S	1:06.72S	F # 206D	Male 12-12 100 Free	CWSL-LD	1		-5.77
1:15.68S	2:24.64\$	F #302D	Male 12-12 200 Free	CWSL-LD	1		-16.10
S:05.61S	35.28S	F #304D	Male 12-12 50 Back	CWSL-LD	2		-3.72
40.06S	1:15.68S	F # 306D	Male 12-12 100 IM	CWSL-LD	1		-3.55
NS	5:05.61S	F #401E	Male 12-12 400 Free	CWSL-LD	1		-30.24
2:39.71S	40.06S	F # 403E	Male 12-12 50 Breast	CWSL-LD	1		-4.16
30.48S	NS	F # 405E	Male 12-12 100 Fly	CWSL-LD			
1:30.16S	2:39.71S	F # 501D	Male 12-12 200 Back	CWSL-LD	1		-14.11
NS	30.48S	F # 503D	Male 12-12 50 Free	CWSL-LD	1		-0.88
1:19.24\$ F #603D Male 12:12 100 Back CWSL-LD 2	1:30.16S	F # 505D	Male 12-12 100 Breast	CWSL-LD	1		1.17
Pate Pate	NS	F # 601D	Male 12-12 200 Breast	CWSL-LD			
48.28S	1:19.24S	F # 603D	Male 12-12 100 Back	CWSL-LD	2		-2.59
1:32.50S F # 205C Female 11-11 100 Free CWSL-LD 14 46.06S F # 303C Female 11-11 50 Back CWSL-LD 12 1:45.96S F # 305C Female 11-11 100 IM CWSL-LD 17 -11.79 NS F # 506C Female 11-11 100 Breast CWSL-LD NS F # 506C Female 11-11 100 Back CWSL-LD NS F # 506C Female 11-11 100 Back CWSL-LD Marco Fan-Fitzner (15) W W CWSL-LD NS F # 204G Male 15 & Over 50 Fly CWSL-LD NS F # 302G Male 15 & Over 200 Free CWSL-LD NS F # 304G Male 15 & Over 50 Back CWSL-LD NS F <	Estelle Elezi (11	1) F					
46.06S	48.28S	F # 2030	Female 11-11 50 Fly	CWSL-LD	15		
1:45.96S F # 305C Female 1:11 100 IM CWSL-LD 17 -11.79 NS F # 504C Female 1:11 100 Breast CWSL-LD NS F # 506C Female 1:11 100 Breast CWSL-LD NS F # 604C Female 1:-11 100 Back CWSL-LD Marco Fan-Fitzner (15) W W CWSL-LD NS F # 206G Male 15 & Over 50 Fly CWSL-LD NS F # 302G Male 15 & Over 200 Free CWSL-LD NS F # 304G Male 15 & Over 200 Free CWSL-LD NS F # 304G Male 15 & Over 100 IM CWSL-LD A3.85S F # 203G Female 15 & Over 100 Free CWSL-LD 7 -	1:32.50\$	F # 2050	Female 11-11 100 Free	CWSL-LD	14		
NS	46.06S	F #3030	Female 11-11 50 Back	CWSL-LD	12		
NS	1:45.968	F #3050	Female 11-11 100 IM	CWSL-LD	17		-11.79
NS	NS	F # 5040	Female 11-11 50 Free	CWSL-LD			
Marco Fan-Fitzner (15) W NS F # 204G Male 15 & Over 50 Fly CWSL-LD NS F # 206G Male 15 & Over 100 Free CWSL-LD NS F # 302G Male 15 & Over 200 Free CWSL-LD NS F # 304G Male 15 & Over 50 Back CWSL-LD NS F # 304G Male 15 & Over 100 IM CWSL-LD CHloe Fares (15) F 43.85S F # 203G Female 15 & Over 50 Fly CWSL-LD 7 1:20.44S F # 205G Female 15 & Over 50 Free CWSL-LD 5 -3.43 1:52.52S F # 504G Female 15 & Over 100 Breast CWSL-LD 3 -3.43 1:52.52S F # 504G <t< td=""><td>NS</td><td>F # 5060</td><td>Female 11-11 100 Breast</td><td>CWSL-LD</td><td></td><td></td><td></td></t<>	NS	F # 5060	Female 11-11 100 Breast	CWSL-LD			
NS F # 204G Male 15 & Over 50 Fly CWSL-LD	NS	F # 6040	Female 11-11 100 Back	CWSL-LD			
NS F #206G Male 15 & Over 100 Free CWSL-LD NS F #302G Male 15 & Over 200 Free CWSL-LD	Marco Fan-Fitzn	ner (15) M					
NS F #302G Male 15 & Over 200 Free CWSL-LD NS F #304G Male 15 & Over 50 Back CWSL-LD	NS	F # 2040	Male 15 & Over 50 Fly	CWSL-LD			
NS F #304G Male 15 & Over 50 Back CWSL-LD	NS	F # 2060	Male 15 & Over 100 Free	CWSL-LD			
NS F #306G Male 15 & Over 100 IM CWSL-LD Chloe Fares (15) F 43.85S F #203G Female 15 & Over 50 Fly CWSL-LD 7 1:20.44S F #205G Female 15 & Over 100 Free CWSL-LD 8 35.57S F #504G Female 15 & Over 50 Free CWSL-LD 5 1:52.52S F #506G Female 15 & Over 100 Breast CWSL-LD 3 Ivy Fehling (9) F 52.45S F #303A Female 9 & Under 50 Back CWSL-LD 5 57.58S DQ F #404A Female 9 & Under 50 Breast CWSL-LD	NS	F #3020	Male 15 & Over 200 Free	CWSL-LD			
Chloe Fares (15) F 43.85S F # 203G Female 15 & Over 50 Fly CWSL-LD 7 1:20.44S F # 205G Female 15 & Over 100 Free CWSL-LD 8 35.57S F # 504G Female 15 & Over 50 Free CWSL-LD 5 -3.43 1:52.52S F # 506G Female 15 & Over 100 Breast CWSL-LD 3 Ivy Fehling (9) F 52.45S F # 303A Female 9 & Under 50 Back CWSL-LD 5 57.58S DQ F # 404A Female 9 & Under 50 Breast CWSL-LD	NS	F #3040	Male 15 & Over 50 Back	CWSL-LD			
43.85S F # 203G Female 15 & Over 50 Fly CWSL-LD 7 1:20.44S F # 205G Female 15 & Over 100 Free CWSL-LD 8 35.57S F # 504G Female 15 & Over 50 Free CWSL-LD 5 -3.43 1:52.52S F # 506G Female 15 & Over 100 Breast CWSL-LD 3 Ivy Fehling (9) F 52.45S F # 303A Female 9 & Under 50 Back CWSL-LD 5 57.58S DQ F # 404A Female 9 & Under 50 Breast CWSL-LD	NS	F #3060	Male 15 & Over 100 IM	CWSL-LD			
1:20.44S F # 205G Female 15 & Over 100 Free CWSL-LD 8 3.43 35.57S F # 504G Female 15 & Over 50 Free CWSL-LD 5 -3.43 1:52.52S F # 506G Female 15 & Over 100 Breast CWSL-LD 3 Ivy Fehling (9) F 52.45S F # 303A Female 9 & Under 50 Back CWSL-LD 5 57.58S DQ F # 404A Female 9 & Under 50 Breast CWSL-LD	Chloe Fares (15	5) F					
35.57S F # 504G Female 15 & Over 50 Free CWSL-LD 53.43 1:52.52S F # 506G Female 15 & Over 100 Breast CWSL-LD 3 Ivy Fehling (9) F 52.45S F # 303A Female 9 & Under 50 Back CWSL-LD 5	43.85\$	F # 2030	Female 15 & Over 50 Fly	CWSL-LD	7		
1:52.52S F # 506G Female 15 & Over 100 Breast CWSL-LD 3 Ivy Fehling (9) F 52.45S F # 303A Female 9 & Under 50 Back CWSL-LD 5 57.58S DQ F # 404A Female 9 & Under 50 Breast CWSL-LD	1:20.44S	F # 2050	Female 15 & Over 100 Free	CWSL-LD	8		
Ivy Fehling (9) F 52.45S F # 303A Female 9 & Under 50 Back CWSL-LD 5 57.58S DQ F # 404A Female 9 & Under 50 Breast CWSL-LD	35.57S	F # 5040	Female 15 & Over 50 Free	CWSL-LD	5		-3.43
52.45S F #303A Female 9 & Under 50 Back CWSL-LD 5 57.58S DQ F #404A Female 9 & Under 50 Breast CWSL-LD	1:52.52S	F # 5060	Female 15 & Over 100 Breast	CWSL-LD	3		
52.45S F # 303A Female 9 & Under 50 Back CWSL-LD 5 57.58S DQ F # 404A Female 9 & Under 50 Breast CWSL-LD	Ivy Fehling (9)	F					
			Female 9 & Under 50 Back	CWSL-LD	5		
48.80S F # 504A Female 9 & Under 50 Free CWSL-LD 7	57.58S DQ	F # 404A	Female 9 & Under 50 Breast	CWSL-LD			
	48.80S	F # 504A	Female 9 & Under 50 Free	CWSL-LD	7		

Time	F/P/S	5	Event		Place	Points	Improv
Nicholas Finch	(17) M						
2:09.02S	F	# 101G	Male 15 & Over 200 IM	CWSL-LD	2		0.06
24.65S	F	# 204G	Male 15 & Over 50 Fly	CWSL-LD	1		0.64
51.43S	F	# 206G	Male 15 & Over 100 Free	CWSL-LD	1		1.04
27.29S	F	# 304G	Male 15 & Over 50 Back	CWSL-LD	3		2.06
58.51S	F	# 306G	Male 15 & Over 100 IM	CWSL-LD	2		0.65
NS	F	# 403G	Male 15 & Over 50 Breast	CWSL-LD			
NS	F	# 405G	Male 15 & Over 100 Fly	CWSL-LD			
NS	F	# 505G	Male 15 & Over 100 Breast	CWSL-LD			
NS	F	# 603G	Male 15 & Over 100 Back	CWSL-LD			
Alex Gao (10) N	И						
NS	F	# 403B	Male 10-10 50 Breast	CWSL-LD			
NS	F	# 503B	Male 10-10 50 Free	CWSL-LD			
Ricky Gao (9) N	4						
NS	F	# 403A	Male 9 & Under 50 Breast	CWSL-LD			
NS	F	# 503A	Male 9 & Under 50 Free	CWSL-LD			
Sofija Gelev (15	5) F						
2:42.80S	F	# 102G	Female 15 & Over 200 IM	CWSL-LD	8		
32.14S	F	# 203G	Female 15 & Over 50 Fly	CWSL-LD	6		1.18
1:01.55S	F	# 205G	Female 15 & Over 100 Free	CWSL-LD	5		1.34
2:22.62S	F	# 301G	Female 15 & Over 200 Free	CWSL-LD	3		2.23
33.42S	F	# 303G	Female 15 & Over 50 Back	CWSL-LD	4		1.61
1:17.42S	F	# 305G	Female 15 & Over 100 IM	CWSL-LD	6		
Honor Goad (11	l) F						
44.02S	F	# 203C	Female 11-11 50 Fly	CWSL-LD	13		-4.78
1:35.70S	F	# 205C	Female 11-11 100 Free	CWSL-LD	17		-20.52
48.96S	F	# 303C	Female 11-11 50 Back	CWSL-LD	18		
1:42.68\$	F	# 305C	Female 11-11 100 IM	CWSL-LD	15		-15.71
53.45S	F	# 404C	Female 11-11 50 Breast	CWSL-LD	13		-5.21
44.41S	F	# 504C	Female 11-11 50 Free	CWSL-LD	20		-5.33
NS	F	# 506C	Female 11-11 100 Breast	CWSL-LD			
Allegra Goldsmi	th (10) F						
50.05S		# 203B	Female 10-10 50 Fly	CWSL-LD	9		
1:36.65S	F	# 205B	Female 10-10 100 Free	CWSL-LD	9		
47.64S	F	# 303B	Female 10-10 50 Back	CWSL-LD	10		
1:46.888	F	# 305B	Female 10-10 100 IM	CWSL-LD	9		
Ariadne Gonzalo	ez (11) F						
1:39.95S		# 205C	Female 11-11 100 Free	CWSL-LD	19		
3:44.55S	F	# 301C	Female 11-11 200 Free	CWSL-LD	18		
53.25S	F	# 303C	Female 11-11 50 Back	CWSL-LD	21		
1:53.25S DQ		# 305C	Female 11-11 100 IM	CWSL-LD			
1:00.76S DQ		# 404C	Female 11-11 50 Breast	CWSL-LD			
44.93S		# 504C	Female 11-11 50 Free	CWSL-LD	21		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	5	Event		Place	Points	Improv
George Gray (9) M						
58.23S	F	# 403A	Male 9 & Under 50 Breast	CWSL-LD	4		
40.918	F	# 503A	Male 9 & Under 50 Free	CWSL-LD	3		
Henry Gray (17	7) M						
2:07.018	-	# 101G	Male 15 & Over 200 IM	CWSL-LD	1		0.24
51.70S	F	# 206G	Male 15 & Over 100 Free	CWSL-LD	2		0.92
1:52.96S	F	# 302G	Male 15 & Over 200 Free	CWSL-LD	1		0.58
28.12S	F	# 304G	Male 15 & Over 50 Back	CWSL-LD	5		1.35
1:00.73S	F	# 306G	Male 15 & Over 100 IM	CWSL-LD	3		3.57
1:00.678	F	# 405G	Male 15 & Over 100 Fly	CWSL-LD	2		4.54
24.89S	F	# 503G	Male 15 & Over 50 Free	CWSL-LD	2		1.17
1:00.78S	F	# 603G	Male 15 & Over 100 Back	CWSL-LD	4		5.11
Stella Griffini (12) F						
2:59.02S	F	# 102D	Female 12-12 200 IM	CWSL-LD	5		-72.12
39.31S	F	# 203D	Female 12-12 50 Fly	CWSL-LD	6		-11.06
1:11.178	F	# 205D	Female 12-12 100 Free	CWSL-LD	4		-18.39
2:35.44\$	F	# 301D	Female 12-12 200 Free	CWSL-LD	3		-59.94
38.63S	F	# 303D	Female 12-12 50 Back	CWSL-LD	5		-8.22
5:37.298	F	# 402D	Female 12-12 400 Free	CWSL-LD	2		
41.85S	F	# 404D	Female 12-12 50 Breast	CWSL-LD	3		-6.85
1:36.41S	F	# 406D	Female 12-12 100 Fly	CWSL-LD	6		-20.99
NS	F	# 502D	Female 12-12 200 Back	CWSL-LD			
33.53S	F	# 504D	Female 12-12 50 Free	CWSL-LD	4		-4.47
1:35.03S	F	# 506D	Female 12-12 100 Breast	CWSL-LD	3		-10.69
3:24.72S	F	# 602D	Female 12-12 200 Breast	CWSL-LD	1		-24.37
Alexander Gubi	itz (10) M						
52.90S	F	# 204B	Male 10-10 50 Fly	CWSL-LD	4		
1:40.12S	F	# 206B	Male 10-10 100 Free	CWSL-LD	8		
52.29S	F	# 304B	Male 10-10 50 Back	CWSL-LD	9		-3.87
1:51.79S	F	# 306B	Male 10-10 100 IM	CWSL-LD	5		-7.64
1:01.03S	F	# 403B	Male 10-10 50 Breast	CWSL-LD	12		-7.77
2:09.09S DO	Q F	# 405B	Male 10-10 100 Fly	CWSL-LD			
43.06S	F	# 503B	Male 10-10 50 Free	CWSL-LD	6		
2:19.07\$	F	# 505B	Male 10-10 100 Breast	CWSL-LD	12		-1.24
Clementine Ha	rris (12) F						
2:57.93S	F	# 102D	Female 12-12 200 IM	CWSL-LD	4		-4.77
6:25.38S	F	# 201D	Female 12-12 400 IM	CWSL-LD	4		-12.09
34.87S	F	# 203D	Female 12-12 50 Fly	CWSL-LD	4		-2.35
1:13.46S	F	# 205D	Female 12-12 100 Free	CWSL-LD	5		-5.86
2:43.79\$	F	# 301D	Female 12-12 200 Free	CWSL-LD	5		-14.11
35.81S	F	# 303D	Female 12-12 50 Back	CWSL-LD	3		-1.24
1:21.09S	F	# 305D	Female 12-12 100 IM	CWSL-LD	3		-4.56

Time	F/P/S	Event		Place	Points	Improv
Natalie Hebel (1	l1) F					
6:18.76S	F #201C	Female 11-11 400 IM	CWSL-LD	2		-27.85
36.91S	F # 203C	Female 11-11 50 Fly	CWSL-LD	3		-4.71
1:13.72\$	F # 205C	Female 11-11 100 Free	CWSL-LD	6		-8.18
2:43.26\$	F #301C	Female 11-11 200 Free	CWSL-LD	5		-2.87
NS	F #303C	Female 11-11 50 Back	CWSL-LD			
1:25.26\$	F #305C	Female 11-11 100 IM	CWSL-LD	4		-1.93
5:38.55S	F # 402C	Female 11-11 400 Free	CWSL-LD	2		-16.43
46.26S	F # 404C	Female 11-11 50 Breast	CWSL-LD	7		-0.55
1:25.54\$	F # 406C	Female 11-11 100 Fly	CWSL-LD	2		-5.63
32.22S	F # 504C	Female 11-11 50 Free	CWSL-LD	2		-1.73
1:38.30\$	F #506C	Female 11-11 100 Breast	CWSL-LD	5		-6.88
3:31.84\$	F #602C	Female 11-11 200 Breast	CWSL-LD	5		-2.45
Ines Hill (11) F						
40.198	F # 203C	Female 11-11 50 Fly	CWSL-LD	9		-2.23
1:13.26S	F # 205C	Female 11-11 100 Free	CWSL-LD	5		-5.44
2:44.40\$	F #301C	Female 11-11 200 Free	CWSL-LD	6		-7.46
40.23\$	F #303C	Female 11-11 50 Back	CWSL-LD	5		-1.34
1:26.89S	F #305C	Female 11-11 100 IM	CWSL-LD	5		-8.77
5:38.93\$	F # 402C	Female 11-11 400 Free	CWSL-LD	3		-23.78
46.16S	F # 404C	Female 11-11 50 Breast	CWSL-LD	6		-1.11
1:38.02S	F # 406C	Female 11-11 100 Fly	CWSL-LD	6		-4.44
2:59.39S	F # 502C	Female 11-11 200 Back	CWSL-LD	2		-6.44
34.80S	F # 504C	Female 11-11 50 Free	CWSL-LD	8		-2.20
1:42.44\$	F # 506C	Female 11-11 100 Breast	CWSL-LD	7		-5.53
3:28.05S	F #602C	Female 11-11 200 Breast	CWSL-LD	3		-11.12
1:24.95\$	F # 604C	Female 11-11 100 Back	CWSL-LD	5		-3.26
Sophia Hill (10)	F					
59.80S	F # 203B	Female 10-10 50 Fly	CWSL-LD	16		
1:42.57S	F # 205B	Female 10-10 100 Free	CWSL-LD	14		
52.23S	F #303B	Female 10-10 50 Back	CWSL-LD	16		
1:54.098	F #305B	Female 10-10 100 IM	CWSL-LD	15		
57.78S	F # 404B	Female 10-10 50 Breast	CWSL-LD	12		
46.948	F #504B	Female 10-10 50 Free	CWSL-LD	22		
2:03.64\$	F #506B	Female 10-10 100 Breast	CWSL-LD	12		
1:54.598	F # 604B	Female 10-10 100 Back	CWSL-LD	12		
Ethan Howard (16) M					
2:19.22S	F # 103G	Male 15 & Over 200 Fly	CWSL-LD	2		3.54
27.29S	F # 204G	Male 15 & Over 50 Fly	CWSL-LD	6		-0.38
57.86S	F # 206G	Male 15 & Over 100 Free	CWSL-LD	10		
2:06.07S	F #302G	Male 15 & Over 200 Free	CWSL-LD	6		-1.67
29.11S	F #304G	Male 15 & Over 50 Back	CWSL-LD	7		1.07
1:01.398	F # 405G	Male 15 & Over 100 Fly	CWSL-LD	3		1.17
2:17.81S	F #501G	Male 15 & Over 200 Back	CWSL-LD	5		-1.91
26.498	F # 503G	Male 15 & Over 50 Free	CWSL-LD	10		
1:02.11S	F # 603G	Male 15 & Over 100 Back	CWSL-LD	8		-0.18

Time	F/P/S	5	Event		Place	Points	Improv
Dominika Huby	(12) F						
45.17S	F	# 203D	Female 12-12 50 Fly	CWSL-LD	10		-2.53
1:28.96S	F	# 205D	Female 12-12 100 Free	CWSL-LD	12		-0.23
3:16.58\$	F	# 301D	Female 12-12 200 Free	CWSL-LD	9		0.48
42.03S	F	# 303D	Female 12-12 50 Back	CWSL-LD	8		-2.80
1:37.80S	F	# 305D	Female 12-12 100 IM	CWSL-LD	9		-1.65
Ivan Iachini (12) M						
43.30S	-	# 204D	Male 12-12 50 Fly	CWSL-LD	5		-3.48
1:19.56S	F	# 206D	Male 12-12 100 Free	CWSL-LD	5		-4.01
2:59.81S	F	# 302D	Male 12-12 200 Free	CWSL-LD	5		-0.36
39.47S	F	# 304D	Male 12-12 50 Back	CWSL-LD	5		-2.10
1:30.49\$	F	# 306D	Male 12-12 100 IM	CWSL-LD	5		-3.15
3:05.60S	F	# 501D	Male 12-12 200 Back	CWSL-LD	6		-10.24
35.29S	F	# 503D	Male 12-12 50 Free	CWSL-LD	6		-1.66
1:44.77S	F	# 505D	Male 12-12 100 Breast	CWSL-LD	6		-2.93
3:39.92S	F	# 601D	Male 12-12 200 Breast	CWSL-LD	2		-5.34
1:28.57S	F	# 603D	Male 12-12 100 Back	CWSL-LD	5		-2.17
Smaran Iyer (11) M						
47.30S	-	# 204C	Male 11-11 50 Fly	CWSL-LD	5		-9.48
1:34.41S	F	# 206C	Male 11-11 100 Free	CWSL-LD	10		-12.68
3:23.41S	F	# 302C	Male 11-11 200 Free	CWSL-LD	6		-7.26
1:42.13\$	F	# 306C	Male 11-11 100 IM	CWSL-LD	7		-14.99
6:54.41S	F	# 401C	Male 11-11 400 Free	CWSL-LD	3		
52.95S DQ		# 403C	Male 11-11 50 Breast	CWSL-LD			
1:45.30S		# 405C	Male 11-11 100 Fly	CWSL-LD	1		-2.45
41.548		# 503C	Male 11-11 50 Free	CWSL-LD	8		-2.66
1:50.86\$	F	# 505C	Male 11-11 100 Breast	CWSL-LD	3		-7.84
3:50.09S	F	# 601C	Male 11-11 200 Breast	CWSL-LD	2		-28.74
Jay Jackson (10)	M						
53.03S		# 204B	Male 10-10 50 Fly	CWSL-LD	5		
1:39.20S		# 204B	Male 10-10 100 Free	CWSL-LD	6		-18.19
52.10S		# 304B	Male 10-10 50 Back	CWSL-LD	8		-7.86
1:50.80S		# 306B	Male 10-10 100 IM	CWSL-LD	4		-9.28
53.23\$		# 403B	Male 10-10 50 Breast	CWSL-LD	3		-2.70
43.87S		# 503B	Male 10-10 50 Free	CWSL-LD	9		-3.00
1:55.19S		# 505B	Male 10-10 100 Breast	CWSL-LD	1		-3.00
4:00.01S	F	# 601B	Male 10-10 200 Breast	CWSL-LD	1		
1:52.60S		# 603B	Male 10-10 200 Breast Male 10-10 100 Back	CWSL-LD	8		
		# 005B	Maie 10 10 100 Back	CWOL LD	0		
Thomas Jasak (1 NS	-	# 204D	Male 12-12 50 Fly	CINICI ID			
			•	CWSL-LD			
NS FO 200		# 206D	Male 12-12 100 Free	CWSL-LD			1.16
58.28S	F	# 403D	Male 12-12 50 Breast	CWSL-LD	4		-1.16
2:20.65\$	F	# 405D	Male 12-12 100 Fly	CWSL-LD	4		-3.88

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	5	Event		Place	Points	Improv
Daniel Jazebi (14	I) M						
NS	F	# 206F	Male 14-14 100 Free	CWSL-LD			
NS	F	# 304F	Male 14-14 50 Back	CWSL-LD			
35.80S	F	# 403F	Male 14-14 50 Breast	CWSL-LD	2		-2.35
26.96S	F	# 503F	Male 14-14 50 Free	CWSL-LD	1		-0.12
NS	F	# 505F	Male 14-14 100 Breast	CWSL-LD			
NS	F	# 603F	Male 14-14 100 Back	CWSL-LD			
Annabel Jeffery ((9) F						
3:33.78\$	F	# 301A	Female 9 & Under 200 Free	CWSL-LD	1		
51.42S	F	# 303A	Female 9 & Under 50 Back	CWSL-LD	3		-0.09
1:54.80S	F	# 305A	Female 9 & Under 100 IM	CWSL-LD	2		-23.41
Aleena Johnson ((11) F						
47.47S	-	# 303C	Female 11-11 50 Back	CWSL-LD	14		
1:42.70\$	F	# 305C	Female 11-11 100 IM	CWSL-LD	16		-14.28
53.67S	F	# 404C	Female 11-11 50 Breast	CWSL-LD	14		-8.42
42.49S	F	# 504C	Female 11-11 50 Free	CWSL-LD	18		
Beatrice Jones (1	l0) F						
59.12S	F	# 203B	Female 10-10 50 Fly	CWSL-LD	15		
2:11.47\$	F	# 205B	Female 10-10 100 Free	CWSL-LD	19		
1:02.50S DQ	F	# 404B	Female 10-10 50 Breast	CWSL-LD			
51.40S	F	# 504B	Female 10-10 50 Free	CWSL-LD	27		
2:19.95S	F	# 506B	Female 10-10 100 Breast	CWSL-LD	22		
Konstantin Kaem	merer (13) M					
2:45.69\$	F	# 101E	Male 13-13 200 IM	CWSL-LD	5		-11.13
3:18.71S	F	# 103E	Male 13-13 200 Fly	CWSL-LD	5		-12.99
5:57.42S	F	# 202E	Male 13-13 400 IM	CWSL-LD	5		-10.28
35.44S	F	# 204E	Male 13-13 50 Fly	CWSL-LD	5		-1.78
1:05.06S	F	# 206E	Male 13-13 100 Free	CWSL-LD	3		-3.72
2:22.83\$	F	# 302E	Male 13-13 200 Free	CWSL-LD	4		-8.27
35.08S	F	# 304E	Male 13-13 50 Back	CWSL-LD	4		-1.58
4:59.75S	F	# 401E	Male 13-13 400 Free	CWSL-LD	4		-14.73
38.50S	F	# 403E	Male 13-13 50 Breast	CWSL-LD	3		-1.29
1:31.398	F	# 405E	Male 13-13 100 Fly	CWSL-LD	6		-5.18
2:45.32S	F	# 501E	Male 13-13 200 Back	CWSL-LD	4		-0.19
29.87S	F	# 503E	Male 13-13 50 Free	CWSL-LD	3		-1.62
1:27.39S	F	# 505E	Male 13-13 100 Breast	CWSL-LD	4		-3.67
3:00.76S	F	# 601E	Male 13-13 200 Breast	CWSL-LD	3		-13.41
1:15.93\$	F	# 603E	Male 13-13 100 Back	CWSL-LD	2		-1.52

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S		Event		Place	Points	Improv
Martyna Karaba	acz (15) F						
2:24.33S		# 102G	Female 15 & Over 200 IM	CWSL-LD	2		
2:32.21S	F i	# 104G	Female 15 & Over 200 Fly	CWSL-LD	2		
5:04.46S	F i	# 201G	Female 15 & Over 400 IM	CWSL-LD	1		-0.13
31.26S	F i	# 203G	Female 15 & Over 50 Fly	CWSL-LD	5		
1:01.43S	F i	# 205G	Female 15 & Over 100 Free	CWSL-LD	4		
2:10.58S	F i	# 301G	Female 15 & Over 200 Free	CWSL-LD	1		
31.57S	F	# 303G	Female 15 & Over 50 Back	CWSL-LD	3		
1:10.81S	F i	# 305G	Female 15 & Over 100 IM	CWSL-LD	4		
4:30.90S	F i	# 402G	Female 15 & Over 400 Free	CWSL-LD	1		
1:07.61S	F	# 406G	Female 15 & Over 100 Fly	CWSL-LD	4		
2:16.26S	F i	# 502G	Female 15 & Over 200 Back	CWSL-LD	1		-1.25
28.93S	F i	# 504G	Female 15 & Over 50 Free	CWSL-LD	3		
NS	F i	# 602G	Female 15 & Over 200 Breast	CWSL-LD			
1:05.48\$	F	# 604G	Female 15 & Over 100 Back	CWSL-LD	1		0.96
Samuel Kemp (15) M						
31.23S	F i	# 503G	Male 15 & Over 50 Free	CWSL-LD	14		-2.15
Tatiana Kinsler	(19) F						
2:33.01S	F i	# 102G	Female 15 & Over 200 IM	CWSL-LD	7		
1:09.62S	F i	# 406G	Female 15 & Over 100 Fly	CWSL-LD	6		
28.97S	F i	# 504G	Female 15 & Over 50 Free	CWSL-LD	4		
1:15.10S	F	# 604G	Female 15 & Over 100 Back	CWSL-LD	4		
Rasheed Kotb (11) M						
3:22.20S	F i	# 101C	Male 11-11 200 IM	CWSL-LD	2		-31.81
47.46S	F i	# 204C	Male 11-11 50 Fly	CWSL-LD	6		-6.43
1:25.67S	F i	# 206C	Male 11-11 100 Free	CWSL-LD	6		-11.22
3:12.95S	F i	# 302C	Male 11-11 200 Free	CWSL-LD	5		-34.38
45.25S	F i	# 304C	Male 11-11 50 Back	CWSL-LD	4		-4.55
1:31.15S	F i	# 306C	Male 11-11 100 IM	CWSL-LD	1		-21.86
45.59S	F i	# 403C	Male 11-11 50 Breast	CWSL-LD	1		-4.78
36.78S	F i	# 503C	Male 11-11 50 Free	CWSL-LD	2		-6.04
1:42.21S	F i	# 505C	Male 11-11 100 Breast	CWSL-LD	1		-7.16
3:36.69\$	F	# 601C	Male 11-11 200 Breast	CWSL-LD	1		-35.21
1:36.38\$	F i	# 603C	Male 11-11 100 Back	CWSL-LD	4		-13.64
Alexandra Kour	ovskaia (9)	F					
4:05.38S	F i	# 102A	Female 9 & Under 200 IM	CWSL-LD	1		
1:07.15S	F i	# 203A	Female 9 & Under 50 Fly	CWSL-LD	10		-9.07
1:41.57\$	F i	# 205A	Female 9 & Under 100 Free	CWSL-LD	3		-4.93
1:55.98S DQ	F i	# 305A	Female 9 & Under 100 IM	CWSL-LD			

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S		Event		Place	Points	Improv
Aleksandra Kro	ol (11) F						
42.45S		# 203C	Female 11-11 50 Fly	CWSL-LD	10		-3.32
1:23.24S	F	# 205C	Female 11-11 100 Free	CWSL-LD	11		-4.13
3:07.87S	F	# 301C	Female 11-11 200 Free	CWSL-LD	11		-7.96
47.05S	F	# 303C	Female 11-11 50 Back	CWSL-LD	13		-2.77
1:36.13S	F	# 305C	Female 11-11 100 IM	CWSL-LD	11		-4.25
47.95S	F	# 404C	Female 11-11 50 Breast	CWSL-LD	8		-5.83
38.80S	F	# 504C	Female 11-11 50 Free	CWSL-LD	14		-4.74
1:48.18\$	F	# 506C	Female 11-11 100 Breast	CWSL-LD	9		
1:35.60S	F	# 604C	Female 11-11 100 Back	CWSL-LD	11		
Mateusz Krol (14) M						
29.39S	F	# 204F	Male 14-14 50 Fly	CWSL-LD	1		-1.51
1:00.06S	F	# 206F	Male 14-14 100 Free	CWSL-LD	2		-2.27
NS	F	# 302F	Male 14-14 200 Free	CWSL-LD			
31.00S	F	# 304F	Male 14-14 50 Back	CWSL-LD	2		-2.14
1:09.36S	F	# 306F	Male 14-14 100 IM	CWSL-LD	1		-5.58
36.21S	F	# 403F	Male 14-14 50 Breast	CWSL-LD	3		0.63
NS	F	# 405F	Male 14-14 100 Fly	CWSL-LD			
27.25S	F	# 503F	Male 14-14 50 Free	CWSL-LD	3		-0.72
NS	F	# 505F	Male 14-14 100 Breast	CWSL-LD			
1:07.54\$	F	# 603F	Male 14-14 100 Back	CWSL-LD	2		-6.39
Shunsei Kwan	(13) M						
3:12.97\$		# 101E	Male 13-13 200 IM	CWSL-LD	6		
44.48S	F	# 204E	Male 13-13 50 Fly	CWSL-LD	6		-1.25
1:16.50S	F	# 206E	Male 13-13 100 Free	CWSL-LD	6		-4.74
2:45.44\$	F	# 302E	Male 13-13 200 Free	CWSL-LD	7		-13.37
43.98S	F	# 304E	Male 13-13 50 Back	CWSL-LD	8		-2.08
1:30.658	F	# 306E	Male 13-13 100 IM	CWSL-LD	6		-4.72
5:51.498	F	# 401E	Male 13-13 400 Free	CWSL-LD	7		-24.45
45.60S	F	# 403E	Male 13-13 50 Breast	CWSL-LD	6		-5.26
34.88S	F	# 503E	Male 13-13 50 Free	CWSL-LD	7		-4.40
1:38.39\$	F	# 505E	Male 13-13 100 Breast	CWSL-LD	6		-4.18
3:28.88S	F	# 601E	Male 13-13 200 Breast	CWSL-LD	6		-7.21
1:39.15\$	F	# 603E	Male 13-13 100 Back	CWSL-LD	5		-5.04
Simona Kyuchu	ıkova (10)	F					
NS	F	# 404B	Female 10-10 50 Breast	CWSL-LD			
NS	F	# 406B	Female 10-10 100 Fly	CWSL-LD			
43.19S	F	# 504B	Female 10-10 50 Free	CWSL-LD	13		
2:01.61S	F	# 506B	Female 10-10 100 Breast	CWSL-LD	11		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/9	S	Event		Place	Points	Improv
Sarah Labrande							•
52.40S		# 203A	Female 9 & Under 50 Fly	CWSL-LD	3		
1:48.54\$	F	# 205A	Female 9 & Under 100 Free	CWSL-LD	6		
54.78S DQ) F	# 303A	Female 9 & Under 50 Back	CWSL-LD			
1:59.17S DQ) F	# 305A	Female 9 & Under 100 IM	CWSL-LD			
NS	F	# 504A	Female 9 & Under 50 Free	CWSL-LD			
DQ	F	# 506A	Female 9 & Under 100 Breast	CWSL-LD			
1:52.82S DQ) F	# 604A	Female 9 & Under 100 Back	CWSL-LD			
Sophia Labrand	e (11) F						
38.75S	F	# 203C	Female 11-11 50 Fly	CWSL-LD	7		-11.66
1:19.16\$	F	# 205C	Female 11-11 100 Free	CWSL-LD	9		-11.41
2:52.20\$	F	# 301C	Female 11-11 200 Free	CWSL-LD	9		-23.10
42.39S	F	# 303C	Female 11-11 50 Back	CWSL-LD	8		-3.48
1:31.948	F	# 305C	Female 11-11 100 IM	CWSL-LD	8		-8.21
3:40.698	F	# 602C	Female 11-11 200 Breast	CWSL-LD	7		-20.42
1:26.64\$	F	# 604C	Female 11-11 100 Back	CWSL-LD	6		-4.98
Emma Lanza (1	1) F						
3:33.25\$	F	# 102C	Female 11-11 200 IM	CWSL-LD	7		
45.29S	F	# 203C	Female 11-11 50 Fly	CWSL-LD	14		-7.51
1:27.22S	F	# 205C	Female 11-11 100 Free	CWSL-LD	12		-8.12
NS	F	# 301C	Female 11-11 200 Free	CWSL-LD			
NS	F	# 303C	Female 11-11 50 Back	CWSL-LD			
1:39.158	F	# 305C	Female 11-11 100 IM	CWSL-LD	12		-4.04
NS	F	# 404C	Female 11-11 50 Breast	CWSL-LD			
NS	F	# 502C	Female 11-11 200 Back	CWSL-LD			
37.49S	F	# 504C	Female 11-11 50 Free	CWSL-LD	12		-3.58
1:51.38\$	F	# 506C	Female 11-11 100 Breast	CWSL-LD	10		-1.56
3:55.33S	F	# 602C	Female 11-11 200 Breast	CWSL-LD	11		-6.32
1:42.72S	F	# 604C	Female 11-11 100 Back	CWSL-LD	13		3.53
Beatrix Latto (1	l1) F						
49.37S	F	# 203C	Female 11-11 50 Fly	CWSL-LD	16		-9.22
1:44.56\$	F	# 205C	Female 11-11 100 Free	CWSL-LD	20		-6.19
3:55.76S	F	# 301C	Female 11-11 200 Free	CWSL-LD	19		-0.90
53.37S	F	# 303C	Female 11-11 50 Back	CWSL-LD	22		
1:49.76\$	F	# 305C	Female 11-11 100 IM	CWSL-LD	19		
Elycia Lawal (1	1) F						
49.75S	•	# 303C	Female 11-11 50 Back	CWSL-LD	20		
1:46.148	F	# 305C	Female 11-11 100 IM	CWSL-LD	18		-5.84
55.67S	F	# 404C	Female 11-11 50 Breast	CWSL-LD	16		-2.97
41.95S	F	# 504C	Female 11-11 50 Free	CWSL-LD	17		-3.35
2:02.14S	F	# 506C	Female 11-11 100 Breast	CWSL-LD	14		-4.78

Time	F/P/S	S	Event		Place	Points	Improv
Estelle Legrand	(9) F						
DQ		# 102A	Female 9 & Under 200 IM	CWSL-LD			
1:00.858	F	# 203A	Female 9 & Under 50 Fly	CWSL-LD	8		
1:56.458	F	# 205A	Female 9 & Under 100 Free	CWSL-LD	11		
4:17.04S	F	# 301A	Female 9 & Under 200 Free	CWSL-LD	6		
1:02.82S	F	# 303A	Female 9 & Under 50 Back	CWSL-LD	11		
2:19.17S DQ) F	# 305A	Female 9 & Under 100 IM	CWSL-LD			
1:15.998	F	# 404A	Female 9 & Under 50 Breast	CWSL-LD	10		
2:21.06S	F	# 406A	Female 9 & Under 100 Fly	CWSL-LD	3		
4:55.21S	F	# 502A	Female 9 & Under 200 Back	CWSL-LD	3		
54.81S	F	# 504A	Female 9 & Under 50 Free	CWSL-LD	12		
2:30.88S	F	# 506A	Female 9 & Under 100 Breast	CWSL-LD	7		
5:11.39S	F	# 602A	Female 9 & Under 200 Breast	CWSL-LD	2		
2:14.05S DQ) F	# 604A	Female 9 & Under 100 Back	CWSL-LD			
Bryan Leong (2							
2:04.36S	-	# 103G	Male 15 & Over 200 Fly	CWSL-LD	1		
25.02S	F	# 204G	Male 15 & Over 50 Fly	CWSL-LD	3		1.30
NS	F		Male 15 & Over 100 Free	CWSL-LD			
		# 200d	Maie 13 & Over 100 Free	CW3E-ED			
Eric Lesesne (1	-		W 45 0 0 50 FI	CINICI I D	4.0		4.00
28.82S	F		Male 15 & Over 50 Fly	CWSL-LD	10		-1.00
58.94S	F	# 206G	Male 15 & Over 100 Free	CWSL-LD	12		-1.12
2:11.59\$	F	# 302G	Male 15 & Over 200 Free	CWSL-LD	8		
29.45S	F	# 304G	Male 15 & Over 50 Back	CWSL-LD	8		-1.41
1:07.46S	F	# 306G	Male 15 & Over 100 IM	CWSL-LD	9		-3.48
Caroline Lewitt	(20) F						
NS	F	# 102G	Female 15 & Over 200 IM	CWSL-LD			
Jason Li (10) M	I						
1:02.09S	F	# 403B	Male 10-10 50 Breast	CWSL-LD	14		
47.53S	F	# 503B	Male 10-10 50 Free	CWSL-LD	11		
2:18.01S	F	# 505B	Male 10-10 100 Breast	CWSL-LD	11		
1:50.92S	F	# 603B	Male 10-10 100 Back	CWSL-LD	5		
Charlotte Llama	ıs (9) F						
4:07.15S	F	# 102A	Female 9 & Under 200 IM	CWSL-LD	2		
57.20S	F	# 203A	Female 9 & Under 50 Fly	CWSL-LD	5		
1:50.58\$	F	# 205A	Female 9 & Under 100 Free	CWSL-LD	8		-3.18
3:57.54S	F	# 301A	Female 9 & Under 200 Free	CWSL-LD	5		
52.90S	F	# 303A	Female 9 & Under 50 Back	CWSL-LD	6		-6.34
1:57.43\$	F	# 305A	Female 9 & Under 100 IM	CWSL-LD	4		
58.948	F	# 404A	Female 9 & Under 50 Breast	CWSL-LD	4		-3.39
2:12.21S	F	# 406A	Female 9 & Under 100 Fly	CWSL-LD	2		
47.99S	F	# 504A	Female 9 & Under 50 Free	CWSL-LD	5		-2.30
2:08.48\$	F	# 506A	Female 9 & Under 100 Breast	CWSL-LD	3		
4:27.69S	F	# 602A	Female 9 & Under 200 Breast	CWSL-LD	1		
1:53.46S	F	# 604A	Female 9 & Under 100 Back	CWSL-LD	2		-13.33
1.55.705	1.	" OUTA	Temate / & Officer 100 Dack	G**3E-ED	4		13.33

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	1/1	'/S		Event		Place	Points	Improv
Hans Christia	an Lonberg	g (1	12) M					
NS		F	# 501D	Male 12-12 200 Back	CWSL-LD			
NS		F	# 503D	Male 12-12 50 Free	CWSL-LD			
NS		F	# 505D	Male 12-12 100 Breast	CWSL-LD			
NS		F	# 601D	Male 12-12 200 Breast	CWSL-LD			
NS		F	# 603D	Male 12-12 100 Back	CWSL-LD			
Lotus MacGlo	oin (10) F							
3:08.56\$		F	# 102B	Female 10-10 200 IM	CWSL-LD	1		
Laetitia Mag	nien (10)	F						
NS	,		# 303B	Female 10-10 50 Back	CWSL-LD			
NS		F	# 305B	Female 10-10 100 IM	CWSL-LD			
53.44S	DQ	F	# 404B	Female 10-10 50 Breast	CWSL-LD			
40.60S		F	# 504B	Female 10-10 50 Free	CWSL-LD	7		-37.69
Metin Mahm	utodlu (10	N (Л					
2:11.21S	utogiu (19	-	# 101G	Male 15 & Over 200 IM	CWSL-LD	3		-1.40
24.75S			# 204G	Male 15 & Over 50 Fly	CWSL-LD	2		-0.65
51.98S		F	# 206G	Male 15 & Over 100 Free	CWSL-LD	3		1.74
1:58.66\$		F	# 302G	Male 15 & Over 200 Free	CWSL-LD	2		0.72
26.158		F	# 304G	Male 15 & Over 50 Back	CWSL-LD	1		1.09
57.99\$			# 306G	Male 15 & Over 100 IM	CWSL-LD	1		2.48
29.85\$		F	# 403G	Male 15 & Over 50 Breast	CWSL-LD	1		0.29
57.28S			# 405G	Male 15 & Over 100 Fly	CWSL-LD	1		-1.33
23.28\$		F	# 503G	Male 15 & Over 50 Free	CWSL-LD	1		0.82
57.77S			# 603G	Male 15 & Over 100 Back	CWSL-LD	3		3.35
	Malabiaa ((Maic 13 & Over 100 back	CW3E ED	3		3.33
Alessandra M 1:49.75S	maianias (S	-	r # 205A	Famala 0 9 Haday 100 Fysa	CMCLID	7		
1:49.755 56.82S		r F		Female 9 & Under 100 Free	CWSL-LD	7		
	DO		# 303A	Female 9 & Under 50 Back	CWSL-LD	9		
2:07.80\$	DQ	F	# 305A	Female 9 & Under 100 IM	CWSL-LD			
4:14.36S		F	# 502A	Female 9 & Under 200 Back	CWSL-LD	2		
50.06S		F	# 504A	Female 9 & Under 50 Free	CWSL-LD	9		
2:13.24\$			# 506A	Female 9 & Under 100 Breast	CWSL-LD	4		
Nathaniel Ma	-	-						
4:06.84\$	DQ		# 101B	Male 10-10 200 IM	CWSL-LD			
58.96S			# 204B	Male 10-10 50 Fly	CWSL-LD	8		
1:38.698			# 206B	Male 10-10 100 Free	CWSL-LD	5		
3:48.215			# 302B	Male 10-10 200 Free	CWSL-LD	5		-49.72
52.03S		F	# 304B	Male 10-10 50 Back	CWSL-LD	7		
2:00.27\$		F	# 306B	Male 10-10 100 IM	CWSL-LD	7		-5.69
56.90S		F	# 403B	Male 10-10 50 Breast	CWSL-LD	10		-7.51
2:11.96S			# 405B	Male 10-10 100 Fly	CWSL-LD	3		
3:56.84\$			# 501B	Male 10-10 200 Back	CWSL-LD	3		
41.16S		F	# 503B	Male 10-10 50 Free	CWSL-LD	3		
2:12.72\$		F	# 505B	Male 10-10 100 Breast	CWSL-LD	10		-12.96

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	;	Event		Place	Points	Improv
Lara Marquez (11) F						
3:00.62S	F	# 102C	Female 11-11 200 IM	CWSL-LD	4		-14.58
3:17.80\$	F	# 104C	Female 11-11 200 Fly	CWSL-LD	2		-17.00
6:32.95\$	F	# 201C	Female 11-11 400 IM	CWSL-LD	3		
37.00S	F	# 203C	Female 11-11 50 Fly	CWSL-LD	4		-2.93
1:14.62S	F	# 205C	Female 11-11 100 Free	CWSL-LD	7		-5.37
2:45.17S	F	# 301C	Female 11-11 200 Free	CWSL-LD	7		-5.83
36.10S	F	# 303C	Female 11-11 50 Back	CWSL-LD	2		-2.14
1:23.26S	F	# 305C	Female 11-11 100 IM	CWSL-LD	3		-9.77
5:46.60S	F	# 402C	Female 11-11 400 Free	CWSL-LD	6		-23.57
NS	F	# 404C	Female 11-11 50 Breast	CWSL-LD			
NS	F	# 406C	Female 11-11 100 Fly	CWSL-LD			
2:53.04S	F	# 502C	Female 11-11 200 Back	CWSL-LD	1		-10.19
33.84S	F	# 504C	Female 11-11 50 Free	CWSL-LD	7		-1.22
1:46.97\$	F	# 506C	Female 11-11 100 Breast	CWSL-LD	8		2.53
3:45.78\$	F	# 602C	Female 11-11 200 Breast	CWSL-LD	8		-4.98
1:20.38S	F	# 604C	Female 11-11 100 Back	CWSL-LD	2		-1.83
Alex Martins (1	.4) M						
37.50S	F	# 204F	Male 14-14 50 Fly	CWSL-LD	6		
1:25.63\$	F	# 306F	Male 14-14 100 IM	CWSL-LD	5		
31.97S	F	# 503F	Male 14-14 50 Free	CWSL-LD	6		
Goncalo Martin	s (15) M						
35.90S	F	# 204G	Male 15 & Over 50 Fly	CWSL-LD	17		
1:05.93S	F	# 206G	Male 15 & Over 100 Free	CWSL-LD	15		-36.81
1:18.92S	F	# 306G	Male 15 & Over 100 IM	CWSL-LD	10		
Rodrigo Martin	s (11) M						
1:32.88\$	F	# 206C	Male 11-11 100 Free	CWSL-LD	9		
53.10S DQ) F	# 304C	Male 11-11 50 Back	CWSL-LD			
1:49.67S	F	# 306C	Male 11-11 100 IM	CWSL-LD	10		
Clio Mazzoli (10	0) F						
51.80S	F	# 203B	Female 10-10 50 Fly	CWSL-LD	11		
1:47.87\$	F	# 205B	Female 10-10 100 Free	CWSL-LD	16		
3:50.36S	F	# 301B	Female 10-10 200 Free	CWSL-LD	9		
50.75S	F	# 303B	Female 10-10 50 Back	CWSL-LD	14		
1:54.90S	F	# 305B	Female 10-10 100 IM	CWSL-LD	16		
1:01.76S	F	# 404B	Female 10-10 50 Breast	CWSL-LD	16		
2:11.58\$	F	# 406B	Female 10-10 100 Fly	CWSL-LD	7		
43.82S	F	# 504B	Female 10-10 50 Free	CWSL-LD	15		
2:18.34\$	F	# 506B	Female 10-10 100 Breast	CWSL-LD	21		
1:46.40\$	F	# 604B	Female 10-10 100 Back	CWSL-LD	8		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S		Event		Place	Points	Improv
Anna McCormi	ck (11) F						
54.788	F	# 203C	Female 11-11 50 Fly	CWSL-LD	17		
1:31.10S	F	# 205C	Female 11-11 100 Free	CWSL-LD	13		-7.74
3:19.798	F	# 301C	Female 11-11 200 Free	CWSL-LD	14		-15.46
48.85\$	F	# 303C	Female 11-11 50 Back	CWSL-LD	15		-2.98
1:51.41S	F	# 305C	Female 11-11 100 IM	CWSL-LD	20		-0.18
Annabel McLar	en (12) F						
58.08S D		# 203D	Female 12-12 50 Fly	CWSL-LD			
NS	F	# 303D	Female 12-12 50 Back	CWSL-LD			
NS	F	# 504D	Female 12-12 50 Free	CWSL-LD			
Elizabeth Merk	culova (10)	F					
NS		# 203B	Female 10-10 50 Fly	CWSL-LD			
NS	F	# 205B	Female 10-10 100 Free	CWSL-LD			
NS	F	# 303B	Female 10-10 50 Back	CWSL-LD			
NS	F	# 404B	Female 10-10 50 Breast	CWSL-LD			
NS	F	# 504B	Female 10-10 50 Free	CWSL-LD			
Maria Miklavch	nich (9) F						
57.04S		# 404A	Female 9 & Under 50 Breast	CWSL-LD	3		
45.35S	F	# 504A	Female 9 & Under 50 Free	CWSL-LD	4		
Ming-Yi Mi (10) F						
50.94S	-	# 203B	Female 10-10 50 Fly	CWSL-LD	10		
1:41.40S	F	# 205B	Female 10-10 100 Free	CWSL-LD	12		
49.16S	F	# 303B	Female 10-10 50 Back	CWSL-LD	13		
1:48.74S	F	# 305B	Female 10-10 100 IM	CWSL-LD	10		
52.71S	F	# 404B	Female 10-10 50 Breast	CWSL-LD	6		
40.50S	F	# 504B	Female 10-10 50 Free	CWSL-LD	6		
1:56.76S	F	# 506B	Female 10-10 100 Breast	CWSL-LD	6		
Arianna Miner	va (11) F						
3:00.40S		# 102C	Female 11-11 200 IM	CWSL-LD	3		-16.94
3:13.47\$	F	# 104C	Female 11-11 200 Fly	CWSL-LD	1		-40.31
6:15.03S		# 201C	Female 11-11 400 IM	CWSL-LD	1		-30.37
37.13S	F	# 203C	Female 11-11 50 Fly	CWSL-LD	6		-3.01
1:13.03S	F	# 205C	Female 11-11 100 Free	CWSL-LD	4		-9.82
2:43.19\$		# 301C	Female 11-11 200 Free	CWSL-LD	4		-2.88
40.86S		# 303C	Female 11-11 50 Back	CWSL-LD	7		-3.48
1:29.41S		# 305C	Female 11-11 100 IM	CWSL-LD	7		-3.57
5:40.30S		# 402C	Female 11-11 400 Free	CWSL-LD	4		-15.07
45.26S		# 404C	Female 11-11 50 Breast	CWSL-LD	4		-4.65
1:30.56S		# 406C	Female 11-11 100 Fly	CWSL-LD	3		-8.16
3:01.47S		# 502C	Female 11-11 200 Back	CWSL-LD	4		-8.77
32.97S			Female 11-11 50 Free	CWSL-LD	3		-2.73
1:37.41S		# 506C	Female 11-11 100 Breast	CWSL-LD	3		-7.91
3:27.72S		# 602C	Female 11-11 200 Breast	CWSL-LD	2		-13.85
1:27.77S		# 604C	Female 11-11 100 Back	CWSL-LD	8		-1.51
1.= / 1/ / 0		5510	II II IVO DUCK	3 DD DD	Ü		1.01

Corenzo Minerva (13) M	Time	F/P/S	5	Event		Place	Points	Improv
3:06.99S	Lorenzo Mir	nerva (13) M						
5:51.37S F # 202E Male 13-13 400 IM CWSL-LD 4	2:44.47\$	F	# 101E	Male 13-13 200 IM	CWSL-LD	4		-10.28
34.41S	3:06.998	F	# 103E	Male 13-13 200 Fly	CWSL-LD	4		-20.88
1.05.95S F # 206E Male 13-13 100 Free CWSL-LD 5	5:51.37S	F	# 202E	Male 13-13 400 IM	CWSL-LD	4		-17.17
2:23.97S F # 302E Male 13:13 200 Free CWSL-LD 5 -1.59 36.91S F # 304E Male 13:13 50 Back CWSL-LD 5 -1.59 1:16.80S F # 306E Male 13:13 100 IM CWSL-LD 3 -4.60 5:03.42S F # 401E Male 13:13 500 Free CWSL-LD 5 -12.40 39.08S F # 405E Male 13:13 100 Free CWSL-LD 5 -7.04 2-45.11S F # 501E Male 13:13 100 Free CWSL-LD 3 -7.69 30.43S F # 503E Male 13:13 200 Breast CWSL-LD 3 -7.69 30.529S F # 601E Male 13:13 100 Breast CWSL-LD 4 -0.60 1:26.5SS F # 503E Male 13:13 100 Breast CWSL-LD 3 -2.02 30.529S F # 603E Male 13:13 100 Breast CW	34.41S	F	# 204E	Male 13-13 50 Fly	CWSL-LD	4		-4.35
36.91S F # 304E Male 13-13 50 Back CWSL-LD 5 -1.59 1:16.80S F # 306E Male 13-13 100 IM CWSL-LD 3 -4.60 5:03.42S F # 401E Male 13-13 400 Free CWSL-LD 5 -1.240 39.08S F # 403E Male 13-13 50 Breast CWSL-LD 4 -2.08 1:22.26S F # 405E Male 13-13 200 Back CWSL-LD 3 -7.69 30.43S F # 501E Male 13-13 50 Free CWSL-LD 4 -6.60 30.43S F # 505E Male 13-13 100 Freat CWSL-LD 3 -2.02 30.5.29S F # 601E Male 13-13 200 Breast CWSL-LD 3 -2.02 30.5.29S F # 603E Male 13-13 100 Breast CWSL-LD 3 -2.22 Siyu Min (10) F # 203E F # 203B Female 10-10 50	1:05.958	F	# 206E	Male 13-13 100 Free	CWSL-LD	4		-1.82
1:16.80S F # 306E Male 13-13 100 IM CWSI-LD 3 -4.60 5:03.42S F # 401E Male 13-13 400 Free CWSI-LD 5 -12.40 3.9.08S F # 403E Male 13-13 50 Breast CWSI-LD 4 -2.08 1:22.26S F # 405E Male 13-13 100 Breast CWSI-LD 5 -7.04 2:45.11S F # 501E Male 13-13 200 Breast CWSI-LD 3 -7.69 3.043S F # 503E Male 13-13 200 Breast CWSI-LD 3 -0.60 1:26.55S F # 503E Male 13-13 200 Breast CWSI-LD 3 -2.02 3.05.29S F # 603E Male 13-13 100 Back CWSI-LD 4 -3.28 1:19.09S F # 603E Male 13-13 100 Back CWSI-LD NS F # 203B Female 10-10 10 F	2:23.97\$	F	# 302E	Male 13-13 200 Free	CWSL-LD	5		-2.50
5:03.42S F # 401E Male 13-13 400 Free CWSL-LD 5 -12.40 39.08S F # 403E Male 13-13 50 Breast CWSL-LD 4 -2.08 1:22.26S F # 405E Male 13-13 100 Breast CWSL-LD 5 .7.04 2:45.11S F # 501E Male 13-13 200 Breast CWSL-LD 3 .7.69 30.43S F # 503E Male 13-13 500 Free CWSL-LD 3	36.91S	F	# 304E	Male 13-13 50 Back	CWSL-LD	5		-1.59
39.08S F # 403E Male 13-13 50 Breast CWSL-LD 4 -2.08 1:22,26S F # 405E Male 13-13 100 Fty CWSL-LD 5	1:16.80\$	F	# 306E	Male 13-13 100 IM	CWSL-LD	3		-4.60
1:22.26S F # 405E Male 13-13 100 Fly CWSL-LD 5 </td <td>5:03.42\$</td> <td>F</td> <td># 401E</td> <td>Male 13-13 400 Free</td> <td>CWSL-LD</td> <td>5</td> <td></td> <td>-12.40</td>	5:03.42\$	F	# 401E	Male 13-13 400 Free	CWSL-LD	5		-12.40
2:45.11S F # 501E Male 13-13 200 Back CWSL-LD 3 -7.69 30.43S F # 503E Male 13-13 50 Free CWSL-LD 4 -0.60 1:26.55S F # 505E Male 13-13 100 Breast CWSL-LD 3 -2.02 3:05.29S F # 601E Male 13-13 100 Back CWSL-LD 4 -3.28 1:19.09S F # 603E Male 13-13 100 Back CWSL-LD 4 -4.22 Siyu Min (10) F NS F # 203B Female 10-10 50 Fly CWSL-LD NS F # 203B Female 10-10 100 Free CWSL-LD NS F # 303B Female 10-10 50 Breast CWSL-LD 1:03.67S F # 304B Female 10-10 50 Breast CWSL-LD 17 <td>39.08S</td> <td>F</td> <td># 403E</td> <td>Male 13-13 50 Breast</td> <td>CWSL-LD</td> <td>4</td> <td></td> <td>-2.08</td>	39.08S	F	# 403E	Male 13-13 50 Breast	CWSL-LD	4		-2.08
30.43S F #503E Male 13-13 50 Free CWSL-LD 40.60 1:26.55S F #505E Male 13-13 100 Breast CWSL-LD 32.02 3:05.29S F #601E Male 13-13 200 Breast CWSL-LD 43.28 1:19.09S F #603E Male 13-13 100 Back CWSL-LD 34.22 Siyu Min (10) F NS F #203B Female 10-10 50 Fly CWSL-LD	1:22.26\$	F	# 405E	Male 13-13 100 Fly	CWSL-LD	5		-7.04
1:26.55S F # 505E Male 13-13 100 Breast CWSL-LD 3 -2.02 3:05.29S F # 601E Male 13-13 200 Breast CWSL-LD 4 -3.28 1:19.09S F # 603E Male 13-13 100 Back CWSL-LD 3 -4.22 Siyu Min (10) F NS F # 203B Female 10-10 50 Fly CWSL-LD NS F # 205B Female 10-10 100 Free CWSL-LD NS F # 303B Female 10-10 50 Back CWSL-LD NS F # 303B Female 10-10 50 Free CWSL-LD 17 1:03.67S F # 404B Female 10-10 50 Free CWSL-LD 17 5:2.84S F # 504B Female 10-10 100 Breast CWSL-LD 16 2.08.71S F # 604B	2:45.118	F	# 501E	Male 13-13 200 Back	CWSL-LD	3		-7.69
3:05.29S F # 601E Male 13-13 200 Breast CWSL-LD 4 -3.28 1:19.09S F # 603E Male 13-13 100 Back CWSL-LD 3 -4.22 Siyu Min (10) F NS F # 203B Female 10-10 50 Fly CWSL-LD NS F # 203B Female 10-10 100 Free CWSL-LD NS F # 303B Female 10-10 50 Back CWSL-LD NS F # 305B Female 10-10 50 Breast CWSL-LD 1:03.67S F # 404B Female 10-10 50 Breast CWSL-LD 17 52.84S F # 504B Female 10-10 50 Free CWSL-LD 28 2:08.71S F # 506B Female 10-10 100 Breast CWSL-LD 16 15 F # 604B	30.43\$	F	# 503E	Male 13-13 50 Free	CWSL-LD	4		-0.60
1:19.09S F # 603E Male 13-13 100 Back CWSL-LD 3 -4.22 Siyu Min (10) F NS F # 203B Female 10-10 50 Fly CWSL-LD NS F # 205B Female 10-10 100 Free CWSL-LD NS F # 303B Female 10-10 50 Back CWSL-LD NS F # 305B Female 10-10 50 Breast CWSL-LD 1:03.67S F # 404B Female 10-10 50 Breast CWSL-LD 17 52.84S F # 504B Female 10-10 100 Breast CWSL-LD 28 2:08.71S F # 506B Female 10-10 100 Breast CWSL-LD 16 NS F # 604B Female 10-10 100 Breast CWSL-LD 6 1-208.74S F # 204C	1:26.55\$	F	# 505E	Male 13-13 100 Breast	CWSL-LD	3		-2.02
NS	3:05.29\$	F	# 601E	Male 13-13 200 Breast	CWSL-LD	4		-3.28
NS F #203B Female 10-10 50 Fly CWSL-LD	1:19.09\$	F	# 603E	Male 13-13 100 Back	CWSL-LD	3		-4.22
NS F #203B Female 10-10 50 Fly CWSL-LD	Siyu Min (1	0) F						
NS F #303B Female 10-10 50 Back CWSL-LD		-	# 203B	Female 10-10 50 Fly	CWSL-LD			
NS F # 305B Female 10-10 100 IM CWSL-LD 1:03.67S F # 404B Female 10-10 50 Breast CWSL-LD 17 52.84S F # 504B Female 10-10 100 Breast CWSL-LD 28 2:08.71S F # 506B Female 10-10 100 Breast CWSL-LD 16 NS F # 604B Female 10-10 100 Back CWSL-LD 16 Thomas Mouzannar (11) W 3:30.01S F # 101C Male 11-11 200 IM CWSL-LD 6 -26.25 45.79S F # 204C Male 11-11 50 Free CWSL-LD 4 1:23.88S F # 302C Male 11-11 200 Free CWSL-LD 3 -6.84 2:59.38S F # 304C Male 11-11 50 Back CWSL-LD 5 1:42.30S F # 3	NS	F	# 205B	Female 10-10 100 Free	CWSL-LD			
1:03.67S F # 404B Female 10-10 50 Breast CWSL-LD 17 52.84S F # 504B Female 10-10 50 Free CWSL-LD 28 2:08.71S F # 506B Female 10-10 100 Breast CWSL-LD 16 NS F # 604B Female 10-10 100 Back CWSL-LD Thomas Mouzannar (11) W 3:30.01S F # 101C Male 11-11 200 IM CWSL-LD 6 -26.25 45.79S F # 204C Male 11-11 50 Fly CWSL-LD 4 1:23.88S F # 206C Male 11-11 100 Free CWSL-LD 3 -6.84 2:59.38S F # 304C Male 11-11 50 Back CWSL-LD 5 45.77S F # 304C Male 11-11 100 IM CWSL-LD 8 -3.08 53.90S DQ F <td>NS</td> <td>F</td> <td># 303B</td> <td>Female 10-10 50 Back</td> <td>CWSL-LD</td> <td></td> <td></td> <td></td>	NS	F	# 303B	Female 10-10 50 Back	CWSL-LD			
52.84S F # 504B Female 10-10 50 Free CWSL-LD 28 2:08.71S F # 506B Female 10-10 100 Breast CWSL-LD 16 NS F # 604B Female 10-10 100 Back CWSL-LD Thomas Mouzannar (11) M 3:30.01S F # 101C Male 11-11 200 IM CWSL-LD 6 -26.25 45.79S F # 204C Male 11-11 50 Fly CWSL-LD 4 1:23.88S F # 206C Male 11-11 100 Free CWSL-LD 4 -6.84 2:59.38S F # 304C Male 11-11 50 Back CWSL-LD 3 -27.66 45.77S F # 304C Male 11-11 100 IM CWSL-LD 5 1:42.30S F # 304C Male 11-11 50 Breast CWSL-LD 8 1:56.38S F <td>NS</td> <td>F</td> <td># 305B</td> <td>Female 10-10 100 IM</td> <td>CWSL-LD</td> <td></td> <td></td> <td></td>	NS	F	# 305B	Female 10-10 100 IM	CWSL-LD			
2:08.71S F # 506B Female 10-10 100 Breast CWSL-LD 16	1:03.678	F	# 404B	Female 10-10 50 Breast	CWSL-LD	17		
NS F # 604B Female 10-10 100 Back CWSL-LD Thomas Mouzannar (11) M 3:30.01S F # 101C Male 11-11 200 IM CWSL-LD 6 -26.25 45.79S F # 204C Male 11-11 50 Fly CWSL-LD 4 1:23.88S F # 206C Male 11-11 100 Free CWSL-LD 4 -6.84 2:59.38S F # 302C Male 11-11 200 Free CWSL-LD 3 -27.66 45.77S F # 304C Male 11-11 50 Back CWSL-LD 5 1:42.30S F # 306C Male 11-11 100 IM CWSL-LD 8 -3.08 53.90S DQ F # 405C Male 11-11 50 Breast CWSL-LD 5 1:56.38S F # 505C Male 11-11 50 Free CWSL-LD 5 37.62S	52.84\$	F	# 504B	Female 10-10 50 Free	CWSL-LD	28		
Thomas Mouzannar (11) M 3:30.01S F # 101C Male 11-11 200 IM CWSL-LD 6 -26.25 45.79S F # 204C Male 11-11 50 Fly CWSL-LD 4 1:23.88S F # 206C Male 11-11 100 Free CWSL-LD 4 -6.84 2:59.38S F # 302C Male 11-11 200 Free CWSL-LD 3 -27.66 45.77S F # 304C Male 11-11 50 Back CWSL-LD 5 1:42.30S F # 306C Male 11-11 100 IM CWSL-LD 8 -3.08 53.90S DQ F # 403C Male 11-11 50 Breast CWSL-LD 5 1:56.38S F # 405C Male 11-11 100 Fly CWSL-LD 5 37.62S F # 503C Male 11-11 50 Free CWSL-LD 4	2:08.71S	F	# 506B	Female 10-10 100 Breast	CWSL-LD	16		
3:30.01S F # 101C Male 11-11 200 IM CWSL-LD 6 -26.25 45.79S F # 204C Male 11-11 50 Fly CWSL-LD 4 1:23.88S F # 206C Male 11-11 100 Free CWSL-LD 4 -6.84 2:59.38S F # 302C Male 11-11 200 Free CWSL-LD 3 -27.66 45.77S F # 304C Male 11-11 50 Back CWSL-LD 5 1:42.30S F # 306C Male 11-11 100 IM CWSL-LD 8 -3.08 53.90S DQ F # 403C Male 11-11 50 Breast CWSL-LD 1:56.38S F # 405C Male 11-11 100 Fly CWSL-LD 5 37.62S F # 503C Male 11-11 50 Free CWSL-LD 4 -2.36	NS	F	# 604B	Female 10-10 100 Back	CWSL-LD			
3:30.01S F # 101C Male 11-11 200 IM CWSL-LD 6 -26.25 45.79S F # 204C Male 11-11 50 Fly CWSL-LD 4 1:23.88S F # 206C Male 11-11 100 Free CWSL-LD 4 -6.84 2:59.38S F # 302C Male 11-11 200 Free CWSL-LD 3 -27.66 45.77S F # 304C Male 11-11 50 Back CWSL-LD 5 1:42.30S F # 306C Male 11-11 100 IM CWSL-LD 8 -3.08 53.90S DQ F # 403C Male 11-11 50 Breast CWSL-LD 1:56.38S F # 405C Male 11-11 100 Fly CWSL-LD 5 37.62S F # 503C Male 11-11 50 Free CWSL-LD 4 -2.36	Thomas Mo	uzannar (11)	M					
1:23.88S F # 206C Male 11-11 100 Free CWSL-LD 4 -6.84 2:59.38S F # 302C Male 11-11 200 Free CWSL-LD 3 -27.66 45.77S F # 304C Male 11-11 50 Back CWSL-LD 5 1:42.30S F # 306C Male 11-11 100 IM CWSL-LD 8 -3.08 53.90S DQ F # 403C Male 11-11 50 Breast CWSL-LD 1:56.38S F # 405C Male 11-11 100 Fly CWSL-LD 5 37.62S F # 503C Male 11-11 50 Free CWSL-LD 4 -2.36				Male 11-11 200 IM	CWSL-LD	6		-26.25
2:59.38S F #302C Male 11-11 200 Free CWSL-LD 3 -27.66 45.77S F #304C Male 11-11 50 Back CWSL-LD 5 1:42.30S F #306C Male 11-11 100 IM CWSL-LD 8 -3.08 53.90S DQ F #403C Male 11-11 50 Breast CWSL-LD 1:56.38S F #405C Male 11-11 100 Fly CWSL-LD 5 37.62S F #503C Male 11-11 50 Free CWSL-LD 4 -2.36	45.79S	F	# 204C	Male 11-11 50 Fly	CWSL-LD	4		
45.77S F #304C Male 11-11 50 Back CWSL-LD 5 1:42.30S F #306C Male 11-11 100 IM CWSL-LD 8 -3.08 53.90S DQ F #403C Male 11-11 50 Breast CWSL-LD 1:56.38S F #405C Male 11-11 100 Fly CWSL-LD 5 37.62S F #503C Male 11-11 50 Free CWSL-LD 4 -2.36	1:23.88\$	F	# 206C	Male 11-11 100 Free	CWSL-LD	4		-6.84
1:42.30S F #306C Male 11-11 100 IM CWSL-LD 8 -3.08 53.90S DQ F #403C Male 11-11 50 Breast CWSL-LD 1:56.38S F #405C Male 11-11 100 Fly CWSL-LD 5 37.62S F #503C Male 11-11 50 Free CWSL-LD 4 -2.36	2:59.38\$	F	# 302C	Male 11-11 200 Free	CWSL-LD	3		-27.66
53.90S DQ F #403C Male 11-11 50 Breast CWSL-LD 1:56.38S F #405C Male 11-11 100 Fly CWSL-LD 5 37.62S F #503C Male 11-11 50 Free CWSL-LD 4 -2.36	45.77S	F	# 304C	Male 11-11 50 Back	CWSL-LD	5		
53.90S DQ F #403C Male 11-11 50 Breast CWSL-LD 1:56.38S F #405C Male 11-11 100 Fly CWSL-LD 5 37.62S F #503C Male 11-11 50 Free CWSL-LD 4 -2.36	1:42.30S	F	# 306C	Male 11-11 100 IM	CWSL-LD	8		-3.08
1:56.38S F # 405C Male 11-11 100 Fly CWSL-LD 5 37.62S F # 503C Male 11-11 50 Free CWSL-LD 42.36	53.90S	DQ F	# 403C	Male 11-11 50 Breast	CWSL-LD			
			# 405C	Male 11-11 100 Fly	CWSL-LD	5		
1:39.23S F # 603C Male 11-11 100 Back CWSL-LD 6	37.62S	F	# 503C	Male 11-11 50 Free	CWSL-LD	4		-2.36
	1:39.238	F	# 603C	Male 11-11 100 Back	CWSL-LD	6		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	Event		Place	Points	Improv
Dalal Obaid (1	2) F					
3:03.83\$	F # 102D	Female 12-12 200 IM	CWSL-LD	7		-13.47
3:16.06S	F #104D	Female 12-12 200 Fly	CWSL-LD	4		-5.21
6:30.10S	F # 201D	Female 12-12 400 IM	CWSL-LD	5		-22.69
1:15.88\$	F # 205D	Female 12-12 100 Free	CWSL-LD	6		-1.59
2:43.26S	F #301D	Female 12-12 200 Free	CWSL-LD	4		-0.74
1:27.40S	F #305D	Female 12-12 100 IM	CWSL-LD	5		-1.33
5:44.51S	F #402D	Female 12-12 400 Free	CWSL-LD	4		-8.46
1:27.20S	F # 406D	Female 12-12 100 Fly	CWSL-LD	5		-1.75
3:02.60S	F #502D	Female 12-12 200 Back	CWSL-LD	4		-9.04
35.30S	F # 504D	Female 12-12 50 Free	CWSL-LD	7		-0.28
1:27.70S	F # 604D	Female 12-12 100 Back	CWSL-LD	4		-2.19
Josh O'Donnell	(12) M					
2:54.04\$	F #101D	Male 12-12 200 IM	CWSL-LD	3		-17.25
6:07.77S	F # 202D	Male 12-12 400 IM	CWSL-LD	1		
40.41S	F # 204D	Male 12-12 50 Fly	CWSL-LD	4		-5.73
1:13.00S	F # 206D	Male 12-12 100 Free	CWSL-LD	4		-2.68
2:34.37\$	F #302D	Male 12-12 200 Free	CWSL-LD	3		-7.75
36.518	F #304D	Male 12-12 50 Back	CWSL-LD	3		-2.37
1:22.698	F #306D	Male 12-12 100 IM	CWSL-LD	4		-5.27
5:19.79\$	F #401D	Male 12-12 400 Free	CWSL-LD	2		-23.18
43.84\$	F # 403D	Male 12-12 50 Breast	CWSL-LD	2		-1.26
1:44.31S	F #405D	Male 12-12 100 Fly	CWSL-LD	3		
2:46.75\$	F #501D	Male 12-12 200 Back	CWSL-LD	3		-12.36
33.88S	F #503D	Male 12-12 50 Free	CWSL-LD	5		-0.80
1:32.618	F #505D	Male 12-12 100 Breast	CWSL-LD	3		-3.80
3:20.78\$	F # 601D	Male 12-12 200 Breast	CWSL-LD	1		-9.70
1:21.83\$	F # 603D	Male 12-12 100 Back	CWSL-LD	3		-3.45
Maya Orfanidis	(11) F					
2:37.89\$	F # 102C	Female 11-11 200 IM	CWSL-LD	1		-6.50
31.98\$	F # 203C	Female 11-11 50 Fly	CWSL-LD	1		-1.49
1:03.538	F # 205C	Female 11-11 100 Free	CWSL-LD	1		-1.19
2:19.46\$	F #301C	Female 11-11 200 Free	CWSL-LD	1		-3.72
34.00S	F #303C	Female 11-11 50 Back	CWSL-LD	1		-0.01
1:14.72S	F #305C	Female 11-11 100 IM	CWSL-LD	1		-1.60
39.29S	F # 404C	Female 11-11 50 Breast	CWSL-LD	1		-0.91
1:12.91S	F # 406C	Female 11-11 100 Fly	CWSL-LD	1		-3.11
29.36S	F # 504C	Female 11-11 50 Free	CWSL-LD	1		-0.02
1:28.24S	F #506C	Female 11-11 100 Breast	CWSL-LD	1		0.49
1:11.83S	F # 604C	Female 11-11 100 Back	CWSL-LD	1		-1.58

Time	F/P/S	5	Event		Place	Points	Improv
Vittoria Orland	i (10) F						
31.63S DO	Q F	# 203B	Female 10-10 50 Fly	CWSL-LD			
1:54.77S	F	# 205B	Female 10-10 100 Free	CWSL-LD	18		
56.24S	F	# 303B	Female 10-10 50 Back	CWSL-LD	21		
2:08.80S	F	# 305B	Female 10-10 100 IM	CWSL-LD	19		
1:01.47S	F	# 404B	Female 10-10 50 Breast	CWSL-LD	15		
47.08S	F	# 504B	Female 10-10 50 Free	CWSL-LD	23		
Emi Ozawa (11) F						
58.41S	F	# 203C	Female 11-11 50 Fly	CWSL-LD	19		1.86
1:46.05S	F	# 205C	Female 11-11 100 Free	CWSL-LD	21		
3:56.84\$	F	# 301C	Female 11-11 200 Free	CWSL-LD	20		
57.47S	F	# 303C	Female 11-11 50 Back	CWSL-LD	23		0.16
2:04.54S	F	# 305C	Female 11-11 100 IM	CWSL-LD	21		
1:03.08S	F	# 404C	Female 11-11 50 Breast	CWSL-LD	18		-5.25
2:16.08S DO	Q F	# 406C	Female 11-11 100 Fly	CWSL-LD			
50.62S	F	# 504C	Female 11-11 50 Free	CWSL-LD	22		-3.15
2:19.17S	F	# 506C	Female 11-11 100 Breast	CWSL-LD	16		
Delilah Paisley	(13) F						
31.35S		# 203E	Female 13-13 50 Fly	CWSL-LD	1		
1:05.458	F	# 205E	Female 13-13 100 Free	CWSL-LD	1		
2:20.90S	F	# 301E	Female 13-13 200 Free	CWSL-LD	1		
33.80S	F	# 303E	Female 13-13 50 Back	CWSL-LD	1		
1:15.218	F	# 305E	Female 13-13 100 IM	CWSL-LD	1		
1:13.47\$	F	# 406E	Female 13-13 100 Fly	CWSL-LD	1		
2:30.84\$	F	# 502E	Female 13-13 200 Back	CWSL-LD	1		
30.03S	F	# 504E	Female 13-13 50 Free	CWSL-LD	2		
NS	F	# 604E	Female 13-13 100 Back	CWSL-LD			
Tallulah Paisley	7 (19) F						
28.39S		# 203G	Female 15 & Over 50 Fly	CWSL-LD	2		0.14
1:00.47S	F	# 205G	Female 15 & Over 100 Free	CWSL-LD	2		0.74
31.24S	F	# 303G	Female 15 & Over 50 Back	CWSL-LD	1		0.24
1:09.76S	F	# 305G	Female 15 & Over 100 IM	CWSL-LD	2		3.35
1:05.15S	F	# 406G	Female 15 & Over 100 Fly	CWSL-LD	2		-1.75
27.54S		# 504G	Female 15 & Over 50 Free	CWSL-LD	1		0.26
1:09.458	F	# 604G	Female 15 & Over 100 Back	CWSL-LD	3		-1.32
Tomas Parakev	ics (11) M	ī					
1:04.27\$		# 403C	Male 11-11 50 Breast	CWSL-LD	10		
1:01.52S		# 503C	Male 11-11 50 Free	CWSL-LD	12		
Beatrix Parker							
NS		# 203A	Female 9 & Under 50 Fly	CWSL-LD			
NS		# 205A	Female 9 & Under 100 Free	CWSL-LD			
NS		# 203A # 303A	Female 9 & Under 100 Free Female 9 & Under 50 Back	CWSL-LD			
NS		# 305A # 305A	Female 9 & Under 100 IM	CWSL-LD			
CNI	Г	# 303A	remaie 3 & under 100 IM	CAA 2T-FD			

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P	/S	;	Event		Place	Points	Improv
Liliana Pat (Gordon (9)	F						
50.698	()	F	# 203A	Female 9 & Under 50 Fly	CWSL-LD	2		-5.96
1:38.26\$		F	# 205A	Female 9 & Under 100 Free	CWSL-LD	1		-7.51
3:41.718		F	# 301A	Female 9 & Under 200 Free	CWSL-LD	2		
51.75S		F	# 303A	Female 9 & Under 50 Back	CWSL-LD	4		
1:55.418		F	# 305A	Female 9 & Under 100 IM	CWSL-LD	3		
1:04.60S		F	# 404A	Female 9 & Under 50 Breast	CWSL-LD	5		
1:59.27S		F	# 406A	Female 9 & Under 100 Fly	CWSL-LD	1		
3:56.70S		F	# 502A	Female 9 & Under 200 Back	CWSL-LD	1		
43.87S		F	# 504A	Female 9 & Under 50 Free	CWSL-LD	1		-4.42
1:47.18\$		F	# 604A	Female 9 & Under 100 Back	CWSL-LD	1		-11.16
Laetitia Per	elgritz (9)	F						
53.11S		F	# 203A	Female 9 & Under 50 Fly	CWSL-LD	4		
1:41.65\$		F	# 205A	Female 9 & Under 100 Free	CWSL-LD	4		
50.88S		F	# 303A	Female 9 & Under 50 Back	CWSL-LD	2		
1:52.58S	DQ	F	# 305A	Female 9 & Under 100 IM	CWSL-LD			
56.66S		F	# 404A	Female 9 & Under 50 Breast	CWSL-LD	2		
Imogen Peri	ryman (11)	F						
3:15.918		F	# 102C	Female 11-11 200 IM	CWSL-LD	6		-4.94
6:06.78\$		F	# 402C	Female 11-11 400 Free	CWSL-LD	8		-4.48
49.49S		F	# 404C	Female 11-11 50 Breast	CWSL-LD	9		-0.35
1:42.58\$		F	# 406C	Female 11-11 100 Fly	CWSL-LD	7		-2.50
3:12.40S		F	# 502C	Female 11-11 200 Back	CWSL-LD	7		6.59
36.55S		F	# 504C	Female 11-11 50 Free	CWSL-LD	9		0.31
1:53.64\$		F	# 506C	Female 11-11 100 Breast	CWSL-LD	11		-2.25
3:54.75S		F	# 602C	Female 11-11 200 Breast	CWSL-LD	10		11.76
1:33.958		F	# 604C	Female 11-11 100 Back	CWSL-LD	10		2.82
Giulia Pinna	(10) F							
53.498		F	# 504B	Female 10-10 50 Free	CWSL-LD	29		-2.48
2:17.55\$		F	# 506B	Female 10-10 100 Breast	CWSL-LD	20		-7.54
Raiden Pint	o (15) M							
2:29.87\$		F	# 101G	Male 15 & Over 200 IM	CWSL-LD	12		-3.01
30.06S		F	# 204G	Male 15 & Over 50 Fly	CWSL-LD	14		0.46
59.19S	DQ	F	# 206G	Male 15 & Over 100 Free	CWSL-LD			
30.92S		F	# 304G	Male 15 & Over 50 Back	CWSL-LD	9		0.27
32.54S		F	# 403G	Male 15 & Over 50 Breast	CWSL-LD	4		-0.05
26.12S		F	# 503G	Male 15 & Over 50 Free	CWSL-LD	8		0.19
1:14.76S		F	# 505G	Male 15 & Over 100 Breast	CWSL-LD	3		
2:46.09\$		F	# 601G	Male 15 & Over 200 Breast	CWSL-LD	2		-0.60

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Rogan Pinto (17) M 2:41.965 F # 1016 Male 15 & Over 200 IM CWSL-LD 13 3.0.618 F # 2046 Male 15 & Over 100 Free CWSL-LD 14 1:04.998 F # 2066 Male 15 & Over 100 Free CWSL-LD 14 32.595 F # 3046 Male 15 & Over 50 Back CWSL-LD 14 37.208 F # 4036 Male 15 & Over 50 Back CWSL-LD 7 26.898 F # 5036 Male 15 & Over 50 Freast CWSL-LD 7 DQ F # 2048 Male 15 & Over 50 Free CWSL-LD 7 48.648 F # 3048 Male 10-10 50 Fly CWSL-LD 48.648 F # 3048 Male 10-10 50 Back CWSL-LD 3 53.175 F # 3088 Male 10-10 50 Free CWSL-LD 3 53.175 F # 3088 Male 10-10 50 Free CWSL-LD 3 53.25715 F # 1016 Male 11-11 200 IM CWSL-LD 3 7.728125 DQ F # 2020 Male 11-11 400 IM CWSL-LD 3 7.728125 DQ F # 2020 Male 11-11 50 Fly CWSL-LD 3 1.27488 F # 2060 Male 11-11 50 Fly CWSL-LD 3 1.27489 F # 3060 Male 11-11 50 Free CWSL-LD 7 1.27480 F # 3060 Male 11-11 100 Free CWSL-LD 7 NS F # 3060 Male 11-11 400 Free CWSL-LD 7 NS F # 3060 Male 11-11 50 Free CWSL-LD	Time	F/P/S		Event		Place	Points	Improv
30.61S	Rogan Pinto (17	') M						
1:04.98S	2:41.96S	F #	101G	Male 15 & Over 200 IM	CWSL-LD	13		
32.59S	30.61S	F #	204G	Male 15 & Over 50 Fly	CWSL-LD	15		0.03
37.20S	1:04.98S	F #	206G	Male 15 & Over 100 Free	CWSL-LD	14		5.53
Athanasios Pipilis (10) M	32.59S	F #	304G	Male 15 & Over 50 Back	CWSL-LD	14		0.84
Athanasios Pipilis (10) M DQ F #204B Male 10-10 50 Fly CWSL-LD 48.64S F #304B Male 10-10 50 Back CWSL-LD 3 53.17S F #403B Male 10-10 50 Breast CWSL-LD 2 38.40S F #503B Male 10-10 50 Free CWSL-LD 1 Ethan Pitoun (11) W 3:25.71S F #101C Male 11-11 200 IM CWSL-LD 3 -4.79 7:28.12S DQ F #202C Male 11-11 50 Fly CWSL-LD 8 -4.79 7:28.12S DQ F #204C Male 11-11 50 Fly CWSL-LD 8 -4.79 7:28.12S DQ F #204C Male 11-11 100 Free CWSL-LD 7 1.65 31.40S F #300C Male 11-11 100 Free CWSL-LD 7 1.026 31.3761S F #401C Male 13-11 50 Free CWSL-LD	37.20S	F #	403G	Male 15 & Over 50 Breast	CWSL-LD	7		0.52
DQ F # 204B Male 10-10 50 Fly CWSL-LD 48.64S F # 304B Male 10-10 50 Back CWSL-LD 3 53.17S F # 403B Male 10-10 50 Breast CWSL-LD 2 Standard Fibrary Back CWSL-LD 2 Standard Fibrary Back CWSL-LD 1 7:28.12S DQ F # 202C Male 11-11 400 IM CWSL-LD 3 7:28.12S DQ F # 202C Male 11-11 50 Fly CWSL-LD 51.40S F # 204C Male 11-11 100 Free CWSL-LD <	26.89S	F #	503G	Male 15 & Over 50 Free	CWSL-LD	12		0.66
DQ F # 204B Male 10-10 50 Fly CWSL-LD 48.64S F # 304B Male 10-10 50 Back CWSL-LD 3 53.17S F # 403B Male 10-10 50 Breast CWSL-LD 2 Standard Fibrary Back CWSL-LD 2 Standard Fibrary Back CWSL-LD 1 7:28.12S DQ F # 202C Male 11-11 400 IM CWSL-LD 3 7:28.12S DQ F # 202C Male 11-11 50 Fly CWSL-LD 51.40S F # 204C Male 11-11 100 Free CWSL-LD <	Athanasios Pipil	is (10) M						
53.17S F # 403B Male 10-10 50 Breast CWSL-LD 2 Balan Pitoun (11) W 3:25.71S F # 101C Male 11-11 200 IM CWSL-LD 3 -4.79 7:28.12S DQ F # 202C Male 11-11 50 Fly CWSL-LD 51.40S F # 204C Male 11-11 50 Fly CWSL-LD 8 51.40S F # 206C Male 11-11 50 Fly CWSL-LD 8 51.40S F # 206C Male 11-11 200 Free CWSL-LD 7 51.40S F # 302C Male 11-11 100 Free CWSL-LD 7			204B	Male 10-10 50 Fly	CWSL-LD			
Sethan Pitoun (11) Sethan	48.64S	F #	304B	Male 10-10 50 Back	CWSL-LD	3		
ERhan Pitoun (11) W 3:25.71S F # 101C Male 11-11 200 IM CWSL-LD 3 4-479 7:28.12S DQ F # 202C Male 11-11 400 IM CWSL-LD 51.40S F # 204C Male 11-11 50 Fly CWSL-LD 8 8.01 1:27.48S F # 206C Male 11-11 100 Free CWSL-LD 7 1.65 3:02.19S F # 302C Male 11-11 200 Free CWSL-LD 4 7.33 1:37.61S F # 306C Male 11-11 100 IM CWSL-LD 5 -10.26 NS F # 401C Male 11-11 50 Free CWSL-LD NS F # 403C Male 11-11 50 Free CWSL-LD NS F # 503C Male 11-11 50 Free CWSL-LD NS F # 503C Male 11-11 100 Breast CWSL-LD NS F # 503C<	53.17S	F #	403B	Male 10-10 50 Breast	CWSL-LD	2		
3:25.71S F # 101C Male 11-11 200 IM CWSL-LD 3 -4.79 7:28.12S DQ F # 202C Male 11-11 400 IM CWSL-LD 51.40S F # 204C Male 11-11 50 Fly CWSL-LD 8 8.01 1:27.48S F # 206C Male 11-11 100 Free CWSL-LD 7 1.65 3:02.19S F # 302C Male 11-11 200 Free CWSL-LD 4 -7.33 1:37.61S F # 306C Male 11-11 400 Free CWSL-LD 5 -10.26 NS F # 401C Male 11-11 50 Free CWSL-LD NS F # 401C Male 11-11 50 Free CWSL-LD NS F # 503C Male 11-11 50 Free CWSL-LD NS F # 505C Male 11-11 100 Breast CWSL-LD NS F # 505C Male 13-13 100 Free	38.40S	F #	503B	Male 10-10 50 Free	CWSL-LD	1		
3:25.71S F # 101C Male 11-11 200 IM CWSL-LD 3 -4.79 7:28.12S DQ F # 202C Male 11-11 400 IM CWSL-LD 51.40S F # 204C Male 11-11 50 Fly CWSL-LD 8 8.01 1:27.48S F # 206C Male 11-11 100 Free CWSL-LD 7 1.65 3:02.19S F # 302C Male 11-11 200 Free CWSL-LD 4 -7.33 1:37.61S F # 306C Male 11-11 400 Free CWSL-LD 5 -10.26 NS F # 401C Male 11-11 50 Free CWSL-LD NS F # 401C Male 11-11 50 Free CWSL-LD NS F # 503C Male 11-11 50 Free CWSL-LD NS F # 505C Male 11-11 100 Breast CWSL-LD NS F # 505C Male 13-13 100 Free	Ethan Pitoun (1	1) M						
51.40S F # 204C Male 11-11 50 Fly CWSL-LD 8 8.01 1:27.48S F # 206C Male 11-11 100 Free CWSL-LD 7 1.65 3:02.19S F # 302C Male 11-11 200 Free CWSL-LD 4 -7.33 1:37.61S F # 306C Male 11-11 100 IM CWSL-LD 5 -10.26 NS F # 401C Male 11-11 50 Free CWSL-LD <			101C	Male 11-11 200 IM	CWSL-LD	3		-4.79
1:27.48S F # 206C Male 11-11 100 Free CWSL-LD 7 1.65 3:02.19S F # 302C Male 11-11 200 Free CWSL-LD 4 -7.33 1:37.61S F # 306C Male 11-11 100 IM CWSL-LD 5 -10.26 NS F # 401C Male 11-11 400 Free CWSL-LD NS F # 403C Male 11-11 50 Breast CWSL-LD <t< td=""><td>7:28.12S DQ</td><td>F #</td><td>202C</td><td>Male 11-11 400 IM</td><td>CWSL-LD</td><td></td><td></td><td></td></t<>	7:28.12S DQ	F #	202C	Male 11-11 400 IM	CWSL-LD			
3:02.19S F # 302C Male 11-11 200 Free CWSL-LD 4 -7.33 1:37.61S F # 306C Male 11-11 100 IM CWSL-LD 5 -10.26 NS F # 401C Male 11-11 50 Breast CWSL-LD NS F # 503C Male 11-11 50 Free CWSL-LD NS F # 503C Male 11-11 100 Breast CWSL-LD NS F # 505C Male 11-11 100 Breast CWSL-LD NS F # 603C Male 11-11 100 Breast CWSL-LD	51.40S	F #	204C	Male 11-11 50 Fly	CWSL-LD	8		8.01
1:37.61S F # 306C Male 11-11 100 IM CWSL-LD 5 -10.26 NS F # 401C Male 11-11 400 Free CWSL-LD NS F # 403C Male 11-11 50 Free CWSL-LD NS F # 505C Male 11-11 100 Breast CWSL-LD	1:27.48\$	F #	206C	Male 11-11 100 Free	CWSL-LD	7		1.65
NS F #401C Male 11-11 400 Free CWSL-LD NS F #403C Male 11-11 50 Breast CWSL-LD	3:02.19S	F #	302C	Male 11-11 200 Free	CWSL-LD	4		-7.33
NS F #403C Male 11-11 50 Breast CWSL-LD NS F #503C Male 11-11 50 Free CWSL-LD NS F #505C Male 11-11 100 Breast CWSL-LD NS F #603C Male 11-11 100 Back CWSL-LD	1:37.61S	F #	306C	Male 11-11 100 IM	CWSL-LD	5		-10.26
NS F # 503C Male 11-11 50 Free CWSL-LD	NS	F #	401C	Male 11-11 400 Free	CWSL-LD			
NS F #505C Male 11-11 100 Breast CWSL-LD	NS	F #	403C	Male 11-11 50 Breast	CWSL-LD			
NS F # 603C Male 11-11 100 Back CWSL-LD	NS	F #	503C	Male 11-11 50 Free	CWSL-LD			
Benjamin Podurgiel (13) M 2:37.02S F #103E Male 13-13 200 Fly CWSL-LD 1 2:17.13S F #302E Male 13-13 200 Free CWSL-LD 2 -5.65 31.59S F #304E Male 13-13 50 Back CWSL-LD 1 -2.38 1:09.69S F #306E Male 13-13 100 IM CWSL-LD 1 -4.51 4:37.23S F #401E Male 13-13 400 Free CWSL-LD 1 -18.41 35.51S F #403E Male 13-13 50 Breast CWSL-LD 1 -3.73	NS	F #	505C	Male 11-11 100 Breast	CWSL-LD			
2:37.02S F # 103E Male 13-13 200 Fly CWSL-LD 1 2:17.13S F # 302E Male 13-13 200 Free CWSL-LD 2 -5.65 31.59S F # 304E Male 13-13 50 Back CWSL-LD 1 -2.38 1:09.69S F # 306E Male 13-13 100 IM CWSL-LD 1 -4.51 4:37.23S F # 401E Male 13-13 400 Free CWSL-LD 1 -18.41 35.51S F # 403E Male 13-13 50 Breast CWSL-LD 1 -3.73	NS	F #	603C	Male 11-11 100 Back	CWSL-LD			
2:17.13S F # 302E Male 13-13 200 Free CWSL-LD 2 -5.65 31.59S F # 304E Male 13-13 50 Back CWSL-LD 1 -2.38 1:09.69S F # 306E Male 13-13 100 IM CWSL-LD 1 -4.51 4:37.23S F # 401E Male 13-13 400 Free CWSL-LD 1 -18.41 35.51S F # 403E Male 13-13 50 Breast CWSL-LD 1 -3.73	Benjamin Podur	giel (13) M	I					
31.59S F # 304E Male 13-13 50 Back CWSL-LD 1 -2.38 1:09.69S F # 306E Male 13-13 100 IM CWSL-LD 1 -4.51 4:37.23S F # 401E Male 13-13 400 Free CWSL-LD 1 -18.41 35.51S F # 403E Male 13-13 50 Breast CWSL-LD 1 -3.73	2:37.02S	F #	103E	Male 13-13 200 Fly	CWSL-LD	1		
1:09.69S F # 306E Male 13-13 100 IM CWSL-LD 1 -4.51 4:37.23S F # 401E Male 13-13 400 Free CWSL-LD 1 -18.41 35.51S F # 403E Male 13-13 50 Breast CWSL-LD 1 -3.73	2:17.13\$	F #	302E	Male 13-13 200 Free	CWSL-LD	2		-5.65
4:37.23S F # 401E Male 13-13 400 Free CWSL-LD 1 -18.41 35.51S F # 403E Male 13-13 50 Breast CWSL-LD 1 -3.73	31.598	F #	304E	Male 13-13 50 Back	CWSL-LD	1		-2.38
35.51S F # 403E Male 13-13 50 Breast CWSL-LD 13.73	1:09.69S	F #	306E	Male 13-13 100 IM	CWSL-LD	1		-4.51
	4:37.23\$	F #	401E	Male 13-13 400 Free	CWSL-LD	1		-18.41
1.11.01S F # 40FF Mole 12.12.100 Fby CWSLID 2	35.51S	F #	403E	Male 13-13 50 Breast	CWSL-LD	1		-3.73
1.11.715 r # 405E Male 15-15 100 riy CW5L-LD 25./0	1:11.918	F #	405E	Male 13-13 100 Fly	CWSL-LD	2		-5.70

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Luke Pryce-Jones (13) M	Time	F/P/S	Event		Place	Points	Improv
5.20.555	Luke Pryce-Jon	nes (13) M					
30.51S	2:30.37\$	F #101E	Male 13-13 200 IM	CWSL-LD	1		-6.34
1:02.52S	5:20.55S	F #202E	Male 13-13 400 IM	CWSL-LD	1		-15.15
2:13.78S F # 302E Male 13-13 200 Free CWSL-LD 1	30.51S	F #204E	Male 13-13 50 Fly	CWSL-LD	1		-1.19
33.82S	1:02.52\$	F # 206E	Male 13-13 100 Free	CWSL-LD	1		-1.15
4:38.40S	2:13.78\$	F #302E	Male 13-13 200 Free	CWSL-LD	1		-4.60
1.07.788	33.82S	F #304E	Male 13-13 50 Back	CWSL-LD	3		-2.55
2:30.07S F # 501E Male 13·13 200 Back CWSL-LD 1	4:38.40S	F # 401E	Male 13-13 400 Free	CWSL-LD	2		-7.64
28.81S	1:07.78\$	F # 405E	Male 13-13 100 Fly	CWSL-LD	1		-6.32
1:22.06S	2:30.07S	F #501E	Male 13-13 200 Back	CWSL-LD	1		-8.90
2:57.28S F # 601E Male 13-13 200 Breast CWSL-LD 1 4-67 NS F # 603E Male 13-13 100 Back CWSL-LD Kenza Puccia (10) F NS F # 203B Female 10-10 50 Fty CWSL-LD NS F # 303B Female 10-10 50 Back CWSL-LD NS F # 303B Female 10-10 100 IM CWSL-LD NS F # 303B Female 10-10 100 Breast CWSL-LD NS F # 504B Female 10-10 100 Breast CWSL-LD 19 45.60S F # 504B Female 10-10 100 Breast CWSL-LD 19 2:17.53E F # 506B Female 10-10 100 Back CWSL-LD 19 Ariesta Radzwill	28.81S	F #503E	Male 13-13 50 Free	CWSL-LD	1		-0.52
NS	1:22.06S	F #505E	Male 13-13 100 Breast	CWSL-LD	1		-4.08
NS	2:57.28\$	F #601E	Male 13-13 200 Breast	CWSL-LD	1		-4.67
NS F # 203B Female 10-10 50 Fly CWSL-LD	NS	F #603E	Male 13-13 100 Back	CWSL-LD			
NS F # 203B Female 10-10 50 Fly CWSL-LD	Kenza Puccia ((10) F					
NS F # 303B Female 10-10 50 Back CWSL-LD NS F # 305B Female 10-10 100 IM CWSL-LD NS F # 404B Female 10-10 50 Breast CWSL-LD 20 45.60S F # 506B Female 10-10 100 Breast CWSL-LD 19 2:17.53S F # 504B Female 10-10 100 Back CWSL-LD 19 NS F # 604B Female 10-10 100 Back CWSL-LD 19 Arietta Radziwill (9) F Female 9 & Under 20 Free CWSL-LD 7 Arietta Radziwill (9) F # 205A Female 9 & Under 50 Fty CWSL-LD 7 Arietta Radziwill (1) F # 205A Female 9 & Under 50 Fty CWSL-LD 3 57.86S F # 301A Female 9 & Under 50 Fty			Female 10-10 50 Fly	CWSL-LD			
NS F # 305B Female 10-10 100 IM CWSL-LD NS F # 404B Female 10-10 50 Breast CWSL-LD 45.60S F # 504B Female 10-10 100 Breast CWSL-LD 19 2:17.53S F # 506B Female 10-10 100 Back CWSL-LD 19 NS F # 604B Female 10-10 100 Back CWSL-LD 19 Arietta Radziwill (9) F # 604B Female 9& Under 50 Fly CWSL-LD 7 Arietta Radziwill (9) F # 203A Female 9& Under 50 Fly CWSL-LD 7 Arietta Radziwill (9) F # 203A Female 9& Under 100 Free CWSL-LD 7 Arietta Radziwill (9) F # 305A Female 9& Under 100 Free CWSL-LD <	NS	F # 205B	Female 10-10 100 Free	CWSL-LD			
NS F # 404B Female 10-10 50 Breast CWSL-LD 45.60S F # 504B Female 10-10 100 Breast CWSL-LD 20 2:17.53S F # 506B Female 10-10 100 Breast CWSL-LD 19 NS F # 604B Female 10-10 100 Back CWSL-LD 19 Arietta Radziwill (9) F F # 203A Female 9 & Under 50 Fly CWSL-LD 7 57.86S F # 203A Female 9 & Under 100 Free CWSL-LD 5 1.45.44S F # 205A Female 9 & Under 200 Free CWSL-LD 3 3.47.53S F # 301A Female 9 & Under 100 IM CWSL-LD 7 NS F # 305A Female 9 & Under 100 Breast CWSL-LD 3 2:08.41S	NS	F #303B	Female 10-10 50 Back	CWSL-LD			
45.60S F #504B Female 10-10 50 Free CWSL-LD 20 2:17.53S F #506B Female 10-10 100 Breast CWSL-LD 19 NS F #604B Female 10-10 100 Back CWSL-LD NS F #604B Female 10-10 100 Back CWSL-LD	NS	F #305B	Female 10-10 100 IM	CWSL-LD			
2:17.53S F # 506B Female 10-10 100 Breast CWSL-LD 19 <th< td=""><td>NS</td><td>F #404B</td><td>Female 10-10 50 Breast</td><td>CWSL-LD</td><td></td><td></td><td></td></th<>	NS	F #404B	Female 10-10 50 Breast	CWSL-LD			
NS F # 604B Female 10-10 100 Back CWSL-LD Arietta Radziwill (9) F F # 203A Female 9 & Under 50 Fly CWSL-LD 7 1:45.44S F # 205A Female 9 & Under 100 Free CWSL-LD 5 3:47.53S F # 301A Female 9 & Under 200 Free CWSL-LD 3 54.53S F # 303A Female 9 & Under 50 Back CWSL-LD 7 NS F # 305A Female 9 & Under 100 IM CWSL-LD 44.92S F # 504A Female 9 & Under 100 Breast CWSL-LD 3 2:08.41S F # 506A Female 9 & Under 100 Breast CWSL-LD 4 1:55.36S F # 203C Female 11-11 50 Fly CWSL-LD 18 -5.47 1:37.87S F # 203C Female	45.60S	F #504B	Female 10-10 50 Free	CWSL-LD	20		
Arietta Radziwill (9) F 57.86S F # 203A Female 9 & Under 50 Fly CWSL-LD 7 1:45.44S F # 205A Female 9 & Under 100 Free CWSL-LD 5 3:47.53S F # 301A Female 9 & Under 200 Free CWSL-LD 3 54.53S F # 305A Female 9 & Under 50 Back CWSL-LD 7 NS F # 305A Female 9 & Under 100 IM CWSL-LD 3 44.92S F # 504A Female 9 & Under 100 Breast CWSL-LD 3 2:08.41S F # 506A Female 9 & Under 100 Breast CWSL-LD 2 1:55.36S F # 506A Female 9 & Under 100 Back CWSL-LD 4 58.36S F # 203C Female 11-11 50 Fly CWSL-LD 18 5.47 1:37.87S	2:17.53\$	F #506B	Female 10-10 100 Breast	CWSL-LD	19		
57.86S F # 203A Female 9 & Under 50 Fly CWSL-LD 7 1:45.44S F # 205A Female 9 & Under 100 Free CWSL-LD 5 3:47.53S F # 301A Female 9 & Under 200 Free CWSL-LD 7 54.53S F # 303A Female 9 & Under 50 Back CWSL-LD 7 NS F # 305A Female 9 & Under 100 IM CWSL-LD 3 44.92S F # 504A Female 9 & Under 100 Breast CWSL-LD 3 2:08.41S F # 506A Female 9 & Under 100 Back CWSL-LD 4 1:55.36S F # 604A Female 9 & Under 100 Back CWSL-LD 4 Eugenie Radziwill (11) F ** ** ** ** ** ** ** ** ** ** ** ** **<	NS	F # 604B	Female 10-10 100 Back	CWSL-LD			
57.86S F # 203A Female 9 & Under 50 Fly CWSL-LD 7 1:45.44S F # 205A Female 9 & Under 100 Free CWSL-LD 5 3:47.53S F # 301A Female 9 & Under 200 Free CWSL-LD 7 54.53S F # 303A Female 9 & Under 50 Back CWSL-LD 7 NS F # 305A Female 9 & Under 100 IM CWSL-LD 3 44.92S F # 504A Female 9 & Under 100 Breast CWSL-LD 3 2:08.41S F # 506A Female 9 & Under 100 Back CWSL-LD 4 1:55.36S F # 604A Female 9 & Under 100 Back CWSL-LD 4 Eugenie Radziwill (11) F ** ** ** ** ** ** ** ** ** ** ** ** **<	Arietta Radziw	rill (9) F					
1:45.44S F # 205A Female 9 & Under 100 Free CWSL-LD 5 3:47.53S F # 301A Female 9 & Under 200 Free CWSL-LD 3 54.53S F # 303A Female 9 & Under 50 Back CWSL-LD 7 NS F # 305A Female 9 & Under 100 IM CWSL-LD 44.92S F # 504A Female 9 & Under 50 Free CWSL-LD 3 2:08.41S F # 506A Female 9 & Under 100 Breast CWSL-LD 2 1:55.36S F # 604A Female 9 & Under 100 Back CWSL-LD 4 Eugenie Radziwill (11) F # 604A Female 9 & Under 100 Back CWSL-LD 4 58.36S F # 203C Female 11-11 50 Fly CWSL-LD 18 -5.47 1:37.87S F # 205C Female 11-11 200 Free CWSL-LD 16 -8.36			Female 9 & Under 50 Fly	CWSL-LD	7		
54.53S F # 303A Female 9 & Under 50 Back CWSL-LD 7 NS F # 305A Female 9 & Under 100 IM CWSL-LD 44.92S F # 504A Female 9 & Under 50 Free CWSL-LD 3 2:08.41S F # 506A Female 9 & Under 100 Breast CWSL-LD 2 1:55.36S F # 604A Female 9 & Under 100 Back CWSL-LD 4 Eugenie Radziwill (11) F F * 203C Female 11-11 50 Fly CWSL-LD 18 -5.47 1:37.87S F # 205C Female 11-11 100 Free CWSL-LD 18 -5.47 1:37.87S F # 301C Female 11-11 200 Free CWSL-LD 16 -8.36 49.11S F # 303C Female 11-11 50 Back CWSL-LD 19 NS F # 504C Female 11-11 200 Back CWSL-LD 8 3:42.	1:45.44\$	F # 205A	•	CWSL-LD	5		
NS F #305A Female 9 & Under 100 IM CWSL-LD 44.92S F #504A Female 9 & Under 50 Free CWSL-LD 3	3:47.53\$	F #301A	Female 9 & Under 200 Free	CWSL-LD	3		
44.92S F # 504A Female 9 & Under 50 Free CWSL-LD 3 2:08.41S F # 506A Female 9 & Under 100 Breast CWSL-LD 2 1:55.36S F # 604A Female 9 & Under 100 Back CWSL-LD 4 Eugenie Radziwill (11) F 58.36S F # 203C Female 11-11 50 Fly CWSL-LD 18 -5.47 1:37.87S F # 205C Female 11-11 100 Free CWSL-LD 18 1.43 3:30.38S F # 301C Female 11-11 200 Free CWSL-LD 16 -8.36 49.11S F # 303C Female 11-11 50 Back CWSL-LD 19 NS F # 305C Female 11-11 100 IM CWSL-LD 8 3:42.68S F # 504C Female 11-11 50 Free CWSL-LD 19 43.40S F # 504C Female 11-11 100 Breast CWSL-LD 15 -3.74 <td>54.53S</td> <td>F #303A</td> <td>Female 9 & Under 50 Back</td> <td>CWSL-LD</td> <td>7</td> <td></td> <td></td>	54.53S	F #303A	Female 9 & Under 50 Back	CWSL-LD	7		
2:08.41S F # 506A Female 9 & Under 100 Breast CWSL-LD 2 1:55.36S F # 604A Female 9 & Under 100 Back CWSL-LD 4 Eugenie Radziwill (11) F F S	NS	F #305A	Female 9 & Under 100 IM	CWSL-LD			
1:55.36S F # 604A Female 9 & Under 100 Back CWSL-LD 4 Eugenie Radziwill (11) F 58.36S F # 203C Female 11-11 50 Fly CWSL-LD 18 -5.47 1:37.87S F # 205C Female 11-11 100 Free CWSL-LD 18 1.43 3:30.38S F # 301C Female 11-11 200 Free CWSL-LD 16 -8.36 49.11S F # 303C Female 11-11 50 Back CWSL-LD 19 NS F # 305C Female 11-11 100 IM CWSL-LD 3:42.68S F # 502C Female 11-11 200 Back CWSL-LD 8 43.40S F # 504C Female 11-11 50 Free CWSL-LD 19 -3.74 2:14.03S F # 506C Female 11-11 100 Breast CWSL-LD 15	44.92S	F #504A	Female 9 & Under 50 Free	CWSL-LD	3		
1:55.36S F # 604A Female 9 & Under 100 Back CWSL-LD 4 Eugenie Radziwill (11) F 58.36S F # 203C Female 11-11 50 Fly CWSL-LD 18 -5.47 1:37.87S F # 205C Female 11-11 100 Free CWSL-LD 18 1.43 3:30.38S F # 301C Female 11-11 200 Free CWSL-LD 16 -8.36 49.11S F # 303C Female 11-11 50 Back CWSL-LD 19 NS F # 305C Female 11-11 100 IM CWSL-LD 3:42.68S F # 502C Female 11-11 200 Back CWSL-LD 8 43.40S F # 504C Female 11-11 50 Free CWSL-LD 19 -3.74 2:14.03S F # 506C Female 11-11 100 Breast CWSL-LD 15	2:08.41S	F #506A	Female 9 & Under 100 Breast	CWSL-LD	2		
58.36S F # 203C Female 11-11 50 Fly CWSL-LD 18 -5.47 1:37.87S F # 205C Female 11-11 100 Free CWSL-LD 18 1.43 3:30.38S F # 301C Female 11-11 200 Free CWSL-LD 16 -8.36 49.11S F # 303C Female 11-11 50 Back CWSL-LD 19 NS F # 305C Female 11-11 100 IM CWSL-LD 3:42.68S F # 502C Female 11-11 200 Back CWSL-LD 8 43.40S F # 504C Female 11-11 50 Free CWSL-LD 19 -3.74 2:14.03S F # 506C Female 11-11 100 Breast CWSL-LD 15		F #604A	Female 9 & Under 100 Back	CWSL-LD	4		
58.36S F # 203C Female 11-11 50 Fly CWSL-LD 18 -5.47 1:37.87S F # 205C Female 11-11 100 Free CWSL-LD 18 1.43 3:30.38S F # 301C Female 11-11 200 Free CWSL-LD 16 -8.36 49.11S F # 303C Female 11-11 50 Back CWSL-LD 19 NS F # 305C Female 11-11 100 IM CWSL-LD 3:42.68S F # 502C Female 11-11 200 Back CWSL-LD 8 43.40S F # 504C Female 11-11 50 Free CWSL-LD 19 -3.74 2:14.03S F # 506C Female 11-11 100 Breast CWSL-LD 15	Fugenie Radzis	will (11) F					
1:37.87S F # 205C Female 11-11 100 Free CWSL-LD 18 1.43 3:30.38S F # 301C Female 11-11 200 Free CWSL-LD 16 -8.36 49.11S F # 303C Female 11-11 50 Back CWSL-LD 19 NS F # 305C Female 11-11 100 IM CWSL-LD 3:42.68S F # 502C Female 11-11 200 Back CWSL-LD 8 43.40S F # 504C Female 11-11 50 Free CWSL-LD 19 -3.74 2:14.03S F # 506C Female 11-11 100 Breast CWSL-LD 15			Female 11-11 50 Flv	CWSL-LD	18		-5.47
3:30.38S F # 301C Female 11-11 200 Free CWSL-LD 16 -8.36 49.11S F # 303C Female 11-11 50 Back CWSL-LD 19 NS F # 305C Female 11-11 100 IM CWSL-LD 3:42.68S F # 502C Female 11-11 200 Back CWSL-LD 8 43.40S F # 504C Female 11-11 50 Free CWSL-LD 19 -3.74 2:14.03S F # 506C Female 11-11 100 Breast CWSL-LD 15			·				
49.11S F #303C Female 11-11 50 Back CWSL-LD 19 NS F #305C Female 11-11 100 IM CWSL-LD 3:42.68S F #502C Female 11-11 200 Back CWSL-LD 8 43.40S F #504C Female 11-11 50 Free CWSL-LD 19 -3.74 2:14.03S F #506C Female 11-11 100 Breast CWSL-LD 15							
NS F # 305C Female 11-11 100 IM CWSL-LD 3:42.68S F # 502C Female 11-11 200 Back CWSL-LD 8 43.40S F # 504C Female 11-11 50 Free CWSL-LD 19 2:14.03S F # 506C Female 11-11 100 Breast CWSL-LD 15							
3:42.68S F # 502C Female 11-11 200 Back CWSL-LD 8 43.40S F # 504C Female 11-11 50 Free CWSL-LD 193.74 2:14.03S F # 506C Female 11-11 100 Breast CWSL-LD 15							
43.40S F # 504C Female 11-11 50 Free CWSL-LD 193.74 2:14.03S F # 506C Female 11-11 100 Breast CWSL-LD 15							
2:14.03S F # 506C Female 11-11 100 Breast CWSL-LD 15							
	1:48.97\$	F #604C	Female 11-11 100 Back	CWSL-LD	15		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	5	Event		Place	Points	Improv
Isabella Radzi	will (9) F						
1:05.528	F	# 203A	Female 9 & Under 50 Fly	CWSL-LD	9		
2:06.98\$	F	# 205A	Female 9 & Under 100 Free	CWSL-LD	12		
4:25.148	F	# 301A	Female 9 & Under 200 Free	CWSL-LD	7		
1:04.93\$	F	# 303A	Female 9 & Under 50 Back	CWSL-LD	13		
NS	F	# 305A	Female 9 & Under 100 IM	CWSL-LD			
1:07.35S	F	# 404A	Female 9 & Under 50 Breast	CWSL-LD	8		
2:40.96\$	F	# 406A	Female 9 & Under 100 Fly	CWSL-LD	4		
54.91S	F	# 504A	Female 9 & Under 50 Free	CWSL-LD	13		
2:30.90S D	Q F	# 506A	Female 9 & Under 100 Breast	CWSL-LD			
Daniel Rahnan	na (15) M						
34.73\$	F	# 204G	Male 15 & Over 50 Fly	CWSL-LD	16		
1:10.01S	F	# 206G	Male 15 & Over 100 Free	CWSL-LD	16		
Elizabeth Ralp	h Sargent (12) F					
40.53\$	_	# 203D	Female 12-12 50 Fly	CWSL-LD	8		-2.02
1:23.40\$	F	# 205D	Female 12-12 100 Free	CWSL-LD	11		-1.26
2:55.57\$	F	# 301D	Female 12-12 200 Free	CWSL-LD	7		-9.05
47.21S	F	# 303D	Female 12-12 50 Back	CWSL-LD	10		2.15
1:35.71S	F	# 305D	Female 12-12 100 IM	CWSL-LD	8		-0.93
1:42.52S	F	# 406D	Female 12-12 100 Fly	CWSL-LD	8		-4.39
3:19.78\$	F	# 502D	Female 12-12 200 Back	CWSL-LD	5		-3.83
36.08S	F	# 504D	Female 12-12 50 Free	CWSL-LD	9		-2.19
1:32.84\$	F	# 604D	Female 12-12 100 Back	CWSL-LD	6		-3.07
Ginevra Reoli	(12) F						
NS	F	# 203D	Female 12-12 50 Fly	CWSL-LD			
1:23.198	F	# 205D	Female 12-12 100 Free	CWSL-LD	10		
42.56S	F	# 303D	Female 12-12 50 Back	CWSL-LD	9		
1:35.36S	F	# 305D	Female 12-12 100 IM	CWSL-LD	7		
46.75S	F	# 404D	Female 12-12 50 Breast	CWSL-LD	6		
37.59S	F	# 504D	Female 12-12 50 Free	CWSL-LD	10		
1:43.73\$	F	# 506D	Female 12-12 100 Breast	CWSL-LD	5		
1:34.07S D	Q F	# 604D	Female 12-12 100 Back	CWSL-LD			
Lavinia Ricca	(17) F						
2:22.745	F	# 102G	Female 15 & Over 200 IM	CWSL-LD	1		0.13
30.07S	F	# 203G	Female 15 & Over 50 Fly	CWSL-LD	3		-0.33
1:00.20S	F	# 205G	Female 15 & Over 100 Free	CWSL-LD	1		-0.03
NS	F	# 404G	Female 15 & Over 50 Breast	CWSL-LD			
2:23.16S	F	# 502G	Female 15 & Over 200 Back	CWSL-LD	2		2.11
1:15.90S	F	# 506G	Female 15 & Over 100 Breast	CWSL-LD	1		0.38
2:43.08S	F	# 602G	Female 15 & Over 200 Breast	CWSL-LD	1		3.03
NS	F	# 604G	Female 15 & Over 100 Back	CWSL-LD			
Aaliyah Richar	ds (17) F						
2:28.52S		# 102G	Female 15 & Over 200 IM	CWSL-LD	5		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Section Company Comp	Time	F/P/S	Event		Place	Points	Improv
S1.73S	Alisa Riskin (1	2) F					
49.275	1:42.23\$	F # 205D	Female 12-12 100 Free	CWSL-LD	13		-11.27
Part	51.73S	F #303D	Female 12-12 50 Back	CWSL-LD	11		-19.73
1.50.12S	49.27S	F # 404D	Female 12-12 50 Breast	CWSL-LD	8		-7.33
	2:19.80S	F # 406D	Female 12-12 100 Fly	CWSL-LD	9		
1-02_20S	1:50.12S	F #506D	Female 12-12 100 Breast	CWSL-LD	7		-8.51
1:02.20S	4:01.84\$	F #602D	Female 12-12 200 Breast	CWSL-LD	4		-7.83
1:02.20S	Valentin Riskin	ı (10) M					
50.34S F # 304B Male 10-10 50 Back CWSL-LD 5 4-4.95 1:55.61S F # 306B Male 10-10 100 IM CWSL-LD 6 -11.70 56.77S F # 403B Male 10-10 50 Breast CWSL-LD 9 0.30 47.43S F # 503B Male 10-10 100 Breast CWSL-LD 7 1-1.46 1:52.03S F # 603B Male 10-10 100 Breast CWSL-LD 7 1:52.03S F # 603B Male 10-10 100 Breast CWSL-LD 7 1:52.03S F # 603B Male 10-10 100 Breast CWSL-LD 7 1:52.03S F # 603B Male 10-10 100 Breast CWSL-LD 7 2:28.06S F # 1103 Male 14-14 200 Fre CWSL-LD 1 <td></td> <td></td> <td>Male 10-10 50 Fly</td> <td>CWSL-LD</td> <td>9</td> <td></td> <td></td>			Male 10-10 50 Fly	CWSL-LD	9		
1:55.61S F # 306B Male 10-10 100 IM CWSL-LD 6 -11.70 56.77S F # 403B Male 10-10 50 Breast CWSL-LD 9 0.30 47.43S F # 503B Male 10-10 100 Breast CWSL-LD 10 2.04.30S F # 505B Male 10-10 100 Back CWSL-LD 7 -1.46 1:52.03S F # 505B Male 10-10 100 Back CWSL-LD 7 -1.46 1:52.03S F # 505B Male 10-10 100 Back CWSL-LD 7 -1.46 1:52.03S F # 505B Male 10-10 100 Back CWSL-LD 7 -1.46 2:28.06S F # 101F Male 14-14 200 IM CWSL-LD 1 -7.20 2:47.78S F # 202F Male 14-14 200 Fly CWSL-LD 3 -13.48 3:15.19S F # 204F Male 14-14 200 Fly CWSL-LD	1:47.10S	F # 206B	Male 10-10 100 Free	CWSL-LD	9		
56.77S F #403B Male 10-10 50 Breast CWSL-LD 9 0.30 47.43S F #503B Male 10-10 50 Free CWSL-LD 10 2:04.30S F #505B Male 10-10 100 Breast CWSL-LD 7 1-1.46 1:52.03S F #603B Male 10-10 100 Back CWSL-LD 7 Joshua Rivera (14) W 2:28.06S F # 101F Male 14-14 200 IM CWSL-LD 1 -7.20 2:47.78S F # 103F Male 14-14 200 Fly CWSL-LD 1 -23.89 5:15.19S F # 204F Male 14-14 50 Fly CWSL-LD 3 -19.48 31.35S F # 204F Male 14-14 100 Free CWSL-LD 3 -19.60 2:15.92S F # 304F Male 14-14 200 Free CWSL-LD 3 -14.34 3.0-8S F	50.34S	F #304B	Male 10-10 50 Back	CWSL-LD	5		-4.95
47.43S F #503B Male 10-10 100 Breast CWSL-LD 7 2:04.30S F #505B Male 10-10 100 Breast CWSL-LD 7 -1.46 1:52.03S F #603B Male 10-10 100 Back CWSL-LD 7 Joshua Rivera (14) M 2:28.06S F #101F Male 14-14 200 IM CWSL-LD 1 -7.20 2:47.78S F #103F Male 14-14 400 IM CWSL-LD 1 -2.38 5:15.19S F #204F Male 14-14 50 Fly CWSL-LD 3 .1.48 31.35S F #204F Male 14-14 50 Fly CWSL-LD 3 .9.0 1:02.87S F #304F Male 14-14 50 Flee CWSL-LD 3 .9.0 1:15.92S F #304F Male 14-14 50 Breast CWSL-LD 1	1:55.618	F #306B	Male 10-10 100 IM	CWSL-LD	6		-11.70
2:04.30S	56.77S	F #403B	Male 10-10 50 Breast	CWSL-LD	9		0.30
1:52.03S	47.43S	F #503B	Male 10-10 50 Free	CWSL-LD	10		
	2:04.30S	F #505B	Male 10-10 100 Breast	CWSL-LD	7		-1.46
2:28.06S F # 101F Male 14-14 200 IM CWSL-LD 1 -7.20 2:47.78S F # 103F Male 14-14 200 Fly CWSL-LD 1 -23.89 5:15.19S F # 202F Male 14-14 400 IM CWSL-LD 1 -13.48 31.35S F # 204F Male 14-14 50 Fly CWSL-LD 3 -190 1:02.87S F # 206F Male 14-14 100 Free CWSL-LD 3 -8.04 2:15.92S F # 302F Male 14-14 50 Free CWSL-LD 2 -14.34 30.98S F # 304F Male 14-14 50 Back CWSL-LD 1 -2.54 1:11.09S F # 304F Male 14-14 100 IM CWSL-LD 3 -1.15 4:53.38S F # 401F Male 14-14 40 Free CWSL-LD 1 -3.33 3.5.7S F # 403F Male 14-14 200 Back CWSL-LD	1:52.03S	F # 603B	Male 10-10 100 Back	CWSL-LD	7		
2:47.78S F # 103F Male 14-14 200 Fly CWSL-LD 1 -23.89 5:15.19S F # 202F Male 14-14 400 IM CWSL-LD 1 -13.48 31.35S F # 204F Male 14-14 50 Fly CWSL-LD 3 -1.90 1:02.87S F # 206F Male 14-14 100 Free CWSL-LD 3 -8.04 2:15.92S F # 302F Male 14-14 200 Free CWSL-LD 2 -14.34 30.98S F # 304F Male 14-14 50 Back CWSL-LD 1 -2.54 1:11.09S F # 306F Male 14-14 100 IM CWSL-LD 3 -1.15 4:53.38S F # 401F Male 14-14 400 Free CWSL-LD 2 3.33 35.57S F # 403F Male 14-14 50 Breast CWSL-LD 1 -0.76 1:10.64S F # 405F Male 14-14 200 Back CWSL-LD <td>Joshua Rivera</td> <td>(14) M</td> <td></td> <td></td> <td></td> <td></td> <td></td>	Joshua Rivera	(14) M					
5:15.19S F # 202F Male 14-14 400 IM CWSL-LD 1 -13.48 31.35S F # 204F Male 14-14 50 Fly CWSL-LD 3 -1.90 1:02.87S F # 206F Male 14-14 100 Free CWSL-LD 3 -8.04 2:15.92S F # 302F Male 14-14 200 Free CWSL-LD 2 -14.34 30.98S F # 304F Male 14-14 50 Back CWSL-LD 1 -2.54 1:11.09S F # 306F Male 14-14 100 IM CWSL-LD 3 -1.15 4:53.38S F # 401F Male 14-14 50 Breast CWSL-LD 2 3.33 35.57S F # 403F Male 14-14 50 Breast CWSL-LD 1 -0.76 1:10.64S F # 405F Male 14-14 200 Back CWSL-LD 1 -9.66 2:22.50S F # 501F Male 14-14 50 Free CWSL-LD <td>2:28.06S</td> <td>F #101F</td> <td>Male 14-14 200 IM</td> <td>CWSL-LD</td> <td>1</td> <td></td> <td>-7.20</td>	2:28.06S	F #101F	Male 14-14 200 IM	CWSL-LD	1		-7.20
31.35S F # 204F Male 14-14 50 Fly CWSL-LD 3 -1.90 1:02.87S F # 206F Male 14-14 100 Free CWSL-LD 3 -8.04 2:15.92S F # 302F Male 14-14 200 Free CWSL-LD 2 -14.34 30.98S F # 304F Male 14-14 50 Back CWSL-LD 1 -2.54 1:11.09S F # 306F Male 14-14 100 IM CWSL-LD 3 -1.15 4:53.38S F # 401F Male 14-14 400 Free CWSL-LD 2 3.33 35.57S F # 403F Male 14-14 50 Breast CWSL-LD 1 -0.76 1:10.64S F # 405F Male 14-14 100 Fly CWSL-LD 1 -9.66 2:22.50S F # 501F Male 14-14 200 Back CWSL-LD 1 -5.57 1:19.27S F # 503F Male 14-14 100 Breast CWSL-LD 1 -1.81 2:51.09S F # 601F	2:47.78\$	F #103F	Male 14-14 200 Fly	CWSL-LD	1		-23.89
1:02.87S F # 206F Male 14-14 100 Free CWSL-LD 3 -8.04 2:15.92S F # 302F Male 14-14 200 Free CWSL-LD 2 -14.34 30.98S F # 304F Male 14-14 50 Back CWSL-LD 1 -2.54 1:11.09S F # 306F Male 14-14 100 IM CWSL-LD 3 -1.15 4:53.38S F # 401F Male 14-14 400 Free CWSL-LD 2 3.33 35.57S F # 403F Male 14-14 50 Breast CWSL-LD 1 -0.76 1:10.64S F # 405F Male 14-14 100 Fly CWSL-LD 1 -9.66 2:22.50S F # 501F Male 14-14 200 Back CWSL-LD 1 -8.17 1:19.27S F # 503F Male 14-14 100 Breast CWSL-LD 1 -1.81 2:51.09S F # 601F Male 14-14 200 Breast CWSL-LD 1 0.68 1:06.96S F # 603F </td <td>5:15.198</td> <td>F #202F</td> <td>Male 14-14 400 IM</td> <td>CWSL-LD</td> <td>1</td> <td></td> <td>-13.48</td>	5:15.198	F #202F	Male 14-14 400 IM	CWSL-LD	1		-13.48
2:15.92S F # 302F Male 14-14 200 Free CWSL-LD 2 -14.34 30.98S F # 304F Male 14-14 50 Back CWSL-LD 1 -2.54 1:11.09S F # 306F Male 14-14 100 IM CWSL-LD 3 -1.15 4:53.38S F # 401F Male 14-14 400 Free CWSL-LD 2 3.33 35.57S F # 403F Male 14-14 50 Breast CWSL-LD 1 -0.76 1:10.64S F # 405F Male 14-14 100 Fly CWSL-LD 1 -9.66 2:22.50S F # 501F Male 14-14 200 Back CWSL-LD 1 -5.57 1:19.27S F # 503F Male 14-14 100 Breast CWSL-LD 1 -5.57 1:19.27S F # 601F Male 14-14 200 Breast CWSL-LD 1 -1.81 2:51.09S F # 603F Male 14-14 100 Back CWSL-LD 1 -1.39 Liana Roberts (10) F	31.35S	F # 204F	Male 14-14 50 Fly	CWSL-LD	3		-1.90
30.98S F #304F Male 14-14 50 Back CWSL-LD 1 -2.54 1:11.09S F #306F Male 14-14 100 IM CWSL-LD 3 -1.15 4:53.38S F #401F Male 14-14 400 Free CWSL-LD 2 3.33 35.57S F #403F Male 14-14 50 Breast CWSL-LD 1 -0.76 1:10.64S F #405F Male 14-14 100 Fly CWSL-LD 1 -9.66 2:22.50S F #501F Male 14-14 200 Back CWSL-LD 1 -8.17 28.83S F #503F Male 14-14 50 Free CWSL-LD 4 -5.57 1:19.27S F #505F Male 14-14 100 Breast CWSL-LD 1 -1.81 2:51.09S F #601F Male 14-14 200 Breast CWSL-LD 1 -1.81 1:06.96S F #603F Male 14-14 100 Back CWSL-LD 1 -1.39 Liana Roberts (10) F 43.25S F #504B Female 10-10 50 Free CWSL-LD 14 -2.5	1:02.87S	F #206F	Male 14-14 100 Free	CWSL-LD	3		-8.04
1:11.09S F # 306F Male 14-14 100 IM CWSL-LD 3 -1.15 4:53.38S F # 401F Male 14-14 400 Free CWSL-LD 2 3.33 35.57S F # 403F Male 14-14 50 Breast CWSL-LD 1 -0.76 1:10.64S F # 405F Male 14-14 100 Fly CWSL-LD 1 -9.66 2:22.50S F # 501F Male 14-14 200 Back CWSL-LD 1 -8.17 28.83S F # 503F Male 14-14 50 Free CWSL-LD 4 -5.57 1:19.27S F # 505F Male 14-14 100 Breast CWSL-LD 1 -1.81 2:51.09S F # 601F Male 14-14 200 Breast CWSL-LD 1 -1.81 1:06.96S F # 603F Male 14-14 100 Back CWSL-LD 1 -1.39 Liana Roberts (10) F 43.25S F # 504B Female 10-10 50 Free CWSL-LD 14 -2.54	2:15.92S	F #302F	Male 14-14 200 Free	CWSL-LD	2		-14.34
4:53.38S F # 401F Male 14-14 400 Free CWSL-LD 2 3.33 35.57S F # 403F Male 14-14 50 Breast CWSL-LD 1 -0.76 1:10.64S F # 405F Male 14-14 100 Fly CWSL-LD 1 -9.66 2:22.50S F # 501F Male 14-14 200 Back CWSL-LD 1 -8.17 28.83S F # 503F Male 14-14 50 Free CWSL-LD 4 -5.57 1:19.27S F # 505F Male 14-14 100 Breast CWSL-LD 1 -1.81 2:51.09S F # 601F Male 14-14 200 Breast CWSL-LD 1 0.68 1:06.96S F # 603F Male 14-14 100 Back CWSL-LD 1 -1.39 Liana Roberts (10) F 43.25S F # 504B Female 10-10 50 Free CWSL-LD 14 -2.54 2:08.19S F # 506B Female 10-10 100 Breast CWSL-LD 15 -10.45	30.98S	F #304F	Male 14-14 50 Back	CWSL-LD	1		-2.54
35.57S F # 403F Male 14-14 50 Breast CWSL-LD 10.76 1:10.64S F # 405F Male 14-14 100 Fly CWSL-LD 19.66 2:22.50S F # 501F Male 14-14 200 Back CWSL-LD 18.17 28.83S F # 503F Male 14-14 50 Free CWSL-LD 45.57 1:19.27S F # 505F Male 14-14 100 Breast CWSL-LD 11.81 2:51.09S F # 601F Male 14-14 200 Breast CWSL-LD 1 0.68 1:06.96S F # 603F Male 14-14 100 Back CWSL-LD 1 1.39 Liana Roberts (10) F 43.25S F # 504B Female 10-10 50 Free CWSL-LD 142.54 2:08.19S F # 506B Female 10-10 100 Breast CWSL-LD 15 1.045	1:11.09S	F #306F	Male 14-14 100 IM	CWSL-LD	3		-1.15
1:10.64S F # 405F Male 14-14 100 Fly CWSL-LD 1 -9.66 2:22.50S F # 501F Male 14-14 200 Back CWSL-LD 1 -8.17 28.83S F # 503F Male 14-14 50 Free CWSL-LD 4 -5.57 1:19.27S F # 505F Male 14-14 100 Breast CWSL-LD 1 -1.81 2:51.09S F # 601F Male 14-14 200 Breast CWSL-LD 1 0.68 1:06.96S F # 603F Male 14-14 100 Back CWSL-LD 1 -1.39 Liana Roberts (10) F 43.25S F # 504B Female 10-10 50 Free CWSL-LD 14 -2.54 2:08.19S F # 506B Female 10-10 100 Breast CWSL-LD 15 -10.45	4:53.38S	F #401F	Male 14-14 400 Free	CWSL-LD	2		3.33
2:22.50S F # 501F Male 14-14 200 Back CWSL-LD 1 -8.17 28.83S F # 503F Male 14-14 50 Free CWSL-LD 4 -5.57 1:19.27S F # 505F Male 14-14 100 Breast CWSL-LD 1 -1.81 2:51.09S F # 601F Male 14-14 200 Breast CWSL-LD 1 0.68 1:06.96S F # 603F Male 14-14 100 Back CWSL-LD 1 -1.39 Liana Roberts (10) F 43.25S F # 504B Female 10-10 50 Free CWSL-LD 14 -2.54 2:08.19S F # 506B Female 10-10 100 Breast CWSL-LD 15 -10.45	35.57S	F #403F	Male 14-14 50 Breast	CWSL-LD	1		-0.76
28.83S F #503F Male 14-14 50 Free CWSL-LD 4 -5.57 1:19.27S F #505F Male 14-14 100 Breast CWSL-LD 1 -1.81 2:51.09S F #601F Male 14-14 200 Breast CWSL-LD 1 0.68 1:06.96S F #603F Male 14-14 100 Back CWSL-LD 1 -1.39 Liana Roberts (10) F 43.25S F #504B Female 10-10 50 Free CWSL-LD 14 -2.54 2:08.19S F #506B Female 10-10 100 Breast CWSL-LD 15 -10.45	1:10.648	F #405F	Male 14-14 100 Fly	CWSL-LD	1		-9.66
1:19.27S F #505F Male 14-14 100 Breast CWSL-LD 1 -1.81 2:51.09S F #601F Male 14-14 200 Breast CWSL-LD 1 0.68 1:06.96S F #603F Male 14-14 100 Back CWSL-LD 1 -1.39 Liana Roberts (10) F 43.25S F #504B Female 10-10 50 Free CWSL-LD 14 -2.54 2:08.19S F #506B Female 10-10 100 Breast CWSL-LD 15 -10.45	2:22.50S	F #501F	Male 14-14 200 Back	CWSL-LD	1		-8.17
2:51.09S F # 601F Male 14-14 200 Breast CWSL-LD 1 0.68 1:06.96S F # 603F Male 14-14 100 Back CWSL-LD 1 -1.39 Liana Roberts (10) F 43.25S F # 504B Female 10-10 50 Free CWSL-LD 14 -2.54 2:08.19S F # 506B Female 10-10 100 Breast CWSL-LD 15 -10.45	28.83\$	F #503F	Male 14-14 50 Free	CWSL-LD	4		-5.57
1:06.96S F # 603F Male 14-14 100 Back CWSL-LD 1 -1.39 Liana Roberts (10) F 43.25S F # 504B Female 10-10 50 Free CWSL-LD 14 -2.54 2:08.19S F # 506B Female 10-10 100 Breast CWSL-LD 15 -10.45	1:19.27\$	F #505F	Male 14-14 100 Breast	CWSL-LD	1		-1.81
Liana Roberts (10) F 43.25S F #504B Female 10-10 50 Free CWSL-LD 14 -2.54 2:08.19S F #506B Female 10-10 100 Breast CWSL-LD 15 -10.45	2:51.09S	F #601F	Male 14-14 200 Breast	CWSL-LD	1		0.68
43.25S F # 504B Female 10-10 50 Free CWSL-LD 14 -2.54 2:08.19S F # 506B Female 10-10 100 Breast CWSL-LD 15 -10.45	1:06.96S	F #603F	Male 14-14 100 Back	CWSL-LD	1		-1.39
43.25S F # 504B Female 10-10 50 Free CWSL-LD 14 -2.54 2:08.19S F # 506B Female 10-10 100 Breast CWSL-LD 15 -10.45	Liana Roberts	(10) F					
			Female 10-10 50 Free	CWSL-LD	14		-2.54
1:50.88S F # 604B Female 10-10 100 Back CWSL-LD 99.17	2:08.198	F # 506B	Female 10-10 100 Breast	CWSL-LD	15		-10.45
	1:50.88S	F # 604B	Female 10-10 100 Back	CWSL-LD	9		-9.17

Time	F/P/S	Event		Place	Points	Improv
Edward Robins	on (15) M					
2:18.72\$	F #101G	Male 15 & Over 200 IM	CWSL-LD	7		-1.18
4:57.68\$	F # 202G	Male 15 & Over 400 IM	CWSL-LD	1		-4.54
57.61S	F # 206G	Male 15 & Over 100 Free	CWSL-LD	9		0.29
31.06S	F #304G	Male 15 & Over 50 Back	CWSL-LD	10		0.52
1:04.30S	F #306G	Male 15 & Over 100 IM	CWSL-LD	6		1.18
31.05S	F # 403G	Male 15 & Over 50 Breast	CWSL-LD	2		0.54
26.59S	F #503G	Male 15 & Over 50 Free	CWSL-LD	11		-0.35
1:06.66S	F #505G	Male 15 & Over 100 Breast	CWSL-LD	1		0.55
2:29.94S	F # 601G	Male 15 & Over 200 Breast	CWSL-LD	1		2.14
Ayden Roumilh	ac (11) M					
3:29.90S	F #101C	Male 11-11 200 IM	CWSL-LD	5		0.34
3:47.66S	F #103C	Male 11-11 200 Fly	CWSL-LD	1		-7.25
7:13.00S	F # 202C	Male 11-11 400 IM	CWSL-LD	2		-6.54
43.83S	F # 204C	Male 11-11 50 Fly	CWSL-LD	2		-3.22
1:20.24S	F # 206C	Male 11-11 100 Free	CWSL-LD	3		-0.56
2:54.85S	F #302C	Male 11-11 200 Free	CWSL-LD	1		-4.87
47.89S	F #304C	Male 11-11 50 Back	CWSL-LD	7		0.49
1:38.93\$	F #306C	Male 11-11 100 IM	CWSL-LD	6		-5.94
6:05.58S	F #401C	Male 11-11 400 Free	CWSL-LD	2		-5.77
53.27S	F # 403C	Male 11-11 50 Breast	CWSL-LD	5		-4.60
1:47.82S	F #405C	Male 11-11 100 Fly	CWSL-LD	3		-2.36
3:19.78\$	F #501C	Male 11-11 200 Back	CWSL-LD	4		2.33
37.34S	F # 503C	Male 11-11 50 Free	CWSL-LD	3		-0.49
1:57.518	F # 505C	Male 11-11 100 Breast	CWSL-LD	6		-9.01
4:07.27S	F #601C	Male 11-11 200 Breast	CWSL-LD	4		-24.85
1:38.07\$	F # 603C	Male 11-11 100 Back	CWSL-LD	5		2.13
Cecily Row (9)	F					
1:04.36S	F #303A	Female 9 & Under 50 Back	CWSL-LD	12		
1:07.35S	F #404A	Female 9 & Under 50 Breast	CWSL-LD	8		
58.63S	F # 504A	Female 9 & Under 50 Free	CWSL-LD	14		
Evelyn Row (11	1) F					
39.178	F # 203C	Female 11-11 50 Fly	CWSL-LD	8		-5.51
1:16.80S	F # 205C	Female 11-11 100 Free	CWSL-LD	8		-5.33
2:45.748	F #301C		CWSL-LD	8		-18.85
39.29S	F #303C		CWSL-LD	4		-2.07
1:27.27S	F #305C		CWSL-LD	6		-4.77
6:05.858	F # 402C		CWSL-LD	7		
45.92S	F # 404C	Female 11-11 50 Breast	CWSL-LD	5		-1.94
1:36.00S	F # 406C	Female 11-11 100 Fly	CWSL-LD	4		-11.34
3:08.14S	F #502C	•	CWSL-LD	6		-4.93
33.11S	F # 504C	Female 11-11 50 Free	CWSL-LD	4		-2.14
1:40.37S	F #506C	Female 11-11 100 Breast	CWSL-LD	6		-2.30
3:36.98\$	F # 602C		CWSL-LD	6		-5.99
1:24.48S	F # 604C		CWSL-LD	3		-5.14
	5510					J

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S		Event		Place	Points	Improv
Jonathan Rudd (18) M						
2:21.29S	F	# 101G	Male 15 & Over 200 IM	CWSL-LD	8		-4.45
NS	F	# 204G	Male 15 & Over 50 Fly	CWSL-LD			
28.19S	F	# 304G	Male 15 & Over 50 Back	CWSL-LD	6		-0.18
1:03.96S	F	# 306G	Male 15 & Over 100 IM	CWSL-LD	5		-2.03
4:23.93S	F	# 401G	Male 15 & Over 400 Free	CWSL-LD	1		-14.06
2:13.74S	F	# 501G	Male 15 & Over 200 Back	CWSL-LD	4		3.15
1:01.91S	F	# 603G	Male 15 & Over 100 Back	CWSL-LD	6		1.94
Alan Safonov (13	3) M						
3:38.12S	F	# 101E	Male 13-13 200 IM	CWSL-LD	7		-9.45
52.83S	F	# 403E	Male 13-13 50 Breast	CWSL-LD	7		-18.19
42.57S	F	# 503E	Male 13-13 50 Free	CWSL-LD	9		-2.26
2:00.97\$	F	# 505E	Male 13-13 100 Breast	CWSL-LD	8		-2.20
1:45.648	F	# 603E	Male 13-13 100 Back	CWSL-LD	7		1.84
Marco Sarcone (11) M						
54.16S	-	# 403C	Male 11-11 50 Breast	CWSL-LD	6		-0.87
NS	F	# 503C	Male 11-11 50 Free	CWSL-LD			
Sophia Schellaar	s (10) F						
52.13S		# 203B	Female 10-10 50 Fly	CWSL	12		
1:52.118	F	# 205B	Female 10-10 100 Free	CWSL	17		
DQ	F	# 404B	Female 10-10 50 Breast	CWSL			
DQ	F	# 406B	Female 10-10 100 Fly	CWSL			
49.77S	F	# 504B	Female 10-10 50 Free	CWSL			
DQ	F	# 506B	Female 10-10 100 Breast	CWSL			
NS	F	# 604B	Female 10-10 100 Back	CWSL			
Max Schneider (10) M						
1:03.38\$	-	# 204B	Male 10-10 50 Fly	CWSL-LD	11		
1:39.228	F	# 206B	Male 10-10 100 Free	CWSL-LD	7		
48.91S	F	# 304B	Male 10-10 50 Back	CWSL-LD	4		
2:00.58S DQ	F	# 306B	Male 10-10 100 IM	CWSL-LD			
NS	F	# 403B	Male 10-10 50 Breast	CWSL-LD			
NS	F	# 503B	Male 10-10 50 Free	CWSL-LD			
NS	F	# 505B	Male 10-10 100 Breast	CWSL-LD			
NS	F	# 603B	Male 10-10 100 Back	CWSL-LD			

	Improv
Troy Seymenoglu (9) M	
3:20.74S F # 101A Male 9 & Under 200 IM CWSL-LD 1	
39.76S F # 204A Male 9 & Under 50 Fly CWSL-LD 1	 -7.00
1:21.41S F # 206A Male 9 & Under 100 Free CWSL-LD 1	 -1.17
2:59.20S F # 302A Male 9 & Under 200 Free CWSL-LD 1	
45.18S F # 304A Male 9 & Under 50 Back CWSL-LD 1	 -1.42
1:32.44S F # 306A Male 9 & Under 100 IM CWSL-LD 1	
6:15.65S F # 401A Male 9 & Under 400 Free CWSL-LD 1	
48.08S F # 403A Male 9 & Under 50 Breast CWSL-LD 1	 -8.62
1:49.46S F # 405A Male 9 & Under 100 Fly CWSL-LD 1	 -5.46
3:19.57S F # 501A Male 9 & Under 200 Back CWSL-LD 1	
36.84S F # 503A Male 9 & Under 50 Free CWSL-LD 1	 -1.28
1:49.65S F # 505A Male 9 & Under 100 Breast CWSL-LD 1	 1.38
3:54.05S F # 601A Male 9 & Under 200 Breast CWSL-LD 1	
1:36.08S F # 603A Male 9 & Under 100 Back CWSL-LD 1	 -1.40
Darya Shafiee-Khayyat (10) F	
48.54S F # 203B Female 10-10 50 Fly CWSL-LD 6	
1:31.28S F # 205B Female 10-10 100 Free CWSL-LD 5	 -9.50
46.67S F # 303B Female 10-10 50 Back CWSL-LD 8	 -8.19
1:42.48S F # 305B Female 10-10 100 IM CWSL-LD 5	 -15.54
51.64S F # 404B Female 10-10 50 Breast CWSL-LD 5	 -3.73
1:56.11S F # 406B Female 10-10 100 Fly CWSL-LD 4	
39.49S F # 504B Female 10-10 50 Free CWSL-LD 5	 -4.79
1:55.00S F # 506B Female 10-10 100 Breast CWSL-LD 5	
Isabella Sherman (12) F	
2:57.13S F # 102D Female 12-12 200 IM CWSL-LD 3	 -4.53
33.72S F # 203D Female 12-12 50 Fly CWSL-LD 2	 -2.78
1:11.10S F # 205D Female 12-12 100 Free CWSL-LD 3	 -3.35
36.36S F # 303D Female 12-12 50 Back CWSL-LD 4	 -2.13
1:19.78S F # 305D Female 12-12 100 IM CWSL-LD 2	 -5.86
39.50S F # 404D Female 12-12 50 Breast CWSL-LD 1	 -1.70
1:23.03S F # 406D Female 12-12 100 Fly CWSL-LD 2	
2:54.33S F # 502D Female 12-12 200 Back CWSL-LD 2	 -8.11
32.08S F # 504D Female 12-12 50 Free CWSL-LD 3	 -2.15
1:32.63S F # 506D Female 12-12 100 Breast CWSL-LD 2	 0.03
NS F # 602D Female 12-12 200 Breast CWSL-LD	
NS F #604D Female 12-12 100 Back CWSL-LD	
Hugo Sklaroff Josefsson (9) M	
52.84S F # 204A Male 9 & Under 50 Fly CWSL-LD 4	
1:47.89S F # 206A Male 9 & Under 100 Free CWSL-LD 7	
54.47S F # 304A Male 9 & Under 50 Back CWSL-LD 8	
1:55.62S F # 306A Male 9 & Under 100 IM CWSL-LD 4	
1:01.52S F # 403A Male 9 & Under 50 Breast CWSL-LD 7	
48.57S F # 503A Male 9 & Under 50 Free CWSL-LD 9	
1:58.20S F # 603A Male 9 & Under 100 Back CWSL-LD 5	

Time	F/P/S	6	Event		Place	Points	Improv
Darcey Smur	fit (11) F						
48.02S		# 203C	Female 11-11 50 Fly	CWSL-LD			
1:34.46\$	F	# 205C	Female 11-11 100 Free	CWSL-LD	16		
3:29.47\$	F	# 301C	Female 11-11 200 Free	CWSL-LD	15		-17.17
44.87S	F	# 303C	Female 11-11 50 Back	CWSL-LD	11		-4.05
1:44.66\$	DQ F	# 305C	Female 11-11 100 IM	CWSL-LD			
53.40S	F	# 404C	Female 11-11 50 Breast	CWSL-LD	12		-3.67
2:10.37\$	DQ F	# 406C	Female 11-11 100 Fly	CWSL-LD			
3:43.48\$	F	# 502C	Female 11-11 200 Back	CWSL-LD	9		
40.67S	F	# 504C	Female 11-11 50 Free	CWSL-LD	16		-5.76
1:57.45\$	F	# 506C	Female 11-11 100 Breast	CWSL-LD	12		-4.60
NS	F	# 602C	Female 11-11 200 Breast	CWSL-LD			
NS	F	# 604C	Female 11-11 100 Back	CWSL-LD			
Indigo Spenc	e (15) F						
2:28.00S	F	# 102G	Female 15 & Over 200 IM	CWSL-LD	4		-3.62
2:24.41S	F	# 104G	Female 15 & Over 200 Fly	CWSL-LD	1		-3.21
28.38S	F	# 203G	Female 15 & Over 50 Fly	CWSL-LD	1		0.09
1:00.55S	F	# 205G	Female 15 & Over 100 Free	CWSL-LD	3		0.69
2:12.39\$	F	# 301G	Female 15 & Over 200 Free	CWSL-LD	2		1.58
1:07.76S	F	# 305G	Female 15 & Over 100 IM	CWSL-LD	1		-2.98
1:02.50S	F	# 406G	Female 15 & Over 100 Fly	CWSL-LD	1		-0.42
Max Stafford	-Davies (15)	M					
25.88S		# 503G	Male 15 & Over 50 Free	CWSL	5		
1:07.498	F	# 603G	Male 15 & Over 100 Back	CWSL	10		
Isabella Stagi	no d'Alcontre	s (11) F					
3:12.17\$		# 301C	Female 11-11 200 Free	CWSL-LD	12		-7.36
1:42.28S	F	# 305C	Female 11-11 100 IM	CWSL-LD	14		-3.40
1:00.10S	F	# 404C	Female 11-11 50 Breast	CWSL-LD	17		-0.71
38.66S	F	# 504C	Female 11-11 50 Free	CWSL-LD	13		-3.06
1:40.12S	F	# 604C	Female 11-11 100 Back	CWSL-LD	12		-5.23
Erik Sternby	(14) M						
6:27.70S		# 401F	Male 14-14 400 Free	CWSL-LD	3		-27.12
49.80S	F	# 403F	Male 14-14 50 Breast	CWSL-LD	6		-0.34
1:54.10S		# 405F	Male 14-14 100 Fly	CWSL-LD	3		
33.88S		# 503F	Male 14-14 50 Free	CWSL-LD	7		-1.17
1:48.418	F	# 505F	Male 14-14 100 Breast	CWSL-LD	3		1.92
Maya Stoyche	ev (11) F						
NS		# 203C	Female 11-11 50 Fly	CWSL-LD			
NS		# 205C	Female 11-11 100 Free	CWSL-LD			

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	Event		Place	Points	Improv
Daniel Streltsov	(15) M					
2:34.16S	F # 10	3G Male 15 & Over 200 Fly	CWSL-LD	3		
28.91S	F # 20	4G Male 15 & Over 50 Fly	CWSL-LD	11		-1.24
56.06S	F # 20	6G Male 15 & Over 100 Free	CWSL-LD	6		-0.65
2:03.15S	F #30	2G Male 15 & Over 200 Free	CWSL-LD	4		-2.49
1:05.27S	F #30	6G Male 15 & Over 100 IM	CWSL-LD	7		-0.28
31.71S	F # 40	3G Male 15 & Over 50 Breast	CWSL-LD	3		-0.31
1:04.45S	F # 40	5G Male 15 & Over 100 Fly	CWSL-LD	5		-5.21
26.00S	F #50	3G Male 15 & Over 50 Free	CWSL-LD	6		-0.37
1:12.19S	F # 50	5G Male 15 & Over 100 Breast	CWSL-LD	2		0.96
Murray Sugasa ((12) M					
2:58.52\$	F #10	1D Male 12-12 200 IM	CWSL-LD	4		-3.07
3:03.87\$	F #10	3D Male 12-12 200 Fly	CWSL-LD	1		-0.04
34.14S	F # 20	4D Male 12-12 50 Fly	CWSL-LD	2		-1.46
1:08.94\$	F #20	6D Male 12-12 100 Free	CWSL-LD	2		-1.63
2:31.33\$	F #30	2D Male 12-12 200 Free	CWSL-LD	2		-3.60
39.84\$	F #30	4D Male 12-12 50 Back	CWSL-LD	6		-0.76
5:28.04S	F #40	1D Male 12-12 400 Free	CWSL-LD	4		-6.80
44.95S	F #40	3D Male 12-12 50 Breast	CWSL-LD	3		-2.48
1:19.28S	F #40	5D Male 12-12 100 Fly	CWSL-LD	1		-1.35
3:00.39S	F #50	1D Male 12-12 200 Back	CWSL-LD	5		-10.98
31.55S	F #50	3D Male 12-12 50 Free	CWSL-LD	3		-0.98
1:42.33S	F #50	5D Male 12-12 100 Breast	CWSL-LD	5		-1.16
Warren Sugasa	(9) M					
1:52.57\$	F #20	6A Male 9 & Under 100 Free	CWSL-LD	8		
1:08.01S DQ	F #30	4A Male 9 & Under 50 Back	CWSL-LD			
2:05.07S DQ	F #30	6A Male 9 & Under 100 IM	CWSL-LD			
47.22S	F #50	3A Male 9 & Under 50 Free	CWSL-LD	7		
2:16.93S	F #50	5A Male 9 & Under 100 Breast	CWSL-LD	4		
Theodore Swash	(11) M					
3:16.00S	F # 10	1C Male 11-11 200 IM	CWSL-LD	1		-5.54
45.16S	F # 20		CWSL-LD	3		0.03
1:19.60S	F #20	6C Male 11-11 100 Free	CWSL-LD	2		-3.05
44.00S	F #30		CWSL-LD	3		-0.08
1:32.73S	F #30		CWSL-LD	3		-4.36
49.91S	F #40		CWSL-LD	4		-0.86
1:48.86S	F #40		CWSL-LD	4		-16.75
3:07.60S	F #50		CWSL-LD	1		1.15
37.83S	F #50		CWSL-LD	6		-0.03
1:48.62S	F #50		CWSL-LD	2		-3.66
1:28.49S	F #60		CWSL-LD	1		-2.93
21-1-	00			=		

Time	F/P/S	Event		Place	Points	Improv
Ines Sweeney (12	2) F					
3:02.458	F # 102D	Female 12-12 200 IM	CWSL-LD	6		-1.11
3:10.74\$	F # 104D	Female 12-12 200 Fly	CWSL-LD	2		-16.64
6:24.24\$	F # 201D	Female 12-12 400 IM	CWSL-LD	3		-0.19
36.96S	F # 203D	Female 12-12 50 Fly	CWSL-LD	5		-3.97
1:18.35S	F # 205D	Female 12-12 100 Free	CWSL-LD	8		1.67
NS	F #301D	Female 12-12 200 Free	CWSL-LD			
40.09S	F #303D	Female 12-12 50 Back	CWSL-LD	6		-0.63
1:24.75S	F #305D	Female 12-12 100 IM	CWSL-LD	4		-4.95
5:38.04\$	F # 402D	Female 12-12 400 Free	CWSL-LD	3		-14.38
1:24.47S	F # 406D	Female 12-12 100 Fly	CWSL-LD	4		-4.87
2:55.90S	F #502D	Female 12-12 200 Back	CWSL-LD	3		-4.47
34.27S	F # 504D	Female 12-12 50 Free	CWSL-LD	5		-2.04
1:23.96S	F # 604D	Female 12-12 100 Back	CWSL-LD	3		-3.59
James Tian (10)	М					
59.03S	F #304B	Male 10-10 50 Back	CWSL-LD	12		
2:02.63S DQ	F #306B	Male 10-10 100 IM	CWSL-LD			
1:01.29S	F #403B	Male 10-10 50 Breast	CWSL-LD	13		
48.198	F #503B	Male 10-10 50 Free	CWSL-LD	13		
		Male 10 10 50 ffee	CW3E ED	13		
Gabriel Tic (10)		M 1 40 40 000 IV	CIAICI I D	2		
3:43.80S	F # 101B	Male 10-10 200 IM	CWSL-LD	2		
52.76S	F # 204B	Male 10-10 50 Fly	CWSL-LD	3		
1:31.47\$	F # 206B	Male 10-10 100 Free	CWSL-LD	2		-6.30
3:12.75S	F #302B	Male 10-10 200 Free	CWSL-LD	1		-14.55
44.03S	F #304B	Male 10-10 50 Back	CWSL-LD	1		-5.49
1:43.15S	F # 306B	Male 10-10 100 IM	CWSL-LD	2		-4.98
54.88S	F # 403B	Male 10-10 50 Breast	CWSL-LD	6		
3:26.36S	F # 501B	Male 10-10 200 Back	CWSL-LD	2		
42.88S	F # 503B	Male 10-10 50 Free	CWSL-LD	5		0.89
1:55.38\$	F # 505B	Male 10-10 100 Breast	CWSL-LD	2		
1:36.04S	F #603B	Male 10-10 100 Back	CWSL-LD	1		1.32
Arsen Tokgoz (1	0) M					
3:46.48S	F # 101B	Male 10-10 200 IM	CWSL-LD	3		
48.84S	F # 204B	Male 10-10 50 Fly	CWSL-LD	1		
1:37.68\$	F # 206B	Male 10-10 100 Free	CWSL-LD	4		
3:30.31S	F #302B	Male 10-10 200 Free	CWSL-LD	3		
53.26S	F # 304B	Male 10-10 50 Back	CWSL-LD	10		
1:49.03S DQ	F #306B	Male 10-10 100 IM	CWSL-LD			
7:19.98S	F #401B	Male 10-10 400 Free	CWSL-LD	2		
56.14S	F # 403B	Male 10-10 50 Breast	CWSL-LD	8		
2:00.19S	F # 405B	Male 10-10 100 Fly	CWSL-LD	2		
43.76S	F # 503B	Male 10-10 50 Free	CWSL-LD	8		
1:59.098	F # 505B	Male 10-10 100 Breast	CWSL-LD	5		
4:12.92S	F #601B	Male 10-10 200 Breast	CWSL-LD	2		
1:49.198	F # 603B	Male 10-10 100 Back	CWSL-LD	4		

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	5	Event		Place	Points	Improv
Teo Tran (11)	M						
54.63S		# 204C	Male 11-11 50 Fly	CWSL-LD	10		-4.38
1:58.418	F	# 206C	Male 11-11 100 Free	CWSL-LD	11		0.31
47.86S	F	# 304C	Male 11-11 50 Back	CWSL-LD	6		-6.87
2:02.08S	F	# 306C	Male 11-11 100 IM	CWSL-LD	11		1.98
1:05.48\$	F	# 403C	Male 11-11 50 Breast	CWSL-LD	11		
3:47.96S	F	# 501C	Male 11-11 200 Back	CWSL-LD	5		-14.98
52.96S	F	# 503C	Male 11-11 50 Free	CWSL-LD	10		-8.61
1:50.15S	F	# 603C	Male 11-11 100 Back	CWSL-LD	7		
Olivia Tsagaris	(10) F						
50.89S DO	Q F	# 203B	Female 10-10 50 Fly	CWSL-LD			
1:36.898	F	# 205B	Female 10-10 100 Free	CWSL-LD	10		
3:26.02S	F	# 301B	Female 10-10 200 Free	CWSL-LD	6		-25.51
53.00S	F	# 303B	Female 10-10 50 Back	CWSL-LD	19		
1:49.75S	F	# 305B	Female 10-10 100 IM	CWSL-LD	13		-15.69
Pietro Ubertalli	i (19) M						
1:59.16S		# 501G	Male 15 & Over 200 Back	CWSL-LD	1		-0.54
56.258	F	# 603G	Male 15 & Over 100 Back	CWSL-LD	1		0.89
Zeno Ubertalli	(16) M						
2:15.82\$		# 101G	Male 15 & Over 200 IM	CWSL-LD	5		-54.12
26.62S	F	# 204G	Male 15 & Over 50 Fly	CWSL-LD	4		-1.45
55.43S	F	# 206G	Male 15 & Over 100 Free	CWSL-LD	5		-0.78
26.88S	F	# 304G	Male 15 & Over 50 Back	CWSL-LD	2		-1.03
2:06.81S	F	# 501G	Male 15 & Over 200 Back	CWSL-LD	2		-3.81
25.64S	F	# 503G	Male 15 & Over 50 Free	CWSL-LD	4		-0.78
57.21S	F	# 603G	Male 15 & Over 100 Back	CWSL-LD	2		-2.56
Nikol Ursini (1	2) F						
2:49.99\$	-	# 102D	Female 12-12 200 IM	CWSL-LD	2		-9.40
2:54.71S	F	# 104D	Female 12-12 200 Fly	CWSL-LD	1		-13.15
5:59.548	F	# 201D	Female 12-12 400 IM	CWSL-LD	1		-23.68
31.698	F	# 203D	Female 12-12 50 Fly	CWSL-LD	1		-1.12
1:06.47S	F	# 205D	Female 12-12 100 Free	CWSL-LD	1		-2.39
2:31.34\$	F	# 301D	Female 12-12 200 Free	CWSL-LD	2		-4.67
34.57\$		# 303D	Female 12-12 50 Back	CWSL-LD	1		-3.47
39.57S	F	# 404D	Female 12-12 50 Breast	CWSL-LD	2		-4.17
1:12.92S	F	# 406D	Female 12-12 100 Fly	CWSL-LD	1		-3.99
29.99\$	F	# 504D	Female 12-12 50 Free	CWSL-LD	1		-0.97
1:28.88S	F	# 506D	Female 12-12 100 Breast	CWSL-LD	1		-2.04
1:17.73S	F	# 604D	Female 12-12 100 Back	CWSL-LD	2		-2.66
Filippo Vanerio	(10) M						
DQ		# 204B	Male 10-10 50 Fly	CWSL-LD			
1:03.08S	F	# 304B	Male 10-10 50 Back	CWSL-LD	13		
DQ	F	# 306B	Male 10-10 100 IM	CWSL-LD			
59.20S	F	# 403B	Male 10-10 50 Breast	CWSL-LD	11		
52.38S	F	# 503B	Male 10-10 50 Free	CWSL-LD	14		

Time	F/P/9	5	Event		Place	Points	Improv
Robert Veermai	n (11) M						
NS	F	# 204C	Male 11-11 50 Fly	CWSL-LD			
NS	F	# 206C	Male 11-11 100 Free	CWSL-LD			
NS	F	# 304C	Male 11-11 50 Back	CWSL-LD			
59.81S	F	# 403C	Male 11-11 50 Breast	CWSL-LD	8		
NS	F	# 503C	Male 11-11 50 Free	CWSL-LD			
Amber Veilex (2	10) F						
52.95S	-	# 303B	Female 10-10 50 Back	CWSL-LD	18		
1:55.10S	F	# 305B	Female 10-10 100 IM	CWSL-LD	17		
59.69S DQ) F	# 404B	Female 10-10 50 Breast	CWSL-LD			
48.54S	F	# 504B	Female 10-10 50 Free	CWSL-LD	24		
1:52.638	F	# 604B	Female 10-10 100 Back	CWSL-LD	10		
Nicolas Venuti ((12) M						
2:53.45S	F	# 101D	Male 12-12 200 IM	CWSL-LD	2		-11.86
37.62S	F	# 204D	Male 12-12 50 Fly	CWSL-LD	3		-2.30
1:12.928	F	# 206D	Male 12-12 100 Free	CWSL-LD	3		-0.58
2:35.828	F	# 302D	Male 12-12 200 Free	CWSL-LD	4		-4.90
38.45S	F	# 304D	Male 12-12 50 Back	CWSL-LD	4		-0.68
1:22.52S	F	# 306D	Male 12-12 100 IM	CWSL-LD	3		-4.55
5:24.45S	F	# 401D	Male 12-12 400 Free	CWSL-LD	3		-12.31
1:29.12S	F	# 405D	Male 12-12 100 Fly	CWSL-LD	2		-7.97
2:51.24S	F	# 501D	Male 12-12 200 Back	CWSL-LD	4		-5.31
33.06S	F	# 503D	Male 12-12 50 Free	CWSL-LD	4		-1.05
1:34.79S	F	# 505D	Male 12-12 100 Breast	CWSL-LD	4		-5.51
1:22.73S	F	# 603D	Male 12-12 100 Back	CWSL-LD	4		-1.03
Veronica Venuti	(15) F						
2:30.71S		# 102G	Female 15 & Over 200 IM	CWSL-LD	6		-7.44
30.08S	F	# 203G	Female 15 & Over 50 Fly	CWSL-LD	4		-0.99
1:02.41\$	F	# 205G	Female 15 & Over 100 Free	CWSL-LD	6		-0.10
NS	F	# 301G	Female 15 & Over 200 Free	CWSL-LD			
31.25S	F	# 303G	Female 15 & Over 50 Back	CWSL-LD	2		0.14
1:11.53S	F	# 305G	Female 15 & Over 100 IM	CWSL-LD	5		1.32
1:08.62S		# 406G	Female 15 & Over 100 Fly	CWSL-LD	5		-1.10
28.57S		# 504G	Female 15 & Over 50 Free	CWSL-LD	2		-1.22
1:07.85S		# 604G	Female 15 & Over 100 Back	CWSL-LD	2		2.52
Holly Vickery (10) E						
52.92S DQ	-	# 203B	Female 10-10 50 Fly	CWSL-LD			
1:38.29\$		# 205B	Female 10-10 100 Free	CWSL-LD	11		
46.16S		# 303B	Female 10-10 50 Back	CWSL-LD	6		
1:49.47S	F	# 305B	Female 10-10 100 IM	CWSL-LD	12		
1:00.75\$	F	# 404B	Female 10-10 50 Breast	CWSL-LD	14		-4.12
2:11.58\$	F	# 406B	Female 10-10 100 Fly	CWSL-LD	7		-6.51
3:38.46S		# 502B	Female 10-10 200 Back	CWSL-LD	5		
44.75S		# 504B	Female 10-10 50 Free	CWSL-LD	17		-0.92
2:17.59S DQ		# 504B	Female 10-10 100 Breast	CWSL-LD			-0.72
2.17.373 DQ		" 200D	Temale To To Too Di Cast	GW3L-LD			

Time	F/P/S	;	Event		Place	Points	Improv
Cameron Wake	eling (9) M						
3:35.09S	F	# 101A	Male 9 & Under 200 IM	CWSL-LD	2		
46.15S	F	# 204A	Male 9 & Under 50 Fly	CWSL-LD	2		
1:27.88S	F	# 206A	Male 9 & Under 100 Free	CWSL-LD	2		
48.94S	F	# 304A	Male 9 & Under 50 Back	CWSL-LD	3		
1:39.97\$	F	# 306A	Male 9 & Under 100 IM	CWSL-LD	2		
50.53S	F	# 403A	Male 9 & Under 50 Breast	CWSL-LD	2		-7.68
1:57.56S	F	# 405A	Male 9 & Under 100 Fly	CWSL-LD	2		
41.04S	F	# 503A	Male 9 & Under 50 Free	CWSL-LD	5		-7.88
1:52.798	F	# 505A	Male 9 & Under 100 Breast	CWSL-LD	3		-11.94
3:56.64\$	F	# 601A	Male 9 & Under 200 Breast	CWSL-LD	2		
1:48.28\$	F	# 603A	Male 9 & Under 100 Back	CWSL-LD	3		
Adam Wakil (1	10) M						
4:28.72S D	Q F	# 101B	Male 10-10 200 IM	CWSL-LD			
56.12S	F	# 204B	Male 10-10 50 Fly	CWSL-LD	7		
2:00.99S	F	# 306B	Male 10-10 100 IM	CWSL-LD	8		
55.54S	F	# 403B	Male 10-10 50 Breast	CWSL-LD	7		
47.93S	F	# 503B	Male 10-10 50 Free	CWSL-LD	12		
2:11.82S	F	# 505B	Male 10-10 100 Breast	CWSL-LD	9		
Elayne Wang ((10) F						
4:07.03S	F	# 102B	Female 10-10 200 IM	CWSL-LD	7		
55.60S D	Q F	# 404B	Female 10-10 50 Breast	CWSL-LD			
2:22.83\$	F	# 406B	Female 10-10 100 Fly	CWSL-LD	9		
44.56S	F	# 504B	Female 10-10 50 Free	CWSL-LD	16		
2:04.18S D	Q F	# 506B	Female 10-10 100 Breast	CWSL-LD			
1:52.658	F	# 604B	Female 10-10 100 Back	CWSL-LD	11		
Shilin Wang (1	10) F						
1:01.58S	F	# 303B	Female 10-10 50 Back	CWSL-LD	22		
57.00S	F	# 404B	Female 10-10 50 Breast	CWSL-LD	11		-4.05
NS	F	# 504B	Female 10-10 50 Free	CWSL-LD			
Emilia Webste	r (10) F						
3:41.22S	F	# 102B	Female 10-10 200 IM	CWSL-LD	5		-13.81
48.67S	F	# 203B	Female 10-10 50 Fly	CWSL-LD	7		-10.26
1:33.52\$	F	# 205B	Female 10-10 100 Free	CWSL-LD	6		-2.02
3:15.53\$	F	# 301B	Female 10-10 200 Free	CWSL-LD	5		1.81
48.95S	F	# 303B	Female 10-10 50 Back	CWSL-LD	12		-3.71
1:45.648	F	# 305B	Female 10-10 100 IM	CWSL-LD	7		-5.55
6:45.79\$	F	# 402B	Female 10-10 400 Free	CWSL-LD	2		
1:00.31S	F	# 404B	Female 10-10 50 Breast	CWSL-LD	13		-1.70
1:59.40S	F	# 406B	Female 10-10 100 Fly	CWSL-LD	5		0.84
3:32.59S		# 502B	Female 10-10 200 Back	CWSL-LD	4		-7.21
41.80S		# 504B	Female 10-10 50 Free	CWSL-LD	10		-1.85
2:11.82S		# 506B	Female 10-10 100 Breast	CWSL-LD	17		-4.37
Adam Wong (1	17) M						
NS	-	# 101G	Male 15 & Over 200 IM	CWSL-LD			

2023 CWSC Club Championships 30-Jun-23 to 02-Jul-23 SC Meters

Time	F/P/S	Event		Place	Points	Improv
Ka Yan Wong (1	10) M					
4:29.85S	F #101B	Male 10-10 200 IM	CWSL-LD	4		-8.87
1:02.42S	F # 204B	Male 10-10 50 Fly	CWSL-LD	10		
2:07.62S	F # 206B	Male 10-10 100 Free	CWSL-LD	11		
4:41.71S	F #302B	Male 10-10 200 Free	CWSL-LD	6		12.69
58.92S	F # 304B	Male 10-10 50 Back	CWSL-LD	11		-0.70
2:14.45S	F #306B	Male 10-10 100 IM	CWSL-LD	9		
53.03S	F # 403B	Male 10-10 50 Breast	CWSL-LD	1		
2:32.93S	F # 405B	Male 10-10 100 Fly	CWSL-LD	4		5.35
55.17S	F # 503B	Male 10-10 50 Free	CWSL-LD	15		
2:02.31S	F # 505B	Male 10-10 100 Breast	CWSL-LD	6		-9.76
2:08.00S	F # 603B	Male 10-10 100 Back	CWSL-LD	9		
Tsz Yan Otto Wo	ong (11) M					
47.47S	F # 204C	Male 11-11 50 Fly	CWSL-LD	7		
1:25.01S	F # 206C	Male 11-11 100 Free	CWSL-LD	5		-10.89
42.44S	F #304C	Male 11-11 50 Back	CWSL-LD	2		-2.44
1:35.87S	F #306C	Male 11-11 100 IM	CWSL-LD	4		-10.14
49.45S	F # 403C	Male 11-11 50 Breast	CWSL-LD	3		-2.54
3:17.47S	F # 501C	Male 11-11 200 Back	CWSL-LD	3		-3.95
37.72S	F #503C	Male 11-11 50 Free	CWSL-LD	5		-10.61
1:52.41S	F #505C	Male 11-11 100 Breast	CWSL-LD	4		-2.16
1:34.20\$	F # 603C	Male 11-11 100 Back	CWSL-LD	3		-9.20
Calder Wood (1	10) M					
50.55S	F # 304B	Male 10-10 50 Back	CWSL	8		
1:02.24S	F # 403B	Male 10-10 50 Breast	CWSL	9		
40.80S	F # 503B	Male 10-10 50 Free	CWSL	7		
Steven Woodroi	ffe (11) M					
42.95S	F # 503C	Male 11-11 50 Free	CWSL-LD	9		
Alexa Young (1	0) F					
47.95S	F # 203B	Female 10-10 50 Fly	CWSL-LD	5		
1:36.30\$	F # 205B	Female 10-10 100 Free	CWSL-LD	8		-20.09
46.04S	F #303B	Female 10-10 50 Back	CWSL-LD	5		-7.39
1:45.43S	F #305B	Female 10-10 100 IM	CWSL-LD	6		-14.59
3:31.13S	F #502B	Female 10-10 200 Back	CWSL-LD	3		
42.19S	F #504B	Female 10-10 50 Free	CWSL-LD	11		-7.03
1:59.21S	F #506B	Female 10-10 100 Breast	CWSL-LD	9		
1:42.32S	F # 604B	Female 10-10 100 Back	CWSL-LD	6		-14.99
Jinyou Yuan (8)) F					
4:29.36S DQ	F #102A	Female 9 & Under 200 IM	CWSL-LD			
49.64S	F #504A	Female 9 & Under 50 Free	CWSL-LD	8		
2:21.73S	F # 506A	Female 9 & Under 100 Breast	CWSL-LD	5		
1:54.46S	F #604A	Female 9 & Under 100 Back	CWSL-LD	3		